LETTER OF ACCEPTANCE

To,

Sri/Smt M/s.A.DOMINIC PAN: ABWPA8383R

Your e-Tender No WRD/KWA-CE(CR)/TR/7347/2022_5_3_2/1 dated 19-06-2023 for the Jal Jeevan Mission(JJM)-JJM CWSS to Marayoor and Kanthalloor Panchayths in Idukki District-Package II-Supply and laying clear water pumping mains, construction of sump cum pump house, construction of GLSR at various zone, supply and erection of pump sets, providing distribution system and providing FHTC to various zones- Marayoor and kanthalloor Panchayath (Pambar River Zone)-General Civil Work has been accepted for a quoted amount of Rs. 374357413/- (Rupees Thirty Seven Crore Forty Three Lakh Fifty Seven Thousand Four Hundred and Thirteen only) based on rates quoted for individual items which is mentioned in the accompanying schedule. You are directed to submit the stamp GRN ID/Stamp paper, Performance Guarantee and Additional Performance Guarantee as mentioned below and execute an agreement and start the work within a week after getting necessary instructions from the Executive Engineer(Project Division Kattapana). The time allowed for executing agreement without fine will be 14 (Fourteen) days from the date of issue of letter of acceptance and a further period of 10 (Ten)days time will be allowed to execute the agreement after realizing a fine of Rs. 25000/- (Twenty Five Thousand Only). This fine shall be remitted in favour of the Managing Director, Kerala Water Authority, Account No - STSB 701011400000181, District Treasury, Thiruvananthapuram through e-treasury payment gateway.

- 1. stamp paper required value RS. **100000/-** (**One Lakh Only**) shall be submitted to the Agreement Authority. (subject to govt orders)
- 2. Before executing the agreement, you should deposit a Performance Guarantee of 5% of contract value, ie. Rs. 18717871/- (Rupees One Crore Eighty Seven Lakh Seventeen Thousand Eight Hundred and Seventy One only) and should be submitted within 14 (Fourteen) days of receipt of this LOA (Letter of Acceptance) as below.
- a) At least **Fifty** (50%) of Performance Guarantee shall be in the form of Treasury Fixed Deposit in the name of Agreement Authority for a period not less than 28 (twenty eight) days after the completion of defect liability period.
- b) Balance Performance Guarantee shall be in the form of bank guarantee. Bank Guarantee is to be submitted in the format prescribed by the Employer in the bid document. Bank Guarantee shall be unconditional and it shall be from any Nationalized/ Scheduled Bank/ Kerala Financial Corporation/ District Co-operative Banks, Primary Co-operative Banks, Urban Co-operative Banks or any other forms prescribed in the revised PWD Manual to be submitted before executing agreement and shall be valid till 28 (twenty eight) days after the completion of defect liability of the Work, inapproved format. The Bank Guarantee on instalment basis with lesser period of validity shall not be accepted.
- 3. An Additional Performance Guarantee of Rs. **545389/- (Rupees Five Lakh Forty Five Thousand Three Hundred and Eighty Nine only)** shall be also deposited for unbalanced price in addition to the normal Performance Guarantee in the following form and it should be to be submitted before executing agreement.
- a) At least Fifty percent (50%) of Additional Performance Guarantee shall be in the form of Treasury Fixed Deposit in the name of Agreement Authority for a period not less than 28 (twenty eight) days after the completion of the work.
- b) Balance Additional Performance Guarantee Treasury shall be in the form of bank guarantee. Bank Guarantee is to be submitted in the format prescribed by the Employer in the bid document. Bank Guarantee shall be unconditional and it shall be from any Nationalized/ Scheduled Bank/ Kerala Financial Corporation/ District Co-operative Banks, Primary Co-operative Banks, Urban Co-operative Banks or any other forms prescribed in the revised PWD Manual and shall be valid till 28(twenty eight) days after the completion of the Work, in approved format. The Bank Guarantee on instalment basis with lesser period of validity shall not be accepted.



- a) Full amount of additional performance guarantee shall be accepted in case of guarantees issued by Kerala Financial Corporation
- 4. In addition to Performance Guarantee and Additional Performance Guarantee, Performance Security Deposit at the rate 2.5% of Bill amount will be deducted from running bills.
- 5. Solicitor's fee, if any, to be paid to the Law Officers of Government for scrutinising or drawing up of agreements- will be paid and the same recovered from the successful bidder.
- 6. You are requested to take an Insurance cover for this work for an amount of Rs. **500000** /- (**Rupees Five Lakh only**) and submit the same within 15 days of Start of work subjected to the provisions provided in the Bid Document. 0.2% of the Contract Amount will be deducted in the event of failure to submit the Insurance to the concerned Authorities as noted above. (The value shall be generally 0.5% of the Contract Value subject to a minimum of Rs. 2.00 lakh and maximum of Rs. 5.00 lakh.).
- 7. Engineering personnel in addition to other supporting staff as detailed below for tenure of the contract for works supervision shall be employed.

Works Manager- 1no.(Civil Engineering Graduate with minimum 5 years experience), Site Engineers- 3 nos (2 nos for supervision and 1 no for Quality Control) - (Civil Engineering graduate with minimum 3 years experience), Supervisor- 4 nos (Civil Engineering Diploma holder with minimum 2 year experience) and Supervisor (Mechanical) (if required) - 1 no (Mechanical Engineering Diploma holder with minimum 2 year experience)

- 8. The Contractor shall enter into a Contract Agreement with the Agreement Authority within 14 Fourteen workingdays from the date of 'Acceptance of Tender' or within such extended time as may be granted by the Agreement Authority. The date of despatch of Letter of Acceptance through Contractors Portal shall be the date of Acceptance of Tender.
- 9. In the eventuality of failure to produce the original documents, or submit the performance security, or enter into agreement with the Agreement Authority within the specified time limit, the Bidder shall be debarred in future from participating in all Government Bids for three years and will be recommended for blacklisting by the competent authority. In such cases, the Government may rearrange the work otherwise or get it done departmentally at the risk andthe cost of the Bidder and the loss so sustained by the Government can be realized from the Bidder under the Revenue recovery Act or otherwise the Government may decide.
- 10. The work should be completed in all respects within 1 year from the date of handing over the site.
- 11. Defect Liability period will be 2 years
- 12. The payment to the contractor for the two exorbitantly high quoted items viz. 2.012 and 2.060 shall be released only with the final bill of the work, in the interest of the Authority.
- 13. All the details mentioned above shall be submitted to the Agreement Authority within 14 (fourteen) days from the date of 'Acceptance of Tender' or within such extended time as may be granted by the Agreement Authority.
- 14. All the terms and conditions of the Notice Inviting tenders and tender shall be binding on the Contractor.

Pradeep V.K.(G14136) Superintending Engineer



ACCEPTED SCHEDULE

Name of Work: Jal Jeevan Mission (JJM)-JJM CWSS to Marayoor and Kanthalloor Panchayths in Idukki District-Package II-Supply and laying clear water pumping mains, construction of sump cum pump house, construction of GLSR at various zone, supply and erection of pump sets, providing distribution system and providing FHTC to various zones- Marayoor and kanthalloor Panchayath (Pambar River Zone)-General Civil Work (DSR 2018 with Cost Index 141.53)

Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
1	Con. of 1.5 LL capacity sump	cum pump l	house at	Karshanad Missi	on Vayal Boostei	r -1
1.001	2.32 - Clearing grass and removal of the rubbish up to a distance of 50 m outside the periphery of the area cleared.	135.000	sqm	8.00	1080.00	Rupees One Thousand Zero Eighty Zero Only
1.002	2.6.1 - Earth work in excavation by mechanical means (Hydraulic excavator)/manual means over areas (exceeding 30 cm in depth, 1.5 m in width as well as 10 sqm on plan) including disposal of excavated earth, lead up to 50 m and lift up to 1.5 m, disposed earth to be levelled and neatly dressed. All kinds of soil	F	cum	245.00	23373.00	Rupees Twenty Three Thousand Three Hundred Seventy Three Only
1.003	2.8.1 - Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5 m in width or 10 sqm on plan), including dressing of sides and ramming of bottoms, lift up to 1.5 m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50 m.All kinds of soil		cum	340.00	15101.10	Rupees Fifteen Thousand One Hundred One And Ten paise Only
1.004	7.1.1 - Random rubble masonry with hard stone in foundation and plinth including levelling up with cement concrete 1:6:12 (1 cement: 6 coarse sand: 12 graded stone aggregate 20 mm nominal size) up to plinth level with:Cement mortar 1:6 (1 cement: 6 coarse sand)		cum	8200.00	338988.00	Rupees Three Lakh Thirty Eight Thousand Nine Hundred Eighty Eight Only
1.005	4.1.3 - Providing and laying in position cement concrete of	18.660	cum	9100.00	169806.00	Rupees One Lakh Sixty Nine



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	specified grade excluding the cost of centering and shuttering - All work up to plinth level:1:2:4 (cement: 2 coarse sand (zone-III): 4 graded stone aggregate 20 mm nominal size)					Thousand Eight Hundred Six Only
1.006	5.33.1 - Providing and laying in position machine batched and machine mixed design mix M-25 grade cement concrete for reinforced cement concrete work, using cement content as per approved design mix, including pumping of concrete to site of laying but excluding the cost of centering, shuttering, finishing and reinforcement, including admixtures in recommended proportions as per IS: 9103 to accelerate, retard setting of concrete, improve workability without impairing strength and durability as per direction of Engineer - in-charge. Note:-Cement content considered in this item is @ 330 kg/ cum. Excess or less cement used as per design mix is payable or recoverable separately. All work upto plinth level		cum		284735.25	Rupees Two Lakh Eighty Four Thousand Seven Hundred Thirty Five And Twenty Five paise Only
1.007	5.33.2 - Providing and laying in position machine batched and machine mixed design mix M-25 grade cement concrete for reinforced cement concrete work, using cement content as per approved design mix, including pumping of concrete to site of laying but excluding the cost of centering, shuttering, finishing and reinforcement, including admixtures in recommended proportions as per IS: 9103 to accelerate, retard setting of concrete, improve workability without impairing strength and durability as per direction of Engineer - in-charge. Note:-Cement content considered in this item is @ 330 kg/ cum. Excess or less cement used as per design mix is payable or recoverable separately. All work above plinth level upto		cum	12600.00	703546.20	Rupees Seven Lakh Three Thousand Five Hundred Forty Six And Twenty Zero paise Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	floor V level					
1.008	5.34.1 - Extra for providing richer mixes at all floor levels. Note:- Excess/less cement over the specified cement content used is payable/ recoverable separately.Providing M-30 grade concrete instead of M-25 grade BMC/RMC. (Note:-Cement content considered in M-30 is @ 340 kg/cum).	46.724	cum	94.00		Rupees Four Thousand Three Hundred Ninety Two And Six paise Only
1.009	5.9.1 - Centering and shuttering including strutting, etc. and removal of form for:Foundations, footings, bases of columns, etc for mass concrete	46.290	sqm	385.00	17821.65	Rupees Seventeen Thousand Eight Hundred Twenty One And Sixty Five paise Only
1.010	5.9.2 - Centering and shuttering including strutting, etc. and removal of form for:Walls (any thickness) including attached pilasters, butteresses, plinth and string courses etc.	259.200	sqm	820.00	212544.00	Rupees Two Lakh Twelve Thousand Five Hundred Forty Four Only
1.011	5.9.3 - Centering and shuttering including strutting, etc. and removal of form for:Suspended floors, roofs, landings, balconies and access platform	118.528	sqm	930.00	110231.04	Rupees One Lakh Ten Thousand Two Hundred Thirty One And Four paise Only
1.012	5.9.5 - Centering and shuttering including strutting, etc. and removal of form for:Lintels, beams, plinth beams, girders bressumers and cantilevers	115.452	sqm	740.00	85434.48	Rupees Eighty Five Thousand Four Hundred Thirty Four And Forty Eight paise Only
1.013	5.9.6 - Centering and shuttering including strutting, etc. and removal of form for:Columns, Pillars, Piers, Abutments, Posts and Struts	45.720	sqm	990.00	45262.80	Rupees Forty Five Thousand Two Hundred Sixty Two And Eighty Zero paise Only
1.014	5.22.6 - Steel reinforcement for R.C.C work including straightening, cutting, bending, placing in position and binding all complete upto plinth levelThermo - Mechanically Treated bars of grade Fe-500D or more	9887.280	kilogra m	112.00	1107375.36	Rupees Eleven Lakh Seven Thousand Three Hundred Seventy Five And Thirty Six paise Only
1.015	50.6.1.2 - Solid block masonry using pre cast solid blocks (Factory made) of size 40x20x20cm or nearest available size confirming to IS 2185 part I of 1979 for	26.084	cum	7300.00	190413.20	Rupees One Lakh Ninety Zero Thousand Four Hundred Thirteen And Twenty Zero



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	super structure up to floor two level thickness 20cm and above in: CM 1:6 (1 cement: 6 coarse sand) etc complete.					paise Only
1.016	50.6.3.2 - Solid block masonry using pre cast solid blocks (Factory made) of size 40x20x10 cm or nearest available size confirming to IS 2185 part I of 1979 for super structure up to floor two level for 10 cm thick wall in: CM 1:6 (1 cement: 6 coarse sand) including cost of scaffolding complete	4.019	cum	8800.00	35367.20	Rupees Thirty Five Thousand Three Hundred Sixty Seven And Twenty Zero paise Only
1.017	13.1.1 - 12 mm cement plaster of mix:1:4 (1 cement : 4 fine sand)	1020.704	sqm	360.00	367453.44	Rupees Three Lakh Sixty Seven Thousand Four Hundred Fifty Three And Forty Four paise Only
1.018	50.9.1.1 - Providing wood work in frames of doors, windows, clerestory windows and other frames, wrought framed and fixed in position with hold fast lugs or with dash fasteners of required dia & length (hold fast lugs or dash fastener shall be paid for separately), using good quality Anjili wood /jack wood	0.224	cum	12200.00	2732.80	Rupees Two Thousand Seven Hundred Thirty Two And Eighty Zero paise Only
1.019	50.9.5.1 - Providing and fixing glazed shutters for doors, windows and clerestory windows using 4 mm thick float glass panes including ISI marked M.S pressed butt hinges bright finished of required size with necessary screws. Using Anjili wood/ jack wood 35 mm thick shutters.	5.828	sqm	4400.00	25643.20	Rupees Twenty Five Thousand Six Hundred Forty Three And Twenty Zero paise Only
1.020	22.23.1 - Providing and applying integral crystalline slurry of hydrophilic in nature for waterproofing treatment to the RCC structures like retaining walls of the basement, water tanks, roof slabs, podiums, reservior, sewage & water treatment plant, tunnels / subway and bridge deck etc., prepared by mixing in the ratio of 5:2 (5 parts	130.284	sqm	645.00	84033.18	Rupees Eighty Four Thousand Zero Thirty Three And Eighteen paise Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
1.021	integral crystalline slurry: 2 parts water) for vertical surfaces and 3: 1 (3 parts integral crystalline slurry: 1 part water) for horizontal surfaces and applying the same from negative (internal) side with the help of synthetic fiber brush. The material shall meet the requirements as specified in ACI-212-3R-2010 i.e by reducing permeability of concrete by more than 90% compared with control concrete as per DIN 1048 and resistant to 16 bar hydrostatic pressure on negative side. The crystalline slurry shall be capable of self-healing of cracks up to a width of 0.50mm. The work shall be carried out all complete as per specification and the direction of the engineerinch arge. The product performance shall carry guarantee for 10 years against any leakage. For vertical surface two coats @0.70 kg per sqm 22.23.2 - Providing and applying integral crystalline slurry of hydrophilic in nature for waterproofing treatment to the RCC structures like retaining walls of the basement, water tanks, roof slabs, podiums, reservior, sewage & water treatment plant, tunnels / subway and bridge deck etc., prepared by mixing in the ratio of 5: 2 (5 parts integral crystalline slurry: 2 parts water) for vertical surfaces and 3: 1 (3 parts integral crystalline slurry: 1 part water) for horizontal surfaces and applying the same from negative (internal) side with the help of synthetic fiber brush. The material shall meet the requirements as specified in ACI-212-3R-2010 i.e by reducing permeability of concrete by more than 90% compared with control concrete as per DIN 1048 and resistant to 16 bar hydrostatic pressure on	49.500	sqm	500.00	24750.00	Rupees Twenty Four Thousand Seven Hundred Fifty Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	negative side. The crystalline slurry shall be capable of self-healing of cracks up to a width of 0.50mm. The work shall be carried out all complete as per specification and the direction of the engineerincharge. The product performance shall carry guarantee for 10 years against any leakage. For horizontal surface one coat @1.10 kg per sqm.					
1.022	13.43.1 - Applying one coat of water thinnable cement primer of approved brand and manufacture on wall surface: Water thinnable cement primer	456.120	sqm	80.00	36489.60	Rupees Thirty Six Thousand Four Hundred Eighty Nine And Sixty Zero paise Only
1.023	13.60.1 - Wall painting with acrylic emulsion paint of approved brand and manufacture to give an even shade: Two or more coats on new work	456.120	sqm	170.00	77540.40	Rupees Seventy Seven Thousand Five Hundred Forty Zero And Forty Zero paise Only
1.024	13.71 - Lettering with black Japan pint of approved brand and manufacture	3000.000	per Letter per cm height	6.00	18000.00	Rupees Eighteen Thousand Zero Zero Only
1.025	10.6.2 - Supplying and fixing rolling shutters of approved make, made of required size M.S. laths, interlocked together through their entire length and jointed together at the end by end locks, mounted on specially designed pipe shaft with brackets, side guides and arrangements for inside and outside locking with push and pull operation complete, including the cost of providing and fixing necessary 27.5 cm long wire springs manufactured from high tensile steel wire of adequate strength conforming to IS: 4454 - part 1 and M.S. top cover of required thickness for rolling shutters.80x1.20 mm M.S. laths with 1.20 mm thick top cover	7.500	sqm	3750.00	28125.00	Rupees Twenty Eight Thousand One Hundred Twenty Five Only
1.026	10.25.2 - Item Shifted to Sub head 14 as item 14.73 Item Shifted to head 14 as item 14.74	200.000	kg	177.00	35400.00	Rupees Thirty Five Thousand Four Hundred Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	Steel work welded in built up sections/framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required. In gratings, frames, guard bar, ladder, railings, brackets, gates and similar works					
1.027	18.31.3.2 - Providing and fixing C.I. sluice valves (with cap) complete with bolts, nuts, rubber insertion etc. (the tail pieces if required will be paid separately): 150 mm diameterClass II	1.000	no	8600.00	8600.00	Rupees Eight Thousand Six Hundred Zero Only
1.028	18.31.4.2 - Providing and fixing C.I. sluice valves (with cap) complete with bolts, nuts, rubber insertion etc. (the tail pieces if required will be paid separately): 200 mm diameterClass II	1.000	no	18000.00	18000.00	Rupees Eighteen Thousand Zero Zero Only
1.029	18.26.1 - Providing and laying flanged C.I. Standard specials such as tees, bends, collars, tapers, caps etc., suitable for flanged jointing as per IS: 1538: Upto 300 mm dia	1.093	CERTAIN		11476.50	Rupees Eleven Thousand Four Hundred Seventy Six And Fifty Zero paise Only
1.030	13.48.2 - Finishing with Deluxe Multi surface paint system for interiors and exteriors using primer as per m a n u f a c t u r e r s specifications:Painting wood work with Deluxe Multi Surface Paint of required shade. Two or more coat applied @ 0.90 ltr/10 sqm over an under coat of primer applied @ 0.75 ltr/10 sqm of approved brand and manufacture	6.660	sqm	175.00	1165.50	Rupees One Thousand One Hundred Sixty Five And Fifty Zero paise Only
1.031	13.48.3 - Finishing with Deluxe Multi surface paint system for interiors and exteriors using primer as per m a n u f a c t u r e r s specifications:Painting Steel work with Deluxe Multi Surface Paint to give an even shade. Two or more coat applied @ 0.90 ltr/10 sqm over an under coat of primer applied @ 0.80 ltr/10 sqm of approved brand and	22.500	sqm	160.00	3600.00	Rupees Three Thousand Six Hundred Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	manufacture					
1.032	100.36.1 - Filling water with 5000 litre tankers fited in lorry and conveying water from a distance of 5 km (average) to the reservoir site and pumping the water into the reservoir of height not less than 3 m using 5 HP diesel engine pump set, hire for tanker lorry, tools and other appliences and cost of water etc. complete.	150.000	Kilo litre	205.00	30750.00	Rupees Thirty Zero Thousand Seven Hundred Fifty Zero Only
1.033	OD124039/2022-2023 - Supplying and providing water level indicator to the tank using scale fabricated out of 2 mm thick MS plate with in the frame work of suitable size MS square tube 160 mm pvc pipes for guiding the f;loat necessary pulleys suitable nylon thread for connecting the float and level indicator painting, the entire structure and lettering	1.000	1 nos	11500.00	11500.00	Rupees Eleven Thousand Five Hundred Zero Only
	including the charges of material and labour	6PU	CEPORIM	FOR THE MANA	DEMENT	
1.034	OD124040/2022-2023 - Supply and Fitting 100 mm CI Air Vent cowl	2.000	no	2800.00	5600.00	Rupees Five Thousand Six Hundred Zero Only
1.035	100.41.34 - Supplying and fixing Rectangular C.I. manhole cover 455mm x 610mm with frame (low duty) charges including all cost, labour charges etc., complete.	2.000	no	3200.00	6400.00	Rupees Six Thousand Four Hundred Zero Only
1.036	11.36 - Providing and fixing I st quality ceramic glazed wall tiles conforming to IS: 15622 (thickness to be specified by the manufacturer), of approved make, in all colours, shades except burgundy, bottle green, black of any size as approved by Engineer -in-Charge, in skirting, risers of steps and dados, over 12 mm thick bed of cement mortar 1:3 (1 cement: 3 coarse sand) and jointing with grey cement slurry @ 3.3 kg per sqm, including pointing in white cement mixed with pigment of matching shade complete.	9.300	sqm	1375.00	12787.50	Rupees Twelve Thousand Seven Hundred Eighty Seven And Fifty Zero paise Only
1.037	11.38 - Providing and laying Ceramic glazed floor tiles of	1.800	sqm	1340.00	2412.00	Rupees Two Thousand Four



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	size 300x300 mm (thickness to be specified by the manufacturer), of Ist quality conforming to IS: 15622, of approved make, in all colours, shades, except White, Ivory, Grey, Fume Red Brown, laid on 20 mm thick bed of cement mortar 1:4 (1 cement: 4 Coarse sand), including pointing the joints with white cement and matching pigments etc., complete.					Hundred Twelve Only
1.038	50.17.1.1 - Supplying and fixing Stainless steel soap dish including cost of materials and labour charges etc complete as per the direction of site Engineer-incharge.	1.000	no	72.00	72.00	Rupees Seventy Two Only
1.039	50.18.7.4.1 - Providing and fixing PVC pipes, fittings including fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & DVC solvent cement and testing of joints complete as per direction of Engineer-in-Charge 32 mm dia 10Kgf/cm2- Internal work - Exposed on wall	30.000	metre	360.00	10800.00	Rupees Ten Thousand Eight Hundred Zero Only
1.040	50.18.7.5.1 - Providing and fixing PVC pipes, fittings including fixing the pipe with clamps at 1.00m spacing. This includes jointing of pipes & DVC solvent cement and testing of joints complete as per direction of Engineer-in-Charge 40 mm dia 10 Kgf/cm2- Internal work-exposed on wall	10.000	metre	460.00	4600.00	Rupees Four Thousand Six Hundred Zero Only
1.041	50.18.8.1.2 - Providing and fixing PVC pipes, fittings including fixing the pipe with clamps at 1.00 spacing. This includes jointing of pipes & amp; fittings with one step PVC solvent cement and testing of joints complete as per direction of Engineer-in-Charge Concealed work, including cutting chases and making good the wall etc. 15 mm pipe 10kgf/cm2	12.000	metre	440.00	5280.00	Rupees Five Thousand Two Hundred Eighty Zero Only
1.042	50.18.9.7.1 - Providing and fixing PVC pipes includings	30.000	metre	390.00	11700.00	Rupees Eleven Thousand



CLN		NI OI	TT 14	4 1 D 4	TOTAL	TOTAL
Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	of pipes with one step PVC solvent cement, trenching refilling & Diport testing of joints complete as per direction of Engineer in Charge. 63 mm dia 6Kgf/cm2					Seven Hundred Zero Only
1.043	50.18.9.9.1 - Providing and fixing PVC pipes includings jointing of pipes with one step PVC solvent cement, trenching, refilling & Dints complete as per direction of engineer in charge.110 mm dia 6Kgf/cm2	30.000	metre	585.00	17550.00	Rupees Seventeen Thousand Five Hundred Fifty Zero Only
1.044	17.2.1 - Providing and fixing white vitreous china pedestal type water closet (European type W.C. pan) with seat and lid, 10 litre low level white P.V.C. flushing cistern, including flush pipe, with manually controlled device (handle lever), conforming to IS: 7231, with all fittings and fixtures complete, including cutting and making good the walls and floors wherever required:W.C. pan with ISI marked white solid plastic seat and lid	1.000	each	7000.00	7000.00	Rupees Seven Thousand Zero Zero Only
1.045	17.7.11 - Providing and fixing wash basin with C.I. brackets, 15 mm C.P. brass pillar taps, 32 mm C.P. brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the walls wherever require:Stainless Steel AISI - 304 (18/8) Wash basin 530 x 345 mm with single 15mm C.P. brass pillar tap	1.000	each	5900.00	5900.00	Rupees Five Thousand Nine Hundred Zero Only
1.046	17.28.2.1 - Flexible pipe32 mm dia	2.000	each	135.00	270.00	Rupees Two Hundred Seventy Zero Only
1.047	17.60.1.1 - Providing and fixing trap of self cleansing design with screwed down or hinged grating without vent arm complete, including cost of cutting and making good the walls and floors: 100 mm inlet and 100 mm outletSand cast iron S & amp; S as per IS: 3989	3.000	each	2000.00	6000.00	Rupees Six Thousand Zero Zero Only
1.048	18.57.1 - Providing and fixing PTMT, push cock of approved quality and	2.000	each	140.00	280.00	Rupees Two Hundred Eighty Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	colour.15 mm nominal bore, 98 mm long, weighing not less than 75 gms					
1.049	50.18.9.20.4 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes, including jointing with PVC solvent cement - 63 mm dia Bend	4.000	no	89.00	356.00	Rupees Three Hundred Fifty Six Only
1.050	50.18.9.20.5 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes including jointing with PVC solvent cement - 63x63x63 mm dia Tee	3.000	no	95.00	285.00	Rupees Two Hundred Eighty Five Only
1.051	50.18.9.22.1 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes, including jointing with PVC solvent cement - 110 mm dia Elbow	4.000	no	120.00	480.00	Rupees Four Hundred Eighty Zero Only
1.052	50.18.9.22.4 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes, including jointing with PVC solvent cement- 110 mm dia Bend	4.000	no	175.00	700.00	Rupees Seven Hundred Zero Only
1.053	50.18.9.22.5 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes including jointing with PVC solvent cement 110x110x110 mm dia Tee	3.000	no	185.00	555.00	Rupees Five Hundred Fifty Five Only
1.054	50.18.9.22.8 - Providing and fixing PVC moulded fittings /accessories for Rigid PVC pipes, including jointing with PVC solvent cement -110 mm dia Vent cowl	1.000	no	135.00	135.00	Rupees One Hundred Thirty Five Only
1.055	50.18.9.20.7 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes, including jointing with PVC solvent cement - 63 mm dia vent cowl	1.000	no	85.00	85.00	Rupees Eighty Five Only
1.056	50.18.9.21.7 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes, including jointing with PVC solvent cement - 75 mm dia Vent cowl	1.000	no	95.00	95.00	Rupees Ninety Five Only
1.057	50.18.9.22.11 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes, including jointing with PVC solvent cement - 110 mm dia Socket/ coupling	4.000	no	170.00	680.00	Rupees Six Hundred Eighty Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
1.058	9.117.2 - Providing and fixing factory made uPVC door frame made of uPVC extruded sections having an overall dimension as below (tolerance ±1 mm), with wall thickness 2.0mm (±0.2 mm), corners of the door frame to be jointed with galvanized brackets and stainless steel screws, joints mitred and plastic welded. The hinge side vertical of the frames reinforced by galvanized M.S. tube of size 19 x 19 mm and 1 mm (± 0.1 mm) wall thickness and 3 nos. stainless steel hinges fixed to the frame complete as per manufaction and direction of Engineer-in-chargeExtruded section profile size 42x50 mm	6.000	metre	350.00	2100.00	Rupees Two Thousand One Hundred Zero Only
1.059	9.120.1 - Providing and fixing factory made panel PVC door shutter consisting of frame made out of M.S. tubes of 19 gauge thickness and sized of 19 mm x 19 mm for styles and 15x15 mm for top & amp; bottom rails. M.S. frame shall have a coat of steel primers of a pproved make and manufacture. M.S. frame covered with 5 mm thick heat moulded PVC 'C' channel of size 30 mm thickness, 70 mm width out of whicj 50 mm shall be flat and 20 mm shall be tapered in 45 degree angle on both side forming styles and 5 mm thick, 95 mm wide PVC sheet out of which75 mm shall be tapered in 45 degree on thinner side to form top and bottom rail and 115 mm wide PVC sheet out of which 75 mm shall be flat and 20 mm shall be tapered on both sides to form lock rail. Top, bottom and lock rails shall be provided both side of the panel. 10 mm (5 mmx2) thick, 20 mm wide cross PVC sheet be provided as gap insert for top rail & amp; bottom rail. paneling of 5 mm thick both side PVC sheet to be fitted in the M.S. frame welded /sealed	1.680	sqm	3200.00	5376.00	Rupees Five Thousand Three Hundred Seventy Six Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	to the styles & Department to the styles & Department to the styles and provided the styles and provided together with solvent cement adhesive. An additional 5 mm thick PVC strip of 20 mm width is to be stuck on the interior side of the 'C' Channel using PVC solvent adhesive etc. complete as per direction of Engineer -in-charge, manufacture & #39; specification & Department of the styles and provided th					
1.060	OD157535/2022-2023 - Supply and erection of concrete Septic tank	1.000	no	15000.00	15000.00	Rupees Fifteen Thousand Zero Zero Only
1.061	OD157534/2022-2023 - Supply and fixing of 500 liter PVC tank	500.000	Litre	6.50	3250.00	Rupees Three Thousand Two Hundred Fifty Zero Only
1.062	OD158225/2022-2023 - Submitting application to KSEBLfor power connection and power extension including preparation of drawing obtaining approval for drawings arranging inspection and obtaining power connection(necessary statutory fee will be paid by KWA)	1.000	L.S	3000.00	3000.00	Rupees Three Thousand Zero Zero Only
2	Construction of 0.8LL capac	city Sump cur	n pump	house at Eecham	petti	
2.001	2.6.1 - Earth work in excavation by mechanical means (Hydraulic excavator)/manual means over areas (exceeding 30 cm in depth, 1.5 m in width as well as 10 sqm on plan) including disposal of excavated earth, lead up to 50 m and lift up to 1.5 m, disposed earth to be levelled and neatly dressed. All kinds of soil		cum	245.00	5145.00	Rupees Five Thousand One Hundred Forty Five Only
2.002	2.8.1 - Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5 m in width or 10 sqm on plan), including dressing of sides and ramming of bottoms, lift up to 1.5 m, including getting out		cum	340.00	8950.50	Rupees Eight Thousand Nine Hundred Fifty Zero And Fifty Zero paise Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50 m.All kinds of soil					
2.003	7.1.1 - Random rubble masonry with hard stone in foundation and plinth including levelling up with cement concrete 1:6:12 (1 cement: 6 coarse sand: 12 graded stone aggregate 20 mm nominal size) up to plinth level with:Cement mortar 1:6 (1 cement: 6 coarse sand)	27.075	cum	8250.00	223368.75	Rupees Two Lakh Twenty Three Thousand Three Hundred Sixty Eight And Seventy Five paise Only
2.004	4.1.3 - Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level:1:2:4 (cement: 2 coarse sand (zone-III): 4 graded stone aggregate 20 mm nominal size)	13.223	cum	9200.00	121651.60	Rupees One Lakh Twenty One Thousand Six Hundred Fifty One And Sixty Zero paise Only
2.005	5.33.1 - Providing and laying in position machine batched and machine mixed design mix M-25 grade cement concrete for reinforced cement concrete work, using cement content as per approved design mix, including pumping of concrete to site of laying but excluding the cost of centering, shuttering, finishing and reinforcement, including admixtures in recommended proportions as per IS: 9103 to accelerate, retard setting of concrete, improve workability without impairing strength and durability as per direction of Engineer - in-charge. Note:-Cement content considered in this item is @ 330 kg/ cum. Excess or less cement used as per design mix is payable or recoverable separately. All work upto plinth level	20.177	cum	10750.00	216902.75	Rupees Two Lakh Sixteen Thousand Nine Hundred Two And Seventy Five paise Only
2.006	5.33.2 - Providing and laying in position machine batched and machine mixed design mix M-25 grade cement concrete for reinforced cement concrete work, using cement content as per approved design mix, including pumping of concrete to site of laying but	38.969	cum	12700.00	494906.30	Rupees Four Lakh Ninety Four Thousand Nine Hundred Six And Thirty Zero paise Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	excluding the cost of centering, shuttering, finishing and reinforcement, including admixtures in recommended proportions as per IS: 9103 to accelerate, retard setting of concrete, improve workability without impairing strength and durability as per direction of Engineer - in-charge. Note:-Cement content considered in this item is @ 330 kg/ cum. Excess or less cement used as per design mix is payable or recoverable separately.All work above plinth level upto floor V level					
2.007	5.34.1 - Extra for providing richer mixes at all floor levels. Note:- Excess/less cement over the specified cement content used is payable/ recoverable separately. Providing M-30 grade concrete instead of M-25 grade BMC/RMC. (Note:-Cement content considered in M-30 is @ 340 kg/cum).	33.222	cum	90.00	2989.98	Rupees Two Thousand Nine Hundred Eighty Nine And Ninety Eight paise Only
2.008	5.9.1 - Centering and shuttering including strutting, etc. and removal of form for:Foundations, footings, bases of columns, etc for mass concrete	47.960	sqm	385.00	18464.60	Rupees Eighteen Thousand Four Hundred Sixty Four And Sixty Zero paise Only
2.009	5.9.2 - Centering and shuttering including strutting, etc. and removal of form for:Walls (any thickness) including attached pilasters, butteresses, plinth and string courses etc.	168.000	sqm	810.00	136080.00	Rupees One Lakh Thirty Six Thousand Zero Eighty Zero Only
2.010	5.9.3 - Centering and shuttering including strutting, etc. and removal of form for:Suspended floors, roofs, landings, balconies and access platform	99.014	sqm	935.00	92578.09	Rupees Ninety Two Thousand Five Hundred Seventy Eight And Nine paise Only
2.011	5.9.5 - Centering and shuttering including strutting, etc. and removal of form for:Lintels, beams, plinth beams, girders bressumers and cantilevers	77.544	sqm	725.00	56219.40	Rupees Fifty Six Thousand Two Hundred Nineteen And Forty Zero paise Only
2.012	5.9.6 - Centering and shuttering including strutting, etc. and removal of form for:Columns, Pillars, Piers, Abutments, Posts and Struts	30.828	sqm	9900.00	305197.20	Rupees Three Lakh Five Thousand One Hundred Ninety Seven And



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
						Twenty Zero paise Only
2.013	5.22.6 - Steel reinforcement for R.C.C work including straightening, cutting, bending, placing in position and binding all complete upto plinth levelThermo - Mechanically Treated bars of grade Fe-500D or more	7097.520	kilogra m	117.00	830409.84	Rupees Eight Lakh Thirty Zero Thousand Four Hundred Nine And Eighty Four paise Only
2.014	50.6.1.2 - Solid block masonry using pre cast solid blocks (Factory made) of size $40x20x20cm$ or nearest available size confirming to IS 2185 part I of 1979 for super structure up to floor two level thickness 20cm and above in: CM 1:6 (1 cement: 6 coarse sand) etc complete.	23.760	cum	7350.00	174636.00	Rupees One Lakh Seventy Four Thousand Six Hundred Thirty Six Only
2.015	50.6.3.2 - Solid block masonry using pre cast solid blocks (Factory made) of size 40x20x10 cm or nearest available size confirming to IS 2185 part I of 1979 for super structure up to floor two level for 10 cm thick wall in: CM 1:6 (1 cement: 6 coarse sand) including cost of scaffolding complete	3.704	cum	8800.00	32595.20	Rupees Thirty Two Thousand Five Hundred Ninety Five And Twenty Zero paise Only
2.016	50.9.1.1 - Providing wood work in frames of doors, windows, clerestory windows and other frames, wrought framed and fixed in position with hold fast lugs or with dash fasteners of required dia & Description with the description with the description with hold fast lugs or with dash fasteners of required dia & Description with hold fast lugs or dash fastener shall be paid for separately), using good quality Anjili wood /jack wood	0.156	cum	13000.00	2028.00	Rupees Two Thousand Zero Twenty Eight Only
2.017	50.9.5.1 - Providing and fixing glazed shutters for doors, windows and clerestory windows using 4 mm thick float glass panes including ISI marked M.S pressed butt hinges bright finished of required size with necessary screws. Using Anjili wood/ jack wood 35 mm thick shutters.	4.005	sqm	4400.00	17622.00	Rupees Seventeen Thousand Six Hundred Twenty Two Only
2.018	22.23.1 - Providing and applying integral crystalline slurry of hydrophilic in nature for waterproofing treatment to the	80.000	sqm	650.00	52000.00	Rupees Fifty Two Thousand Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	RCC structures like retaining walls of the basement, water tanks, roof slabs, podiums, reservior, sewage & Division and the direction of the engineering charge. The product performance shall carry guarantee for 10 years against any leakage. For vertical surface.		CTFORM WILLEW	MORTHE MANA	E DEMENT	
2.019	22.23.2 - Providing and applying integral crystalline slurry of hydrophilic in nature for waterproofing treatment to the RCC structures like retaining walls of the basement, water tanks, roof slabs, podiums, reservior, sewage & Damp; water treatment plant, tunnels / subway and bridge deck etc., prepared by mixing in the ratio of 5:2 (5 parts integral crystalline slurry: 2 parts water) for vertical surfaces and 3:1 (3 parts integral crystalline slurry: 1 part water) for horizontal surfaces and applying the same from negative (internal)		sqm	500.00	12000.00	Rupees Twelve Thousand Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	side with the help of synthetic fiber brush. The material shall meet the requirements as specified in ACI-212-3R-2010 i.e by reducing permeability of concrete by more than 90% compared with control concrete as per DIN 1048 and resistant to 16 bar hydrostatic pressure on negative side. The crystalline slurry shall be capable of self-healing of cracks up to a width of 0.50mm. The work shall be carried out all complete as per specification and the direction of the engineerinch arge. The product performance shall carry guarantee for 10 years against any leakage. For horizontal surface one coat @1.10 kg per sqm.					
2.020	13.1.1 - 12 mm cement plaster of mix:1:4 (1 cement : 4 fine sand)	852.975	sqm	350.00	298541.25	Rupees Two Lakh Ninety Eight Thousand Five Hundred Forty One And Twenty Five paise Only
2.021	13.43.1 - Applying one coat of water thinnable cement primer of approved brand and manufacture on wall surface: Water thinnable cement primer	755.571	sqm	80.00	60445.68	Rupees Sixty Zero Thousand Four Hundred Forty Five And Sixty Eight paise Only
2.022	13.60.1 - Wall painting with acrylic emulsion paint of approved brand and manufacture to give an even shade: Two or more coats on new work		sqm	165.00	124669.22	Rupees One Lakh Twenty Four Thousand Six Hundred Sixty Nine And Twenty Two paise Only
2.023	13.48.2 - Finishing with Deluxe Multi surface paint system for interiors and exteriors using primer as per m a n u f a c t u r e r s specifications: Painting wood work with Deluxe Multi Surface Paint of required shade. Two or more coat applied @ 0.90 ltr/10 sqm over an under coat of primer applied @ 0.75 ltr/10 sqm of approved brand and manufacture		sqm	175.00	798.00	Rupees Seven Hundred Ninety Eight Only
2.024	13.48.3 - Finishing with	22.500	sqm	170.00	3825.00	Rupees Three



Sl No		No. or Qty.	Unit	Accepted Rate	TOTAL	TOTAL
SI NO	Description of work	No. or Qty.	Omt	Accepted Kate	AMOUNT	AMOUNT in words
	Deluxe Multi surface paint system for interiors and exteriors using primer as per m a n u f a c t u r e r s specifications:Painting Steel work with Deluxe Multi Surface Paint to give an even shade. Two or more coat applied @ 0.90 ltr/10 sqm over an under coat of primer applied @ 0.80 ltr/10 sqm of approved brand and manufacture					Thousand Eight Hundred Twenty Five Only
2.025	13.71 - Lettering with black Japan pint of approved brand and manufacture	3000.000	per Letter per cm height	6.00	18000.00	Rupees Eighteen Thousand Zero Zero Only
2.026	10.6.2 - Supplying and fixing rolling shutters of approved make, made of required size M.S. laths, interlocked together through their entire length and jointed together at the end by end locks, mounted on specially designed pipe shaft with brackets, side guides and arrangements for inside and outside locking with push and pull operation complete, including the cost of providing and fixing necessary 27.5 cm long wire springs manufactured from high tensile steel wire of adequate strength conforming to IS: 4454 - part 1 and M.S. top cover of required thickness for rolling shutters.80x1.20 mm M.S. laths with 1.20 mm thick top cover	7.500	sqm	3750.00	E	Rupees Twenty Eight Thousand One Hundred Twenty Five Only
2.027	10.25.2 - Item Shifted to Sub head 14 as item 14.73 Item Shifted to head 14 as item 14.74 Steel work welded in built up sections/framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required. In gratings, frames, guard bar, ladder, railings, brackets, gates and similar works	200.000	kg	175.00	35000.00	Rupees Thirty Five Thousand Zero Zero Only
2.028	18.31.1.2 - Providing and fixing C.I. sluice valves (with cap) complete with bolts,	1.000	no	5900.00	5900.00	Rupees Five Thousand Nine Hundred Zero



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	nuts, rubber insertion etc. (the tail pieces if required will be paid separately): 100 mm diameterClass II					Only
2.029	18.31.3.2 - Providing and fixing C.I. sluice valves (with cap) complete with bolts, nuts, rubber insertion etc. (the tail pieces if required will be paid separately): 150 mm diameterClass II	1.000	no	8600.00	8600.00	Rupees Eight Thousand Six Hundred Zero Only
2.030	18.26.1 - Providing and laying flanged C.I. Standard specials such as tees, bends, collars, tapers, caps etc., suitable for flanged jointing as per IS: 1538: Upto 300 mm dia	1.290	quintal	1050.00	1354.50	Rupees One Thousand Three Hundred Fifty Four And Fifty Zero paise Only
2.031	100.36.1 - Filling water with 5000 litre tankers fited in lorry and conveying water from a distance of 5 km (average) to the reservoir site and pumping the water into the reservoir of height not less than 3 m using 5 HP diesel engine pump set, hire for tanker lorry, tools and other appliences and cost of water etc. complete.	80.000	Kilo litre	215.00	17200.00	Rupees Seventeen Thousand Two Hundred Zero Only
2.032	OD133452/2022-2023 - Supplying and providing water level indicator to the tank using scale fabricated out of 2 mm thick MS plate with in the frame work of suitable size MS square tube 160 mm pvc pipes for guiding the f;loat necessary pulleys suitable nylon thread for connecting the float and level indicator painting, the entire structure and lettering including the charges of material and labour	1.000	no	11500.00	11500.00	Rupees Eleven Thousand Five Hundred Zero Only
2.033	OD133454/2022-2023 - Supply and Fitting 100 mm CI Air Vent cowl	2.000	no	2850.00	5700.00	Rupees Five Thousand Seven Hundred Zero Only
2.034	100.41.34 - Supplying and fixing Rectangular C.I. manhole cover 455mm x 610mm with frame (low duty) charges including all cost, labour charges etc., complete.	2.000	no	3150.00	6300.00	Rupees Six Thousand Three Hundred Zero Only
2.035	11.36 - Providing and fixing I st quality ceramic glazed wall	9.300	sqm	1380.00	12834.00	Rupees Twelve Thousand Eight



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	tiles conforming to IS: 15622 (thickness to be specified by the manufacturer), of approved make, in all colours, shades except burgundy, bottle green, black of any size as approved by Engineer -in-Charge, in skirting, risers of steps and dados, over 12 mm thick bed of cement mortar 1:3 (1 cement: 3 coarse sand) and jointing with grey cement slurry @ 3.3 kg per sqm, including pointing in white cement mixed with pigment of matching shade complete.					Hundred Thirty Four Only
2.036	11.38 - Providing and laying Ceramic glazed floor tiles of size 300x300 mm (thickness to be specified by the manufacturer), of Ist quality conforming to IS: 15622, of approved make, in all colours, shades, except White, Ivory, Grey, Fume Red Brown, laid on 20 mm thick bed of cement mortar 1:4 (1 cement: 4 Coarse sand), including pointing the joints with white cement and matching pigments etc., complete.	1.800	sqm	1340.00	2412.00	Rupees Two Thousand Four Hundred Twelve Only
2.037	50.17.1.1 - Supplying and fixing Stainless steel soap dish including cost of materials and labour charges etc complete as per the direction of site Engineer-incharge.	1.000	no	70.00	70.00	Rupees Seventy Zero Only
2.038	50.18.7.4.1 - Providing and fixing PVC pipes, fittings including fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & DVC solvent cement and testing of joints complete as per direction of Engineer-in-Charge 32 mm dia 10Kgf/cm2- Internal work - Exposed on wall	30.000	metre	360.00	10800.00	Rupees Ten Thousand Eight Hundred Zero Only
2.039	50.18.7.5.1 - Providing and fixing PVC pipes, fittings including fixing the pipe with clamps at 1.00m spacing. This includes jointing of pipes & DVC solvent cement and testing of joints complete as per direction of Engineer-in-Charge 40 mm dia 10	10.000	metre	460.00	4600.00	Rupees Four Thousand Six Hundred Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	Kgf/cm2- Internal work- exposed on wall					
2.040	50.18.8.1.2 - Providing and fixing PVC pipes, fittings including fixing the pipe with clamps at 1.00 spacing. This includes jointing of pipes & DVC solvent cement and testing of joints complete as per direction of Engineer-in-Charge Concealed work, including cutting chases and making good the wall etc. 15 mm pipe 10kgf/cm2	12.000	metre	440.00	5280.00	Rupees Five Thousand Two Hundred Eighty Zero Only
2.041	50.18.9.7.1 - Providing and fixing PVC pipes includings of pipes with one step PVC solvent cement, trenching refilling & Digital amp; testing of joints complete as per direction of Engineer in Charge. 63 mm dia 6Kgf/cm2	30.000	metre	385.00	11550.00	Rupees Eleven Thousand Five Hundred Fifty Zero Only
2.042	50.18.9.9.1 - Providing and fixing PVC pipes includings jointing of pipes with one step PVC solvent cement, trenching, refilling & Dints complete as per direction of engineer in charge.110 mm dia 6Kgf/cm2	30.000	metre	575.00	17250.00	Rupees Seventeen Thousand Two Hundred Fifty Zero Only
2.043	17.2.1 - Providing and fixing white vitreous china pedestal type water closet (European type W.C. pan) with seat and lid, 10 litre low level white P.V.C. flushing cistern, including flush pipe, with manually controlled device (handle lever), conforming to IS: 7231, with all fittings and fixtures complete, including cutting and making good the walls and floors wherever required:W.C. pan with ISI marked white solid plastic seat and lid	1.000	each	7000.00	7000.00	Rupees Seven Thousand Zero Zero Only
2.044	17.7.11 - Providing and fixing wash basin with C.I. brackets, 15 mm C.P. brass pillar taps, 32 mm C.P. brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the walls wherever require:Stainless Steel AISI - 304 (18/8) Wash basin 530 x 345 mm with single 15mm C.P. brass pillar tap	1.000	each	6000.00	6000.00	Rupees Six Thousand Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
2.045	17.28.2.1 - Flexible pipe32 mm dia	2.000	each	135.00	270.00	Rupees Two Hundred Seventy Zero Only
2.046	17.60.1.1 - Providing and fixing trap of self cleansing design with screwed down or hinged grating without vent arm complete, including cost of cutting and making good the walls and floors: 100 mm inlet and 100 mm outletSand cast iron S & amp; S as per IS: 3989	3.000	each	2000.00	6000.00	Rupees Six Thousand Zero Zero Only
2.047	18.57.1 - Providing and fixing PTMT, push cock of approved quality and colour.15 mm nominal bore, 98 mm long, weighing not less than 75 gms	2.000	each	140.00	280.00	Rupees Two Hundred Eighty Zero Only
2.048	50.18.9.20.4 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes, including jointing with PVC solvent cement - 63 mm dia Bend	4.000	no	90.00	360.00	Rupees Three Hundred Sixty Zero Only
2.049	50.18.9.20.5 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes including jointing with PVC solvent cement - 63x63x63 mm dia Tee	3.000	no TFORM PBLIC W	95.00	285.00	Rupees Two Hundred Eighty Five Only
2.050	50.18.9.22.1 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes, including jointing with PVC solvent cement - 110 mm dia Elbow	4.000	no	120.00	480.00	Rupees Four Hundred Eighty Zero Only
2.051	50.18.9.22.4 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes, including jointing with PVC solvent cement- 110 mm dia Bend	4.000	no	175.00	700.00	Rupees Seven Hundred Zero Only
2.052	50.18.9.22.5 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes including jointing with PVC solvent cement 110x110x110 mm dia Tee	3.000	no	180.00	540.00	Rupees Five Hundred Forty Zero Only
2.053	50.18.9.22.8 - Providing and fixing PVC moulded fittings /accessories for Rigid PVC pipes, including jointing with PVC solvent cement -110 mm dia Vent cowl	1.000	no	135.00	135.00	Rupees One Hundred Thirty Five Only
2.054	50.18.9.20.7 - Providing and	1.000	no	85.00	85.00	Rupees Eighty



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	fixing PVC moulded fittings/ accessories for Rigid PVC pipes, including jointing with PVC solvent cement - 63 mm dia vent cowl					Five Only
2.055	50.18.9.21.7 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes, including jointing with PVC solvent cement - 75 mm dia Vent cowl	1.000	no	95.00	95.00	Rupees Ninety Five Only
2.056	50.18.9.22.11 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes, including jointing with PVC solvent cement - 110 mm dia Socket/ coupling	4.000	no	120.00	480.00	Rupees Four Hundred Eighty Zero Only
2.057	9.117.2 - Providing and fixing factory made uPVC door frame made of uPVC extruded sections having an overall dimension as below (tolerance ±1 mm), with wall thickness 2.0mm (±0.2 mm), corners of the door frame to be jointed with galvanized brackets and stainless steel screws, joints mitred and plastic welded. The hinge side vertical of the frames reinforced by galvanized M.S. tube of size 19 x 19 mm and 1 mm (± 0.1 mm) wall thickness and 3 nos. stainless steel hinges fixed to the frame complete as per m a n u f a c t u r e r & # 3 9; s specification and direction of Engineer-in-chargeExtruded section profile size 42x50 mm	ePL/ of th	metre	360.00	2160.00	Rupees Two Thousand One Hundred Sixty Zero Only
2.058	9.120.1 - Providing and fixing factory made panel PVC door shutter consisting of frame made out of M.S. tubes of 19 gauge thickness and sized of 19 mm x 19 mm for styles and 15x15 mm for top & damp; bottom rails. M.S. frame shall have a coat of steel primers of a pproved make and manufacture. M.S. frame covered with 5 mm thick heat moulded PVC 'C' channel of size 30 mm thickness, 70 mm width out of whicj 50 mm shall be flat and 20 mm shall be tapered in 45 degree angle on both side forming styles and 5 mm		sqm	3250.00	5460.00	Rupees Five Thousand Four Hundred Sixty Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	thick, 95 mm wide PVC sheet out of which 75 mm shall be tapered in 45 degree on th inner side to form top and bottom rail and 115 mm wide PVC sheet out of which 75 mm shall be flat and 20 mm shall be tapered on both sides to form lock rail. Top, bottom and lock rails shall be provided both side of the panel. 10 mm (5 mmx2) thick, 20 mm wide cross PVC sheet be provided as gap insert for top rail & amp; bottom rail. paneling of 5 mm thick both side PVC sheet to be fitted in the M.S. frame welded /sealed to the styles & amp; rails with 7 mm (5 mm + 2 mm) thick x 15 mm wide PVC sheet beading on inner side, and joined together with solvent cement adhesive. An additional 5 mm thick PVC strip of 20 mm width is to be stuck on the interior side of the 'C' Channel using PVC solvent adhesive etc. complete as per direction of Engineer -in-charge, manufacture & #39; s specification & amp; drawing.30 mm thick plain PVC door shutters		CF-Orth Manuel W	POR THE MANA	DEMENT	
2.059	OD157537/2022-2023 - Supply and erection of concrete Septic tank	1.000	no	15000.00	15000.00	Rupees Fifteen Thousand Zero Zero Only
2.060	OD157536/2022-2023 - Supply and fixing of 500 liter PVC tank	500.000	Litre	650.00	325000.00	Rupees Three Lakh Twenty Five Thousand Zero Zero Only
2.061	OD158226/2022-2023 - Submitting application to KSEBLfor power connection and power extension including preparation of drawing obtaining approval for drawings arranging inspection and obtaining power connection(necessary statutory fee will be paid by KWA)		L.S	3000.00	3000.00	Rupees Three Thousand Zero Zero Only
3	Construction of 1.5LL capaci	ity sump cum	pump h	ouse at Marayoo	r Gramam	
3.001	2.6.1 - Earth work in excavation by mechanical means (Hydraulic excavator)/manual means over areas (exceeding 30 cm		cum	240.00	7560.00	Rupees Seven Thousand Five Hundred Sixty Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	in depth, 1.5 m in width as well as 10 sqm on plan) including disposal of excavated earth, lead up to 50 m and lift up to 1.5 m, disposed earth to be levelled and neatly dressed. All kinds of soil					
3.002	2.8.1 - Earth work in excavation by mechanical means (Hydraulic excavator) /manual means in foundation trenches or drains (not exceeding 1.5 m in width or 10 sqm on plan), including dressing of sides and ramming of bottoms, lift up to 1.5 m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50 m.All kinds of soil	46.980	cum	330.00	15503.40	Rupees Fifteen Thousand Five Hundred Three And Forty Zero paise Only
3.003	7.1.1 - Random rubble masonry with hard stone in foundation and plinth including levelling up with cement concrete 1:6:12 (1 cement: 6 coarse sand: 12 graded stone aggregate 20 mm nominal size) up to plinth level with:Cement mortar 1:6 (1 cement: 6 coarse sand)	F	cum		311436.00	Rupees Three Lakh Eleven Thousand Four Hundred Thirty Six Only
3.004	4.1.3 - Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level:1:2:4 (cement: 2 coarse sand (zone-III): 4 graded stone aggregate 20 mm nominal size)	24.597	cum	9100.00	223832.70	Rupees Two Lakh Twenty Three Thousand Eight Hundred Thirty Two And Seventy Zero paise Only
3.005	5.33.1 - Providing and laying in position machine batched and machine mixed design mix M-25 grade cement concrete for reinforced cement concrete work, using cement content as per approved design mix, including pumping of concrete to site of laying but excluding the cost of centering, shuttering, finishing and reinforcement, including admixtures in recommended proportions as per IS: 9103 to accelerate, retard setting of concrete, improve workability without impairing strength and		cum	10700.00	364880.70	Rupees Three Lakh Sixty Four Thousand Eight Hundred Eighty Zero And Seventy Zero paise Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	durability as per direction of Engineer - in-charge. Note:- Cement content considered in this item is @ 330 kg/ cum. Excess or less cement used as per design mix is payable or recoverable separately.All work upto plinth level					
3.006	5.33.2 - Providing and laying in position machine batched and machine mixed design mix M-25 grade cement concrete for reinforced cement concrete work, using cement content as per approved design mix, including pumping of concrete to site of laying but excluding the cost of centering, shuttering, finishing and reinforcement, including admixtures in recommended proportions as per IS: 9103 to accelerate, retard setting of concrete, improve workability without impairing strength and durability as per direction of Engineer - in-charge. Note:-Cement content considered in this item is @ 330 kg/ cum. Excess or less cement used as per design mix is payable or recoverable separately. All work above plinth level upto floor V level	F	cum	12600.00	798663.60	Rupees Seven Lakh Ninety Eight Thousand Six Hundred Sixty Three And Sixty Zero paise Only
3.007	5.34.1 - Extra for providing richer mixes at all floor levels. Note:- Excess/less cement over the specified cement content used is payable/ recoverable separately.Providing M-30 grade concrete instead of M-25 grade BMC/RMC. (Note:-Cement content considered in M-30 is @ 340 kg/cum).		cum	92.00	4526.40	Rupees Four Thousand Five Hundred Twenty Six And Forty Zero paise Only
3.008	5.9.1 - Centering and shuttering including strutting, etc. and removal of form for:Foundations, footings, bases of columns, etc for mass concrete		sqm	385.00	22699.60	Rupees Twenty Two Thousand Six Hundred Ninety Nine And Sixty Zero paise Only
3.009	5.9.2 - Centering and shuttering including strutting, etc. and removal of form for:Walls (any thickness) including attached pilasters, butteresses, plinth and string courses etc.		sqm	820.00	202048.00	Rupees Two Lakh Two Thousand Zero Forty Eight Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
3.010	5.9.3 - Centering and shuttering including strutting, etc. and removal of form for:Suspended floors, roofs, landings, balconies and access platform	171.301	sqm	930.00	159309.93	Rupees One Lakh Fifty Nine Thousand Three Hundred Nine And Ninety Three paise Only
3.011	5.9.5 - Centering and shuttering including strutting, etc. and removal of form for:Lintels, beams, plinth beams, girders bressumers and cantilevers	166.488	sqm	740.00	123201.12	Rupees One Lakh Twenty Three Thousand Two Hundred One And Twelve paise Only
3.012	5.9.6 - Centering and shuttering including strutting, etc. and removal of form for:Columns, Pillars, Piers, Abutments, Posts and Struts	62.616	sqm	990.00	61989.84	Rupees Sixty One Thousand Nine Hundred Eighty Nine And Eighty Four paise Only
3.013	5.22.6 - Steel reinforcement for R.C.C work including straightening, cutting, bending, placing in position and binding all complete upto plinth levelThermo - Mechanically Treated bars of grade Fe-500D or more	13648.180	kilogra m	113.00	1542244.34	Rupees Fifteen Lakh Forty Two Thousand Two Hundred Forty Four And Thirty Four paise Only
3.014	50.6.1.2 - Solid block masonry using pre cast solid blocks (Factory made) of size 40x20x20cm or nearest available size confirming to IS 2185 part I of 1979 for super structure up to floor two level thickness 20cm and above in: CM 1:6 (1 cement: 6 coarse sand) etc complete.	27.790	cum	7350.00	204256.50	Rupees Two Lakh Four Thousand Two Hundred Fifty Six And Fifty Zero paise Only
3.015	50.6.3.2 - Solid block masonry using pre cast solid blocks (Factory made) of size 40x20x10 cm or nearest available size confirming to IS 2185 part I of 1979 for super structure up to floor two level for 10 cm thick wall in: CM 1:6 (1 cement: 6 coarse sand) including cost of scaffolding complete	4.836	cum	8800.00	42556.80	Rupees Forty Two Thousand Five Hundred Fifty Six And Eighty Zero paise Only
3.016	50.9.1.1 - Providing wood work in frames of doors, windows, clerestory windows and other frames, wrought framed and fixed in position with hold fast lugs or with dash fasteners of required dia & Damp; length (hold fast lugs or dash fastener shall be paid for separately), using good	0.291	cum	12800.00	3724.80	Rupees Three Thousand Seven Hundred Twenty Four And Eighty Zero paise Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	quality Anjili wood /jack					
3.017	50.9.5.1 - Providing and fixing glazed shutters for doors, windows and clerestory windows using 4 mm thick float glass panes including ISI marked M.S pressed butt hinges bright finished of required size with necessary screws. Using Anjili wood/ jack wood 35 mm thick shutters.	7.650	sqm	4400.00	33660.00	Rupees Thirty Three Thousand Six Hundred Sixty Zero Only
3.018	13.1.1 - 12 mm cement plaster of mix:1:4 (1 cement : 4 fine sand)	1404.344	sqm	350.00	491520.40	Rupees Four Lakh Ninety One Thousand Five Hundred Twenty And Forty Zero paise Only
3.019	13.43.1 - Applying one coat of water thinnable cement primer of approved brand and manufacture on wall surface: Water thinnable cement primer	1246.686	sqm	80.00	99734.88	Rupees Ninety Nine Thousand Seven Hundred Thirty Four And Eighty Eight paise Only
3.020	13.60.1 - Wall painting with acrylic emulsion paint of approved brand and manufacture to give an even shade: Two or more coats on new work	1246.686	sqm	170.00	211936.62	Rupees Two Lakh Eleven Thousand Nine Hundred Thirty Six And Sixty Two paise Only
3.021	13.48.2 - Finishing with Deluxe Multi surface paint system for interiors and exteriors using primer as per m a n u f a c t u r e r s specifications:Painting wood work with Deluxe Multi Surface Paint of required shade. Two or more coat applied @ 0.90 ltr/10 sqm over an under coat of primer applied @ 0.75 ltr/10 sqm of approved brand and manufacture	8.760	sqm	170.00	1489.20	Rupees One Thousand Four Hundred Eighty Nine And Twenty Zero paise Only
3.022	13.48.3 - Finishing with Deluxe Multi surface paint system for interiors and exteriors using primer as per m a n u f a c t u r e r s specifications:Painting Steel work with Deluxe Multi Surface Paint to give an even shade. Two or more coat applied @ 0.90 ltr/10 sqm over an under coat of primer applied @ 0.80 ltr/10 sqm of approved brand and	22.500	sqm	160.00	3600.00	Rupees Three Thousand Six Hundred Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	manufacture					
3.023	13.71 - Lettering with black Japan pint of approved brand and manufacture	3000.000	per Letter per cm height	6.00	18000.00	Rupees Eighteen Thousand Zero Zero Only
3.024	10.6.2 - Supplying and fixing rolling shutters of approved make, made of required size M.S. laths, interlocked together through their entire length and jointed together at the end by end locks, mounted on specially designed pipe shaft with brackets, side guides and arrangements for inside and outside locking with push and pull operation complete, including the cost of providing and fixing necessary 27.5 cm long wire springs manufactured from high tensile steel wire of adequate strength conforming to IS: 4454 - part 1 and M.S. top cover of required thickness for rolling shutters.80x1.20 mm M.S. laths with 1.20 mm thick top cover	7.500	sqm	3700.00	27750.00	Rupees Twenty Seven Thousand Seven Hundred Fifty Zero Only
3.025	10.25.2 - Item Shifted to Sub head 14 as item 14.73 Item Shifted to head 14 as item 14.74 Steel work welded in built up sections/framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required. In gratings, frames, guard bar, ladder, railings, brackets, gates and similar works	200.000	kg	170.00	34000.00	Rupees Thirty Four Thousand Zero Zero Only
3.026	22.23.1 - Providing and applying integral crystalline slurry of hydrophilic in nature for waterproofing treatment to the RCC structures like retaining walls of the basement, water tanks, roof slabs, podiums, reservior, sewage & Damp; water treatment plant, tunnels / subway and bridge deck etc., prepared by mixing in the ratio of 5:2 (5 parts integral crystalline slurry: 2	128.568	sqm	640.00	82283.52	Rupees Eighty Two Thousand Two Hundred Eighty Three And Fifty Two paise Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
3.027	parts water) for vertical surfaces and 3:1 (3 parts integral crystalline slurry:1 part water) for horizontal surfaces and applying the same from negative (internal) side with the help of synthetic fiber brush. The material shall meet the requirements as specified in ACI-212-3R-2010 i.e by reducing permeability of concrete by more than 90% compared with control concrete as per DIN 1048 and resistant to 16 bar hydrostatic pressure on negative side. The crystalline slurry shall be capable of self-healing of cracks up to a width of 0.50mm. The work shall be carried out all complete as per specification and the direction of the engineerinch arge. The product performance shall carry guarantee for 10 years against any leakage. For vertical surface two coats @0.70 kg per sqm 22.23.2 - Providing and applying integral crystalline slurry of hydrophilic in nature for waterproofing treatment to the RCC structures like retaining walls of the basement, water tanks, roof slabs, podiums, reservior, sewage & amp; water treatment plant, tunnels / subway and bridge deck etc., prepared by mixing in the ratio of 5:2 (5 parts integral crystalline slurry: 2 parts water) for vertical surfaces and 3:1 (3 parts integral crystalline slurry: 1 part water) for horizontal surfaces and applying the same from negative (internal) side with the help of synthetic fiber brush. The material shall meet the requirements as specified in ACI-212-3R-2010 i.e by reducing permeability of concrete by more than 90% compared with control concrete as per DIN 1048 and resistant to 16 bar hydrostatic pressure on	38.000	sqm	500.00	19000.00	Rupees Nineteen Thousand Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	negative side. The crystalline slurry shall be capable of self-healing of cracks up to a width of 0.50mm. The work shall be carried out all complete as per specification and the direction of the engineerinch arge. The product performance shall carry guarantee for 10 years against any leakage. For horizontal surface one coat @1.10 kg per sqm.					
3.028	100.36.1 - Filling water with 5000 litre tankers fited in lorry and conveying water from a distance of 5 km (average) to the reservoir site and pumping the water into the reservoir of height not less than 3 m using 5 HP diesel engine pump set, hire for tanker lorry, tools and other appliences and cost of water etc. complete.	150.000	Kilo litre	205.00	30750.00	Rupees Thirty Zero Thousand Seven Hundred Fifty Zero Only
3.029	100.41.34 - Supplying and fixing Rectangular C.I. manhole cover 455mm x 610mm with frame (low duty) charges including all cost, labour charges etc., complete.	2.000	no Technology	3100.00	6200.00	Rupees Six Thousand Two Hundred Zero Only
3.030	OD132304/2022-2023 - Supplying and providing water level indicator to the tank using scale fabricated out of 2 mm thick MS plate with in the frame work of suitable size MS square tube 160 mm pvc pipes for guiding the f;loat necessary pulleys suitable nylon thread for connecting the float and level indicator painting, the entire structure and lettering including the charges of material and labour	1.000	no	11000.00	11000.00	Rupees Eleven Thousand Zero Zero Only
3.031	OD132283/2022-2023 - Supply and Fitting 100 mm CI Air Vent cowl	4.000	no	2800.00	11200.00	Rupees Eleven Thousand Two Hundred Zero Only
3.032	18.26.1 - Providing and laying flanged C.I. Standard specials such as tees, bends, collars, tapers, caps etc., suitable for flanged jointing as per IS: 1538: Upto 300 mm dia	1.630	quintal	10500.00	17115.00	•



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
3.033	18.31.1.2 - Providing and fixing C.I. sluice valves (with cap) complete with bolts, nuts, rubber insertion etc. (the tail pieces if required will be paid separately): 100 mm diameterClass II	1.000	no	5900.00	5900.00	Rupees Five Thousand Nine Hundred Zero Only
3.034	18.31.3.2 - Providing and fixing C.I. sluice valves (with cap) complete with bolts, nuts, rubber insertion etc. (the tail pieces if required will be paid separately): 150 mm diameterClass II	2.000	no	8700.00	17400.00	Rupees Seventeen Thousand Four Hundred Zero Only
3.035	11.36 - Providing and fixing I st quality ceramic glazed wall tiles conforming to IS: 15622 (thickness to be specified by the manufacturer), of approved make, in all colours, shades except burgundy, bottle green, black of any size as approved by Engineer -in-Charge, in skirting, risers of steps and dados, over 12 mm thick bed of cement mortar 1:3 (1 cement: 3 coarse sand) and jointing with grey cement slurry @ 3.3 kg per sqm, including pointing in white cement mixed with pigment of matching shade complete.	9.300	sqm	1350.00	12555.00	Rupees Twelve Thousand Five Hundred Fifty Five Only
3.036	11.38 - Providing and laying Ceramic glazed floor tiles of size 300x300 mm (thickness to be specified by the manufacturer), of Ist quality conforming to IS: 15622, of approved make, in all colours, shades, except White, Ivory, Grey, Fume Red Brown, laid on 20 mm thick bed of cement mortar 1:4 (1 cement: 4 Coarse sand), including pointing the joints with white cement and matching pigments etc., complete.	1.800	sqm	1350.00	2430.00	Rupees Two Thousand Four Hundred Thirty Zero Only
3.037	50.17.1.1 - Supplying and fixing Stainless steel soap dish including cost of materials and labour charges etc complete as per the direction of site Engineer-incharge.	1.000	no	70.00	70.00	Rupees Seventy Zero Only
3.038	50.18.7.4.1 - Providing and fixing PVC pipes, fittings including fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes	30.000	metre	350.00	10500.00	Rupees Ten Thousand Five Hundred Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	& Description & Comparison & Co					
3.039	50.18.7.5.1 - Providing and fixing PVC pipes, fittings including fixing the pipe with clamps at 1.00m spacing. This includes jointing of pipes & DVC solvent cement and testing of joints complete as per direction of Engineer-in-Charge 40 mm dia 10 Kgf/cm2- Internal work-exposed on wall	10.000	metre	460.00	4600.00	Rupees Four Thousand Six Hundred Zero Only
3.040	50.18.8.1.2 - Providing and fixing PVC pipes, fittings including fixing the pipe with clamps at 1.00 spacing. This includes jointing of pipes & DVC solvent cement and testing of joints complete as per direction of Engineer-in-Charge Concealed work, including cutting chases and making good the wall etc. 15 mm pipe 10kgf/cm2	12.000	metre	440.00	5280.00	Rupees Five Thousand Two Hundred Eighty Zero Only
3.041	50.18.9.7.1 - Providing and fixing PVC pipes includings of pipes with one step PVC solvent cement, trenching refilling & Dints complete as per direction of Engineer in Charge. 63 mm dia 6Kgf/cm2	30.000	metre	385.00	11550.00	Rupees Eleven Thousand Five Hundred Fifty Zero Only
3.042	50.18.9.9.1 - Providing and fixing PVC pipes includings jointing of pipes with one step PVC solvent cement, trenching, refilling & amp; testing of Joints complete as per direction of engineer in charge.110 mm dia 6Kgf/cm2	30.000	metre	580.00	17400.00	Rupees Seventeen Thousand Four Hundred Zero Only
3.043	17.2.1 - Providing and fixing white vitreous china pedestal type water closet (European type W.C. pan) with seat and lid, 10 litre low level white P.V.C. flushing cistern, including flush pipe, with manually controlled device (handle lever), conforming to IS: 7231, with all fittings and fixtures complete, including	1.000	each	7000.00	7000.00	Rupees Seven Thousand Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	cutting and making good the walls and floors wherever required:W.C. pan with ISI marked white solid plastic seat and lid					
3.044	17.7.11 - Providing and fixing wash basin with C.I. brackets, 15 mm C.P. brass pillar taps, 32 mm C.P. brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the walls wherever require:Stainless Steel AISI - 304 (18/8) Wash basin 530 x 345 mm with single 15mm C.P. brass pillar tap	1.000	each	6000.00	6000.00	Rupees Six Thousand Zero Zero Only
3.045	17.28.2.1 - Flexible pipe32 mm dia	2.000	each	135.00	270.00	Rupees Two Hundred Seventy Zero Only
3.046	17.60.1.1 - Providing and fixing trap of self cleansing design with screwed down or hinged grating without vent arm complete, including cost of cutting and making good the walls and floors: 100 mm inlet and 100 mm outletSand cast iron S & Samp; S as per IS: 3989	3.000	each	2000.00	6000.00	Rupees Six Thousand Zero Zero Only
3.047	18.57.1 - Providing and fixing PTMT, push cock of approved quality and colour.15 mm nominal bore, 98 mm long, weighing not less than 75 gms	2.000	each	140.00	280.00	Rupees Two Hundred Eighty Zero Only
3.048	50.18.9.20.4 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes, including jointing with PVC solvent cement - 63 mm dia Bend	4.000	no	85.00	340.00	Rupees Three Hundred Forty Zero Only
3.049	50.18.9.20.5 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes including jointing with PVC solvent cement - 63x63x63 mm dia Tee	3.000	no	95.00	285.00	Rupees Two Hundred Eighty Five Only
3.050	50.18.9.22.1 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes, including jointing with PVC solvent cement - 110 mm dia Elbow	4.000	no	130.00	520.00	Rupees Five Hundred Twenty Only
3.051	50.18.9.22.4 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC	4.000	no	175.00	700.00	Rupees Seven Hundred Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	pipes, including jointing with PVC solvent cement- 110 mm dia Bend					
3.052	50.18.9.22.5 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes including jointing with PVC solvent cement 110x110x110 mm dia Tee	3.000	no	190.00	570.00	Rupees Five Hundred Seventy Zero Only
3.053	50.18.9.22.8 - Providing and fixing PVC moulded fittings /accessories for Rigid PVC pipes, including jointing with PVC solvent cement -110 mm dia Vent cowl	1.000	no	135.00	135.00	Rupees One Hundred Thirty Five Only
3.054	50.18.9.20.7 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes, including jointing with PVC solvent cement - 63 mm dia vent cowl	1.000	no	85.00	85.00	Rupees Eighty Five Only
3.055	50.18.9.21.7 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes, including jointing with PVC solvent cement - 75 mm dia Vent cowl	1.000	no	95.00	95.00	Rupees Ninety Five Only
3.056	50.18.9.22.11 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes,including jointing with PVC solvent cement - 110 mm dia Socket/ coupling	4.000	no	125.00	500.00	Rupees Five Hundred Zero Only
3.057	9.117.2 - Providing and fixing factory made uPVC door frame made of uPVC extruded sections having an overall dimension as below (tolerance ±1 mm), with wall thickness 2.0mm (±0.2 mm), corners of the door frame to be jointed with galvanized brackets and stainless steel screws, joints mitred and plastic welded. The hinge side vertical of the frames reinforced by galvanized M.S. tube of size 19 x 19 mm and 1 mm (± 0.1 mm) wall thickness and 3 nos. stainless steel hinges fixed to the frame complete as per manufacturer & #39; specification and direction of Engineer-in-chargeExtruded section profile size 42x50 mm	6.000	metre	350.00	2100.00	Rupees Two Thousand One Hundred Zero Only
3.058	9.120.1 - Providing and fixing	1.680	sqm	3150.00	5292.00	Rupees Five



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	factory made panel PVC door shutter consisting of frame made out of M.S. tubes of 19 gauge thickness and sized of 19 mm x 19 mm for styles and 15x15 mm for top & amp; bottom rails. M.S. frame shall have a coat of steel primers of a pproved make and manufacture. M.S. frame covered with 5 mm thick heat moulded PVC 'C' channel of size 30 mm thickness, 70 mm width out of whicj 50 mm shall be flat and 20 mm shall be tapered in 45 degree angle on both side forming styles and 5 mm thick, 95 mm wide PVC sheet out of which 75 mm shall be tapered in 45 degree on th inner side to form top and bottom rail and 115 mm wide PVC sheet out of which 75 mm shall be flat and 20 mm shall be tapered on both sides to form lock rail. Top, bottom and lock rails shall be provided both side of the panel. 10 mm (5 mmx2) thick, 20 mm wide cross PVC sheet be provided as gap insert for top rail & amp; bottom rail. paneling of 5 mm thick both side PVC sheet to be fitted in the M.S. frame welded /sealed to the styles & amp; rails with 7 mm (5 mm + 2 mm) thick x 15 mm wide PVC sheet beading on inner side, and joined together with solvent cement a d hesive. An additional 5 mm thick both side PVC sheet beading on inner side, and joined together with solvent cement a d hesive. An additional 5 mm thick PVC strip of 20 mm width is to be stuck on the interior side of the 'C' Channel using PVC solvent adhesive etc. complete as per direction of Engineer -in-charge, m a n u f a c t u r e & # 3 9; s s pe c i fi c a t i o n & a m p; drawing 30 mm thick plain PVC door shutters		CT-OEM W	POR THE MANA	DEMENT	Thousand Two Hundred Ninety Two Only
3.059	OD157583/2022-2023 - Supply and erection of concrete Septic tank	1.000	no	15000.00	15000.00	Rupees Fifteen Thousand Zero Zero Only
3.060	OD157582/2022-2023 - Supply and fixing of 500 liter PVC tank	500.000	Litre	6.50	3250.00	Rupees Three Thousand Two Hundred Fifty Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
3.061	OD132282/2022-2023 - Submitting application to KSEBLfor power connection and power extension including preparation of drawing obtaining approval for drawings arranging inspection and obtaining ,power connection(necessary statutory fee will be paid by KWA)	1.000	L.S	3000.00	3000.00	Rupees Three Thousand Zero Zero Only
4	Construction of 0.2LL capaci Booster and Puthukkudy boo		pump h	ouse at Nellipetti	Booster, Kamm	alamkudi
4.001	2.6.1 - Earth work in excavation by mechanical means (Hydraulic excavator)/manual means over areas (exceeding 30 cm in depth, 1.5 m in width as well as 10 sqm on plan) including disposal of excavated earth, lead up to 50 m and lift up to 1.5 m, disposed earth to be levelled and neatly dressed. All kinds of soil	- 4	cum	230.00	28110.60	Rupees Twenty Eight Thousand One Hundred Ten And Sixty Zero paise Only
4.002	OD165809/2022-2023 - Earthwork excavation by mechanical means (Hydrolic excavator)/manual means in foundation trenches or drains not exceeding 1.5 m in width or 10 sqm in plan including dressing of sides and rammoing of bottom,lift 1.5 m up to 3m. including getting out the excavated soil and disposal of surplus excavated soil as directed with in a lead of 50 m Ordinary Rock	112.500	cum		90000.00	Rupees Ninety Zero Thousand Zero Zero Only
4.003	OD165810/2022-2023 - Earthwork excavation by mechanical means (Hydrolic excavator)/manual means in foundation trenches or drains not exceeding 1.5 m in width or 10 sqm in plan including dressing of sides and rammoing of bottom,lift 3 m up to 4.5m. including getting out the excavated soil and disposal of surplus excavated soil as directed with in a lead of 50 m Ordinary Rock	26.250	cum	1000.00	26250.00	Rupees Twenty Six Thousand Two Hundred Fifty Zero Only
4.004	7.1.1 - Random rubble masonry with hard stone in foundation and plinth	9.720	cum	8200.00	79704.00	Rupees Seventy Nine Thousand Seven Hundred



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	including levelling up with cement concrete 1:6:12 (1 cement : 6 coarse sand : 12 graded stone aggregate 20 mm nominal size) up to plinth level with:Cement mortar 1:6 (1 cement : 6 coarse sand)					Four Only
4.005	4.1.3 - Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level:1:2:4 (cement: 2 coarse sand (zone-III): 4 graded stone aggregate 20 mm nominal size)	11.250	cum	9000.00	101250.00	Rupees One Lakh One Thousand Two Hundred Fifty Zero Only
4.006	5.33.1 - Providing and laying in position machine batched and machine mixed design mix M-25 grade cement concrete for reinforced cement concrete work, using cement content as per approved design mix, including pumping of concrete to site of laying but excluding the cost of centering, shuttering, finishing and reinforcement, including admixtures in recommended proportions as per IS: 9103 to accelerate, retard setting of concrete, improve workability without impairing strength and durability as per direction of Engineer - in-charge. Note:-Cement content considered in this item is @ 330 kg/ cum. Excess or less cement used as per design mix is payable or recoverable separately. All work upto plinth level	25.776	cum	10500.00	270648.00	Rupees Two Lakh Seventy Zero Thousand Six Hundred Forty Eight Only
4.007	5.33.2 - Providing and laying in position machine batched and machine mixed design mix M-25 grade cement concrete for reinforced cement concrete work, using cement content as per approved design mix, including pumping of concrete to site of laying but excluding the cost of centering, shuttering, finishing and reinforcement, including admixtures in recommended proportions as per IS: 9103 to accelerate, retard setting of concrete,	84.091	cum	12700.00	1067955.70	Rupees Ten Lakh Sixty Seven Thousand Nine Hundred Fifty Five And Seventy Zero paise Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	improve workability without impairing strength and durability as per direction of Engineer - in-charge. Note:-Cement content considered in this item is @ 330 kg/ cum. Excess or less cement used as per design mix is payable or recoverable separately. All work above plinth level upto floor V level					
4.008	5.34.1 - Extra for providing richer mixes at all floor levels. Note:- Excess/less cement over the specified cement content used is payable/ recoverable separately.Providing M-30 grade concrete instead of M-25 grade BMC/RMC. (Note:-Cement content considered in M-30 is @ 340 kg/cum).	62.267	cum	90.00	5604.03	Rupees Five Thousand Six Hundred Four And Three paise Only
4.009	5.9.1 - Centering and shuttering including strutting, etc. and removal of form for:Foundations, footings, bases of columns, etc for mass concrete	43.080	sqm	380.00	16370.40	Rupees Sixteen Thousand Three Hundred Seventy Zero And Forty Zero paise Only
4.010	5.9.2 - Centering and shuttering including strutting, etc. and removal of form for:Walls (any thickness) including attached pilasters, butteresses, plinth and string courses etc.	295.800	sqm	800.00	236640.00	Rupees Two Lakh Thirty Six Thousand Six Hundred Forty Zero Only
4.011	5.9.3 - Centering and shuttering including strutting, etc. and removal of form for:Suspended floors, roofs, landings, balconies and access platform	236.232	sqm	900.00	212608.80	Rupees Two Lakh Twelve Thousand Six Hundred Eight And Eighty Zero paise Only
4.012	5.9.5 - Centering and shuttering including strutting, etc. and removal of form for:Lintels, beams, plinth beams, girders bressumers and cantilevers	114.840	sqm	730.00	83833.20	Rupees Eighty Three Thousand Eight Hundred Thirty Three And Twenty Zero paise Only
4.013	5.9.6 - Centering and shuttering including strutting, etc. and removal of form for:Columns, Pillars, Piers, Abutments, Posts and Struts	128.448	sqm	990.00	127163.52	Rupees One Lakh Twenty Seven Thousand One Hundred Sixty Three And Fifty Two paise Only
4.014	5.22.6 - Steel reinforcement for R.C.C work including straightening, cutting, bending, placing in position	26368.080	kilogra m	112.00	2953224.96	Rupees Twenty Nine Lakh Fifty Three Thousand Two Hundred



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	and binding all complete upto plinth levelThermo - Mechanically Treated bars of grade Fe-500D or more					Twenty Four And Ninety Six paise Only
4.015	50.6.1.2 - Solid block masonry using pre cast solid blocks (Factory made) of size $40x20x20cm$ or nearest available size confirming to IS 2185 part I of 1979 for super structure up to floor two level thickness 20cm and above in: CM 1:6 (1 cement: 6 coarse sand) etc complete.	47.908	cum	7300.00	349728.40	Rupees Three Lakh Forty Nine Thousand Seven Hundred Twenty Eight And Forty Zero paise Only
4.016	50.6.3.2 - Solid block masonry using pre cast solid blocks (Factory made) of size 40x20x10 cm or nearest available size confirming to IS 2185 part I of 1979 for super structure up to floor two level for 10 cm thick wall in: CM 1:6 (1 cement: 6 coarse sand) including cost of scaffolding complete	1.710	cum	8800.00	15048.00	Rupees Fifteen Thousand Zero Forty Eight Only
4.017	13.1.1 - 12 mm cement plaster of mix:1:4 (1 cement : 4 fine sand)	1433.736	sqm		501807.60	Rupees Five Lakh One Thousand Eight Hundred Seven And Sixty Zero paise Only
4.018	50.9.1.1 - Providing wood work in frames of doors, windows, clerestory windows and other frames, wrought framed and fixed in position with hold fast lugs or with dash fasteners of required dia & Department of the wood wood wallity Anjili wood /jack wood	0.873	cum	12200.00	10650.60	Rupees Ten Thousand Six Hundred Fifty Zero And Sixty Zero paise Only
4.019	50.9.5.1 - Providing and fixing glazed shutters for doors, windows and clerestory windows using 4 mm thick float glass panes including ISI marked M.S pressed butt hinges bright finished of required size with necessary screws. Using Anjili wood/ jack wood 35 mm thick shutters.	22.950	sqm	4400.00	100980.00	Rupees One Lakh Zero Nine Hundred Eighty Zero Only
4.020	22.23.1 - Providing and applying integral crystalline slurry of hydrophilic in nature for waterproofing treatment to the	167.820	sqm	640.00	107404.80	Rupees One Lakh Seven Thousand Four Hundred Four And Eighty



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	RCC structures like retaining walls of the basement, water tanks, roof slabs, podiums, reservior, sewage & Division and the direction of the engineering to the for the root of the engineering tangent and the direction of the product performance shall carry guarantee for 10 years against any leakage. For vertical surface.		TFORM BUILD W	A CIR THE MANA	DEMENT	Zero paise Only
4.021	22.23.2 - Providing and applying integral crystalline slurry of hydrophilic in nature for waterproofing treatment to the RCC structures like retaining walls of the basement, water tanks, roof slabs, podiums, reservior, sewage & Damp; water treatment plant, tunnels / subway and bridge deck etc., prepared by mixing in the ratio of 5:2 (5 parts integral crystalline slurry: 2 parts water) for vertical surfaces and 3:1 (3 parts integral crystalline slurry: 1 part water) for horizontal surfaces and applying the same from negative (internal)		sqm	500.00	24000.00	Rupees Twenty Four Thousand Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	side with the help of synthetic fiber brush. The material shall meet the requirements as specified in ACI-212-3R-2010 i.e by reducing permeability of concrete by more than 90% compared with control concrete as per DIN 1048 and resistant to 16 bar hydrostatic pressure on negative side. The crystalline slurry shall be capable of self-healing of cracks up to a width of 0.50mm. The work shall be carried out all complete as per specification and the direction of the engineerincharge. The product performance shall carry guarantee for 10 years against any leakage. For horizontal surface one coat @1.10 kg per sqm.					
4.022	13.43.1 - Applying one coat of water thinnable cement primer of approved brand and manufacture on wall surface: Water thinnable cement primer	1291.812	sqm	80.00	103344.96	Rupees One Lakh Three Thousand Three Hundred Forty Four And Ninety Six paise Only
4.023	13.60.1 - Wall painting with acrylic emulsion paint of approved brand and manufacture to give an even shade: Two or more coats on new work	1291.812	sqm	170.00	219608.04	Rupees Two Lakh Nineteen Thousand Six Hundred Eight And Four paise Only
4.024	13.71 - Lettering with black Japan pint of approved brand and manufacture	9000.000	per Letter per cm height	6.00	54000.00	Rupees Fifty Four Thousand Zero Zero Only
4.025	10.6.2 - Supplying and fixing rolling shutters of approved make, made of required size M.S. laths, interlocked together through their entire length and jointed together at the end by end locks, mounted on specially designed pipe shaft with brackets, side guides and arrangements for inside and outside locking with push and pull operation complete, including the cost of providing and fixing necessary 27.5 cm long wire springs manufactured from high tensile steel wire of adequate strength conforming	15.000	sqm	3750.00	56250.00	Rupees Fifty Six Thousand Two Hundred Fifty Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	to IS: 4454 - part 1 and M.S. top cover of required thickness for rolling shutters.80x1.20 mm M.S. laths with 1.20 mm thick top cover					
4.026	10.25.2 - Item Shifted to Sub head 14 as item 14.73 Item Shifted to head 14 as item 14.74 Steel work welded in built up sections/framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required.In gratings, frames, guard bar, ladder, railings, brackets, gates and similar works	450.000	kg	175.00	78750.00	Rupees Seventy Eight Thousand Seven Hundred Fifty Zero Only
4.027	18.31.1.2 - Providing and fixing C.I. sluice valves (with cap) complete with bolts, nuts, rubber insertion etc. (the tail pieces if required will be paid separately): 100 mm diameterClass II	3.000	no	5800.00	17400.00	Rupees Seventeen Thousand Four Hundred Zero Only
4.028	18.26.1 - Providing and laying flanged C.I. Standard specials such as tees, bends, collars, tapers, caps etc., suitable for flanged jointing as per IS: 1538: Upto 300 mm dia	2.520	quintal	10500.00	26460.00	Rupees Twenty Six Thousand Four Hundred Sixty Zero Only
4.029	13.48.2 - Finishing with Deluxe Multi surface paint system for interiors and exteriors using primer as per m a n u f a c t u r e r s specifications: Painting wood work with Deluxe Multi Surface Paint of required shade. Two or more coat applied @ 0.90 ltr/10 sqm over an under coat of primer applied @ 0.75 ltr/10 sqm of approved brand and manufacture	26.280	sqm	170.00	4467.60	Rupees Four Thousand Four Hundred Sixty Seven And Sixty Zero paise Only
4.030	13.48.3 - Finishing with Deluxe Multi surface paint system for interiors and exteriors using primer as per m a n u f a c t u r e r s specifications:Painting Steel work with Deluxe Multi Surface Paint to give an even shade. Two or more coat applied @ 0.90 ltr/10 sqm	63.000	sqm	160.00	10080.00	Rupees Ten Thousand Zero Eighty Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	over an under coat of primer applied @ 0.80 ltr/10 sqm of approved brand and manufacture					
4.031	100.36.1 - Filling water with 5000 litre tankers fited in lorry and conveying water from a distance of 5 km (average) to the reservoir site and pumping the water into the reservoir of height not less than 3 m using 5 HP diesel engine pump set, hire for tanker lorry, tools and other appliences and cost of water etc. complete.	120.000	Kilo litre	205.00	24600.00	Rupees Twenty Four Thousand Six Hundred Zero Only
4.032	OD133538/2022-2023 - Supplying and providing water level indicator to the tank using scale fabricated out of 2 mm thick MS plate with in the frame work of suitable size MS square tube 160 mm pvc pipes for guiding the f;loat necessary pulleys suitable nylon thread for connecting the float and level indicator painting, the entire structure and lettering including the charges of material and labour	3.000	no	11250.00	33750.00	Rupees Thirty Three Thousand Seven Hundred Fifty Zero Only
4.033	100.41.34 - Supplying and fixing Rectangular C.I. manhole cover 455mm x 610mm with frame (low duty) charges including all cost, labour charges etc., complete.	6.000	no	3100.00	18600.00	Rupees Eighteen Thousand Six Hundred Zero Only
4.034	11.36 - Providing and fixing I st quality ceramic glazed wall tiles conforming to IS: 15622 (thickness to be specified by the manufacturer), of approved make, in all colours, shades except burgundy, bottle green, black of any size as approved by Engineer -in-Charge, in skirting, risers of steps and dados, over 12 mm thick bed of cement mortar 1:3 (1 cement: 3 coarse sand) and jointing with grey cement slurry @ 3.3 kg per sqm, including pointing in white cement mixed with pigment of matching shade complete.	27.900	sqm	1350.00		Rupees Thirty Seven Thousand Six Hundred Sixty Five Only
4.035	11.38 - Providing and laying Ceramic glazed floor tiles of size 300x300 mm (thickness	5.400	sqm	1350.00	7290.00	Rupees Seven Thousand Two Hundred Ninety



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	to be specified by the manufacturer), of Ist quality conforming to IS: 15622, of approved make, in all colours, shades, except White, Ivory, Grey, Fume Red Brown, laid on 20 mm thick bed of cement mortar 1:4 (1 cement: 4 Coarse sand), including pointing the joints with white cement and matching pigments etc., complete.					Zero Only
4.036	50.17.1.1 - Supplying and fixing Stainless steel soap dish including cost of materials and labour charges etc complete as per the direction of site Engineer-incharge.	3.000	no	70.00	210.00	Rupees Two Hundred Ten Only
4.037	50.18.7.4.1 - Providing and fixing PVC pipes, fittings including fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & DVC solvent cement and testing of joints complete as per direction of Engineer-in-Charge 32 mm dia 10Kgf/cm2- Internal work - Exposed on wall	90.000	metre	340.00	30600.00	Rupees Thirty Zero Thousand Six Hundred Zero Only
4.038	50.18.7.5.1 - Providing and fixing PVC pipes, fittings including fixing the pipe with clamps at 1.00m spacing. This includes jointing of pipes & DVC solvent cement and testing of joints complete as per direction of Engineer-in-Charge 40 mm dia 10 Kgf/cm2- Internal work-exposed on wall	30.000	metre	450.00	13500.00	Rupees Thirteen Thousand Five Hundred Zero Only
4.039	50.18.8.1.2 - Providing and fixing PVC pipes, fittings including fixing the pipe with clamps at 1.00 spacing. This includes jointing of pipes & processes with one step PVC solvent cement and testing of joints complete as per direction of Engineer-in-Charge Concealed work, including cutting chases and making good the wall etc. 15 mm pipe 10kgf/cm2	36.000	metre	440.00	15840.00	Rupees Fifteen Thousand Eight Hundred Forty Zero Only
4.040	50.18.9.7.1 - Providing and fixing PVC pipes includings of pipes with one step PVC	90.000	metre	375.00	33750.00	Rupees Thirty Three Thousand Seven Hundred



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	solvent cement, trenching refilling & amp; testing of joints complete as per direction of Engineer in Charge. 63 mm dia 6Kgf/cm2					Fifty Zero Only
4.041	50.18.9.9.1 - Providing and fixing PVC pipes includings jointing of pipes with one step PVC solvent cement, trenching, refilling & Dints complete as per direction of engineer in charge.110 mm dia 6Kgf/cm2	90.000	metre	570.00	51300.00	Rupees Fifty One Thousand Three Hundred Zero Only
4.042	17.2.1 - Providing and fixing white vitreous china pedestal type water closet (European type W.C. pan) with seat and lid, 10 litre low level white P.V.C. flushing cistern, including flush pipe, with manually controlled device (handle lever), conforming to IS: 7231, with all fittings and fixtures complete, including cutting and making good the walls and floors wherever required:W.C. pan with ISI marked white solid plastic seat and lid	3.000	each	7000.00	21000.00	Rupees Twenty One Thousand Zero Zero Only
4.043	17.7.11 - Providing and fixing wash basin with C.I. brackets, 15 mm C.P. brass pillar taps, 32 mm C.P. brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the walls wherever require:Stainless Steel AISI - 304 (18/8) Wash basin 530 x 345 mm with single 15mm C.P. brass pillar tap	3.000	each	5900.00	17700.00	Rupees Seventeen Thousand Seven Hundred Zero Only
4.044	17.28.2.1 - Flexible pipe32 mm dia	6.000	each	135.00	810.00	Rupees Eight Hundred Ten Only
4.045	17.60.1.1 - Providing and fixing trap of self cleansing design with screwed down or hinged grating without vent arm complete, including cost of cutting and making good the walls and floors: 100 mm inlet and 100 mm outletSand cast iron S & Samp; S as per IS: 3989	9.000	each	2000.00	18000.00	Rupees Eighteen Thousand Zero Zero Only
4.046	18.57.1 - Providing and fixing PTMT, push cock of approved quality and colour.15 mm nominal bore, 98 mm long, weighing not	6.000	each	135.00	810.00	Rupees Eight Hundred Ten Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	less than 75 gms					
4.047	50.18.9.20.4 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes, including jointing with PVC solvent cement - 63 mm dia Bend	12.000	no	85.00	1020.00	Rupees One Thousand Zero Twenty Only
4.048	50.18.9.20.5 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes including jointing with PVC solvent cement - 63x63x63 mm dia Tee	9.000	no	90.00	810.00	Rupees Eight Hundred Ten Only
4.049	50.18.9.22.1 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes, including jointing with PVC solvent cement - 110 mm dia Elbow	12.000	no	120.00	1440.00	Rupees One Thousand Four Hundred Forty Zero Only
4.050	50.18.9.22.4 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes, including jointing with PVC solvent cement- 110 mm dia Bend	12.000	no	175.00	2100.00	Rupees Two Thousand One Hundred Zero Only
4.051	50.18.9.22.5 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes including jointing with PVC solvent cement 110x110x110 mm dia Tee	9.000	no		1620.00	Rupees One Thousand Six Hundred Twenty Only
4.052	50.18.9.22.8 - Providing and fixing PVC moulded fittings /accessories for Rigid PVC pipes, including jointing with PVC solvent cement -110 mm dia Vent cowl	3.000	no	135.00	405.00	Rupees Four Hundred Five Only
4.053	50.18.9.20.7 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes, including jointing with PVC solvent cement - 63 mm dia vent cowl	3.000	no	85.00	255.00	Rupees Two Hundred Fifty Five Only
4.054	50.18.9.21.7 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes, including jointing with PVC solvent cement - 75 mm dia Vent cowl	3.000	no	95.00	285.00	Rupees Two Hundred Eighty Five Only
4.055	50.18.9.22.11 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes,including jointing with PVC solvent cement - 110 mm dia Socket/ coupling	12.000	no	120.00	1440.00	Rupees One Thousand Four Hundred Forty Zero Only
4.056	9.117.2 - Providing and fixing factory made uPVC door	18.000	metre	350.00	6300.00	Rupees Six Thousand Three



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	frame made of uPVC extruded sections having an overall dimension as below (tolerance ±1 mm), with wall thickness 2.0mm (±0.2 mm), corners of the door frame to be jointed with galvanized brackets and stainless steel screws, joints mitred and plastic welded. The hinge side vertical of the frames reinforced by galvanized M.S. tube of size 19 x 19 mm and 1 mm (± 0.1 mm) wall thickness and 3 nos. stainless steel hinges fixed to the frame complete as per manufacturer & #39; specification and direction of Engineer-in-chargeExtruded section profile size 42x50 mm					Hundred Zero Only
4.057	9.120.1 - Providing and fixing factory made panel PVC door shutter consisting of frame made out of M.S. tubes of 19 gauge thickness and sized of 19 mm x 19 mm for styles and 15x15 mm for top & damp; bottom rails. M.S. frame shall have a coat of steel primers of a pproved make and manufacture. M.S. frame covered with 5 mm thick heat moulded PVC & #39; C & #39; C hannel of size 30 mm thickness, 70 mm width out of whicj 50 mm shall be flat and 20 mm shall be tapered in 45 degree angle on both side forming styles and 5 mm thick, 95 mm wide PVC sheet out of which 75 mm shall be tapered in 45 degree on th inner side to form top and bottom rail and 115 mm wide PVC sheet out of which 75 mm shall be flat and 20 mm shall be flat and 20 mm shall be flat on both sides to form lock rail. Top, bottom and lock rails shall be provided both side of the panel. 10 mm (5 mmx2) thick, 20 mm wide cross PVC sheet be provided as gap insert for top rail & amp; bottom rail. paneling of 5 mm thick both side PVC sheet to be fitted in the M.S. frame welded /sealed to the styles & amp; rails with 7 mm (5 mm + 2 mm) thick x	e PLA	sqm	3200.00	16128.00	Rupees Sixteen Thousand One Hundred Twenty Eight Only



Sl No		No. or Qty.	Unit	Accepted Rate	TOTAL	TOTAL
51 140	Description of work	No. of Qty.	Omt	Accepted Kate	AMOUNT	AMOUNT in words
	15 mm wide PVC sheet beading on inner side, and joined together with solvent cement adhesive. An additional 5 mm thick PVC strip of 20 mm width is to be stuck on the interior side of the 'C' Channel using PVC solvent adhesive etc. complete as per direction of Engineer -in-charge, manufacture ' specification & amp; drawing.30 mm thick plain PVC door shutters					
4.058	OD157571/2022-2023 - Supply and erection of concrete Septic tank	3.000	no	15000.00	45000.00	Rupees Forty Five Thousand Zero Zero Only
4.059	OD157572/2022-2023 - Supply and fixing of 500 litre PVC tank	1500.000	Litre	6.50	9750.00	Rupees Nine Thousand Seven Hundred Fifty Zero Only
4.060	OD158236/2022-2023 - Submitting application to KSEBLfor power connection and power extension including preparation of drawing obtaining approval for drawings arranging inspection and obtaining power connection(necessary statutory fee will be paid by KWA)	3.000	L.S	3000.00	9000.00	Rupees Nine Thousand Zero Zero Only
5	Construction of 0.4LL capaci Thayanamkudi zone, Nellipe					
5.001	2.6.1 - Earth work in excavation by mechanical means (Hydraulic excavator)/manual means over areas (exceeding 30 cm in depth, 1.5 m in width as well as 10 sqm on plan) including disposal of excavated earth, lead up to 50 m and lift up to 1.5 m, disposed earth to be levelled and neatly dressed. All kinds of soil	236.817	cum	240.00	56836.08	Rupees Fifty Six Thousand Eight Hundred Thirty Six And Eight paise Only
5.002	OD132261/2022-2023 - DOWEL BARS_ Supplying and providing MS dowel bars of size 16 mm dia, 200 cm long including drilling holes of 20 mm dia to a depth of 100 cm in rock and filling the gap with cement grout (0.100kg/hole) etc complete	900.000	no	440.00	396000.00	Rupees Three Lakh Ninety Six Thousand Zero Zero Only
5.003	4.1.3 - Providing and laying	59.408	cum	9100.00	540612.80	Rupees Five



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level:1:2:4 (cement: 2 coarse sand (zone-III): 4 graded stone aggregate 20 mm nominal size)					Lakh Forty Zero Thousand Six Hundred Twelve And Eighty Zero paise Only
5.004	5.1.2 - Providing and laying in position specified grade of reinforced cement concrete, excluding the cost of centering, shuttering, finishing and reinforcement - All work up to plinth level:1:1:5:3 (1 cement 1.5 coarse sand :3 graded stone aggregate 20 mm nominal size	12.717	cum	10200.00	129713.40	Rupees One Lakh Twenty Nine Thousand Seven Hundred Thirteen And Forty Zero paise Only
5.005	5.9.1 - Centering and shuttering including strutting, etc. and removal of form for:Foundations, footings, bases of columns, etc for mass concrete	56.520	sqm	380.00	21477.60	Rupees Twenty One Thousand Four Hundred Seventy Seven And Sixty Zero paise Only
5.006	5.22.6 - Steel reinforcement for R.C.C work including straightening, cutting, bending, placing in position and binding all complete upto plinth levelThermo - Mechanically Treated bars of grade Fe-500D or more	ePL/	m	112.00	170916.48	Rupees One Lakh Seventy Zero Thousand Nine Hundred Sixteen And Forty Eight paise Only
5.007	OD124031/2022-2023 - Supplying, conveying and filling sand inside the platform for steel tank	22.259	cum	2000.00	44518.00	Rupees Forty Four Thousand Five Hundred Eighteen Only
5.008	OD124032/2022-2023 - Supply, installation and commissioning of a preengineered, pre-fabricated, factory manufactured steel storage Water Tank having a capacity of 40000 L, thickness of 0.6 mm, in multiple layers required height and multiple-layered PE sheet/membrane for the inner containment liner. The Tank Shell / Body & Decent of the Liner material shall be manufactured in a facility certified and compliant to ISO 9001 - 2000 standards. The Tank shall be supplied with access points, penetrations for inlets, outlets, drains and fittings, overflow and drain, high and low water level	200000.000	Litre	22.00	4400000.00	Rupees Forty Four Lakh Zero Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	indicators. All connections to the tanks shall be with flanged or threaded nozzles, placed to the KWA water mains TANK ROOF: The roof of the tank shall be of corrugated Galvalume sheet steel and shall be domed, with heavyduty Hot-dip Galvanized truss frame for support, and capable of supporting 4-5 persons for maintenance and cleaning and tank shall have an access hatch with cover, on the roof, for operation and Maintenance TANK COVER: Tank covers shall be of approved galvanized vermin proof construction. Roof ends shall be fitted with suitable vermin-proofing tape or other material, to prevent ingress of dust and foreign objects. Covers shall be firmly fixed to the top edge of the tank with galvanized bolts and nuts. LADDERS: Tanks shall be provided with Hot-dip Galvanized ladders internally or externally. External roof supports shall be of an appropriately designed Hot-dip galvanized Steel construction. Tanks shall comply with relevant spill level, air gap and overflow requirements relative to Effective Capacity. All nuts and bolts used for the panels shall be a minimum of 12mm size and hot-dip galvanized/Case hardened. The tank shall have a circular angle fixed around the total circumference of the tanks, at the top, of minimum 2 mm thickness. Tanks shall be properly flushed out with clean water prior to being brought into service TANK DIMENSIONS: The height of the Tank shall be of 3.6m. DESIGN LIFE: The tanks shall have a design life of 40 y e a r s. T A N K CONNECTIONS: Standard design inlet, outlet, overflow and scour valves should be provided. ii) Overflow connection including an Internal		TFORM BLIC W	POR THE MANA	E DENIENT	words
	approved bell-mouth shaped					



bends to maximize the overflow capacity. iii) One	NT in
(1) scour drain outlet from the floor of the tank with isolation valve. TANK LINERS:Tank liners shall be purpose-designed and manufactured and shall comply to AS/NZS 4020 (Appendix A pof 2005 and ANSI/NSF 61 - 2008, Section 5 Certificates of compliance to above standards shall be furnished by the manufacturer of the tanks. Tank liners shall: i) Be factory manufactured to one-piece construction, fabricated from multi-layer PE sheet, certified for potable drinking water, to (ANSI/NSF 61) and duly UV Stabilized, ii) Be of PE (polyethylene) in multi-layer ronstruction for strength, reinforced with woven scrim industrial fabric to prevent elongation and enhance tensile strength. The total liner material thickness shall be no less than 206 N (warp) and 2495 N (weft) and heat scaling strength of 2056 N v) All the liner welded lap joints shall be strengthened with M et alloce ne encapsulating tape welded over the overlap, vi) The Metallocene tape shall cover and protect the exposed material at the edges of the liner joints to further prevent the ingress of water into the scrim. vii) Liners shall be positively and continuously attached to the top outer edge of the circumference of the tank to prevent entry of water from the runoff from the roof structure. viii) All liners on tanks over 2m in height shall have a continuous intermediate liner support designed out of rylon (or other material) corresponding to the level of each ring, ix) The intermediate liner support cords shall be firmly secured to the test shell ener support cords shall be firmly secured to the test, shall be firmly secured to the test shell at each level,	ds



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	to prevent stress on the liner welded joints, and thereby eliminate possibility of failure C O R R O S S I O N PROTECTION. The tank structure shall have a secondary corrosion protection system using sacrificial magnesium anodes. The number of anodes, their location around the tank and the mass of each anode shall be designed for anode replacement frequency of five years. The anodes shall be installed external to the tank and concrete apron with their location marked with a suitably label-Cost for Tank steel with 10years guarantee includes shel l,Steel wall,steel domed roof,Zinc Alum steel',Cost for Poly ethylene infinity liner, Geo synthetic Fibre withfood grade plastics are used for inside coating and Support Arrangements,Cost for Fabricated items,attachments and accessories like steel ladder,Cost of Fabricated nozzles,over flow nozzles and drain arrangements, Cost for HDG nut and bolts,Freight Charges,Erection Installation and commissioning of tank components.		THORM WITH WAR	POR THE MANA	DEMENT	
5.009	7.1.1 - Random rubble masonry with hard stone in foundation and plinth including levelling up with cement concrete 1:6:12 (1 cement: 6 coarse sand: 12 graded stone aggregate 20 mm nominal size) up to plinth level with:Cement mortar 1:6 (1 cement: 6 coarse sand)	22.950	cum	8200.00	188190.00	Rupees One Lakh Eighty Eight Thousand One Hundred Ninety Zero Only
5.010	50.6.1.2 - Solid block masonry using pre cast solid blocks (Factory made) of size 40x20x20cm or nearest available size confirming to IS 2185 part I of 1979 for super structure up to floor two level thickness 20cm and above in: CM 1:6 (1 cement: 6 coarse sand) etc complete.	51.000	cum	7300.00	372300.00	Rupees Three Lakh Seventy Two Thousand Three Hundred Zero Only
5.011	13.1.1 - 12 mm cement plaster of mix:1:4 (1 cement : 4 fine sand)	544.000	sqm	350.00	190400.00	Rupees One Lakh Ninety Zero Thousand



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
						Four Hundred Zero Only
5.012	13.43.1 - Applying one coat of water thinnable cement primer of approved brand and manufacture on wall surface: Water thinnable cement primer	544.000	sqm	80.00	43520.00	Rupees Forty Three Thousand Five Hundred Twenty Only
5.013	13.60.1 - Wall painting with acrylic emulsion paint of approved brand and manufacture to give an even shade: Two or more coats on new work	544.000	sqm	160.00	87040.00	Rupees Eighty Seven Thousand Zero Forty Zero Only
5.014	10.25.2 - Item Shifted to Sub head 14 as item 14.73 Item Shifted to head 14 as item 14.74 Steel work welded in built up sections/framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required.In gratings, frames, guard bar, ladder, railings, brackets, gates and similar works	750.000	kg	170.00	127500.00	Rupees One Lakh Twenty Seven Thousand Five Hundred Zero Only
5.015	13.48.3 - Finishing with Deluxe Multi surface paint system for interiors and exteriors using primer as per m a n u f a c t u r e r s specifications:Painting Steel work with Deluxe Multi Surface Paint to give an even shade. Two or more coat applied @ 0.90 ltr/10 sqm over an under coat of primer applied @ 0.80 ltr/10 sqm of a p p r o v e d b r a n d manufacture	22.500	sqm	160.00	3600.00	Rupees Three Thousand Six Hundred Zero Only
6	Construction of 0.35LL capa	city steel tanl	at Kari	mutti bridge for	Alampetti zone	
6.001	2.6.1 - Earth work in excavation by mechanical means (Hydraulic excavator)/manual means over areas (exceeding 30 cm in depth, 1.5 m in width as well as 10 sqm on plan) including disposal of excavated earth, lead up to 50 m and lift up to 1.5 m, disposed earth to be levelled and neatly dressed. All kinds of soil	25.313	cum	245.00	6201.69	Rupees Six Thousand Two Hundred One And Sixty Nine paise Only
6.002	4.1.3 - Providing and laying	8.438	cum	9000.00	75942.00	Rupees Seventy



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level:1:2:4 (cement: 2 coarse sand (zone-III): 4 graded stone aggregate 20 mm nominal size)					Five Thousand Nine Hundred Forty Two Only
6.003	5.1.2 - Providing and laying in position specified grade of reinforced cement concrete, excluding the cost of centering, shuttering, finishing and reinforcement - All work up to plinth level:1:1:5:3 (1 cement 1.5 coarse sand :3 graded stone aggregate 20 mm nominal size	3.116	cum	10200.00	31783.20	Rupees Thirty One Thousand Seven Hundred Eighty Three And Twenty Zero paise Only
6.004	5.9.1 - Centering and shuttering including strutting, etc. and removal of form for:Foundations, footings, bases of columns, etc for mass concrete	13.848	sqm	380.00	5262.24	Rupees Five Thousand Two Hundred Sixty Two And Twenty Four paise Only
6.005	5.22.6 - Steel reinforcement for R.C.C work including straightening, cutting, bending, placing in position and binding all complete upto plinth levelThermo - Mechanically Treated bars of grade Fe-500D or more	373.920	kilogra m		41879.04	Rupees Forty One Thousand Eight Hundred Seventy Nine And Four paise Only
6.006	OD124043/2022-2023 - Supplying, coveying & amp; filling sand inside the platform for steel tank	6.995	cum	2000.00	13990.00	Rupees Thirteen Thousand Nine Hundred Ninety Zero Only
6.007	OD124044/2022-2023 - Supply ,installation and commissioning of a preengineered, pre-fabricated, factory manufactured steel storage Water Tank having a capacity of 35000 L thickness of 0.6 mm, in multiple layers and required height and multiple-layered PE sheet/membrane for the inner containment liner. The Tank Shell / Body & Description of the inner material shall be manufactured in a facility certified and compliant to ISO 9001 - 2000 standards. The Tank shall be supplied with access points, penetrations for inlets, outlets, drains and fittings, overflow and drain, high and low water level	35000.000	Litre	22.00	770000.00	Rupees Seven Lakh Seventy Zero Thousand Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	indicators. All connections to the tanks shall be with flanged or threaded nozzles, placed to the KWA water mains TANK ROOF: The roof of the tank shall be of corrugated Galvalume sheet steel and shall be domed, with heavyduty Hot-dip Galvanized truss frame for support, and capable of supporting 4-5 persons for maintenance and cleaning and tank shall have an access hatch with cover, on the roof, for operation and Maintenance TANK COVER: Tank covers shall be of approved galvanized vermin proof construction. Roof ends shall be fitted with suitable vermin-proofing tape or other material, to prevent ingress of dust and foreign objects. Covers shall be firmly fixed to the top edge of the tank with galvanized bolts and nuts. LADDERS: Tanks shall be provided with Hot-dip Galvanized ladders internally or externally. External roof supports shall be of an appropriately designed Hot-dip galvanized Steel construction. Tanks shall comply with relevant spill level, air gap and overflow requirements relative to Effective Capacity. All nuts and bolts used for the panels shall be a minimum of 12mm size and hot-dip galvanized/Case hardened. The tank shall have a circular angle fixed around the total circumference of the tanks, at the top, of minimum 2 mm thickness. Tanks shall be properly flushed out with clean water prior to being brought into service TANK DIMENSIONS: The height of the Tank shall be of 2.20m. DESIGN LIFE: The tanks shall have a design life of 40 y e a r s. T A N K CONNECTIONS: Standard design inlet, outlet, overflow and scour valves should be provided. ii) Overflow connection including an Internal		TFORM BLIC W	POR THE MANA	DEMENT	words
	approved bell-mouth shaped					



bends to maximize the overflow capacity. iii) One (1) scour drain outlet from the	TOTAL IOUNT in words
floor of the tank with isolation valve. TANK LINERS:Tank liners shall be purpose-designed and manufactured and shall comply to AS/NZS 4020 (Appendix A)of 2005 and ANSI/NSF 61 - 2008. Section 5 Certificates of compliance to above standards shall be furnished by the manufacturer of the tanks. Tank liners shall: i) Be factory manufactured to one-piece construction. fabricated from multi-layer PF sheet. certified for potable drinking water, to (ANSI/NSF 61) and duly UV Stabilized. ii) Be of PE (polyethylene) in multi-layer construction for strength, reinforced with woven scrim industrial fabric to prevent clongation and enhance tensile strength. The total liner material thickness shall be no less than 2266 N (warp) and 2495 N (weth) and heat sealing strength of 2056 N v) All the liner welded lap joints shall be strengthened with Metallocene tape shall cover and protect the exposed material at the edges of the liner joints to further prevent the ingress of water into the scrim. vii) Liners shall be positively and continuously attached to the top outer edge of the circumference of the tank to prevent entry of water from the runoff from the roof structure. viii) All liners on tanks over 2m in height shall h ave a continuous intermediate liner support designed out of nylon (or other material) to the level, in the liner proport cords shall be firmly secured to the test shell at each level,	words



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	to prevent stress on the liner welded joints, and thereby eliminate possibility of failure C O R R O S S I O N PROTECTION. The tank structure shall have a secondary corrosion protection system using sacrificial magnesium anodes. The number of anodes, their location around the tank and the mass of each anode shall be designed for anode replacement frequency of five years. The anodes shall be installed external to the tank and concrete apron with their location marked with a suitably label-Cost for Tank steel with 10 years guarantee includes shell, Steel wall, steel domed roof, Zinc Alum steel & #39;, Cost for Poly ethylene infinity liner, Geo synthetic Fibre withfood grade plastics are used for inside coating and Support Arrangements, Cost for Fabricated items, attachments and accessories like steel ladder, Cost of Fabricated nozzles, over flow nozzles and drain arrangements, Cost for HDG nut and bolts, Freight Charges, Erection Installation and commissioning of tank components.	i F	CTF-OFIMA JIBLIE W	POR THE MANA	SEMENT	
6.008	2.8.1 - Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5 m in width or 10 sqm on plan), including dressing of sides and ramming of bottoms, lift up to 1.5 m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50 m.All kinds of soil	5.940	cum	335.00	1989.90	Rupees One Thousand Nine Hundred Eighty Nine And Ninety Zero paise Only
6.009	7.1.1 - Random rubble masonry with hard stone in foundation and plinth including levelling up with cement concrete 1:6:12 (1 cement: 6 coarse sand: 12 graded stone aggregate 20 mm nominal size) up to plinth level with:Cement mortar 1:6 (1 cement: 6 coarse sand)		cum	8200.00	48708.00	Rupees Forty Eight Thousand Seven Hundred Eight Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
6.010	50.6.1.2 - Solid block masonry using pre cast solid blocks (Factory made) of size $40x20x20cm$ or nearest available size confirming to IS 2185 part I of 1979 for super structure up to floor two level thickness 20cm and above in: CM 1:6 (1 cement: 6 coarse sand) etc complete.	13.200	cum	7250.00	95700.00	Rupees Ninety Five Thousand Seven Hundred Zero Only
6.011	13.1.1 - 12 mm cement plaster of mix:1:4 (1 cement : 4 fine sand)	140.800	sqm	350.00	49280.00	Rupees Forty Nine Thousand Two Hundred Eighty Zero Only
6.012	13.43.1 - Applying one coat of water thinnable cement primer of approved brand and manufacture on wall surface: Water thinnable cement primer	140.800	sqm	80.00	11264.00	Rupees Eleven Thousand Two Hundred Sixty Four Only
6.013	13.60.1 - Wall painting with acrylic emulsion paint of approved brand and manufacture to give an even shade: Two or more coats on new work	140.800	sqm	170.00	23936.00	Rupees Twenty Three Thousand Nine Hundred Thirty Six Only
6.014	10.25.2 - Item Shifted to Sub head 14 as item 14.73 Item Shifted to head 14 as item 14.74 Steel work welded in built up sections/framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required.In gratings, frames, guard bar, ladder, railings, brackets, gates and similar works	150.000	kg	170.00	25500.00	Rupees Twenty Five Thousand Five Hundred Zero Only
6.015	13.48.3 - Finishing with Deluxe Multi surface paint system for interiors and exteriors using primer as per m a n u f a c t u r e r s specifications:Painting Steel work with Deluxe Multi Surface Paint to give an even shade. Two or more coat applied @ 0.90 ltr/10 sqm over an under coat of primer applied @ 0.80 ltr/10 sqm of approved brand and manufacture	4.500	sqm	165.00	742.50	Rupees Seven Hundred Forty Two And Fifty Zero paise Only
7	Consttuction of 0.5 LL capac	ity steel tank	at Periy	akudi and Kuthu	kalkudi road Bo	oster
7.001	2.31 - Clearing jungle	121.000	sqm	16.00	1936.00	Rupees One



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	including uprooting of rank vegetation, grass, brush wood, trees and saplings of girth up to 30 cm measured at a height of 1 m above ground level and removal of rubbish up to a distance of 50 m outside the periphery of the area cleared					Thousand Nine Hundred Thirty Six Only
7.002	2.6.1 - Earth work in excavation by mechanical means (Hydraulic excavator)/manual means over areas (exceeding 30 cm in depth, 1.5 m in width as well as 10 sqm on plan) including disposal of excavated earth, lead up to 50 m and lift up to 1.5 m, disposed earth to be levelled and neatly dressed. All kinds of soil	32.626	cum	240.00	7830.24	Rupees Seven Thousand Eight Hundred Thirty Zero And Twenty Four paise Only
7.003	4.1.3 - Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level:1:2:4 (cement: 2 coarse sand (zone-III): 4 graded stone aggregate 20 mm nominal size)	F	cum	9000.00	97884.00	Rupees Ninety Seven Thousand Eight Hundred Eighty Four Only
7.004	5.1.2 - Providing and laying in position specified grade of reinforced cement concrete, excluding the cost of centering, shuttering, finishing and reinforcement - All work up to plinth level:1:1:5:3 (1 cement 1.5 coarse sand :3 graded stone aggregate 20 mm nominal size	5.087	cum	10000.00	50870.00	Rupees Fifty Zero Thousand Eight Hundred Seventy Zero Only
7.005	5.9.1 - Centering and shuttering including strutting, etc. and removal of form for:Foundations, footings, bases of columns, etc for mass concrete	22.608	sqm	370.00	8364.96	Rupees Eight Thousand Three Hundred Sixty Four And Ninety Six paise Only
7.006	5.22.6 - Steel reinforcement for R.C.C work including straightening, cutting, bending, placing in position and binding all complete upto plinth levelThermo - Mechanically Treated bars of grade Fe-500D or more	610.440	kilogra m	112.00	68369.28	Rupees Sixty Eight Thousand Three Hundred Sixty Nine And Twenty Eight paise Only
7.007	OD124035/2022-2023 - Supplying, coveying & coveying & samp; filling sand inside the platform for steel tank	8.904	cum	2000.00	17808.00	Rupees Seventeen Thousand Eight Hundred Eight



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
						Only
7.008	OD124034/2022-2023 - Supply, installation and commissioning of a preengineered, pre-fabricated, factory manufactured steel storage Water Tank having a capacity of 50000 L, thickness of 0.6 mm, in multiple layers, required height and multiple-layered PE sheet/membrane for the inner containment liner. The Tank Shell / Body & Description of the inner containment liner. The Tank Shell / Body & Description of the inner containment liner. The Tank Shell / Body & Description of the Liner material shall be manufactured in a facility certified and compliant to ISO 9001 - 2000 standards. The Tank shall be supplied with access points, penetrations for inlets, outlets, drains and fittings, overflow and drain, high and low water level indicators. All connections to the tanks shall be with flanged or threaded nozzles, placed to the KWA water mains TANK ROOF: The roof of the tank shall be of corrugated Galvalume sheet steel and shall be domed, with heavyduty Hot-dip Galvanized truss frame for support, and capable of supporting 4-5 persons for maintenance and cleaning and tank shall have an access hatch with cover, on the roof, for operation and Maintenance TANK COVER: Tank covers shall be of approved galvanized vermin proof construction. Roof ends shall be fitted with suitable vermin-proofing tape or other material, to prevent ingress of dust and foreign objects. Covers shall be firmly fixed to the top edge of the tank with galvanized bolts and nuts. LADDERS: Tanks shall be provided with Hot-dip Galvanized steel construction. Tanks shall comply with relevant spill level, air gap and overflow requirements relative to Effective Capacity.	100000.000	Litre	19.00	1900000.00	_



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	All nuts and bolts used for the panels shall be a minimum of 12mm size and hot-dip galvanized/Case hardened. The tank shall have a circular angle fixed around the total circumference of the tanks, at the top, of minimum 2 mm thickness. Tanks shall be properly flushed out with clean water prior to being brought into service TANK DIMENSIONS: The height of the Tank shall be of 4.3m. DESIGN LIFE: The tanks shall have a design life of 40 y e a r s . T A N K CONNECTIONS: Standard design inlet, outlet, overflow and scour valves should be provided. ii) Overflow connection including an Internal approved bell-mouth shaped bends to maximize the overflow capacity. iii) One (1) scour drain outlet from the floor of the tank with isolation valve. TANK LINERS: Tank liners shall be purposedesigned and manufactured and shall comply to AS/NZS 4020 (Appendix A)of 2005 and ANSI/NSF 61 - 2008, Section 5 Certificates of compliance to above standards shall be furnished by the manufactured to onepiece construction, fabricated from multi-layer PE sheet, certified for potable drinking water, to (ANSI/ NSF 61) and duly UV Stabilized. ii) Be of PE (polyethylene) in multi-layer construction for strength, reinforced with woven scrim industrial fabric to prevent elongation and enhance tensile strength. The total liner material thickness shall be no less than 0.6 mm thick. The tensile strength shall not be less than 2266 N (warp) and 2495 N (weft) and heat sealing strength of 2056 N v) All the liner welded lap joints shall be strengthened with Metalloce ne encapsulating tape welded		ATFORM WILLIE WI	POR THE MANA	E	
	with Metallocene					



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	Metallocene tape shall cover and protect the exposed material at the edges of the liner joints to further prevent the ingress of water into the scrim. vii) Liners shall be positively and continuously attached to the top outer edge of the circumference of the tank to prevent entry of water from the runoff from the roof structure. viii) All liners on tanks over 2m in height shall have a continuous intermediate liner support designed out of nylon (or other material)cord, around the circumference of the tank, at vertical intervals corresponding to the level of each ring. ix) The intermediate liner support cords shall be firmly secured to the steel shell at each level, to prevent stress on the liner welded joints, and thereby eliminate possibility of failure C O R R O S S I O N PROTECTION. The tank structure shall have a secondary corrosion protection system using sacrificial magnesium anodes. The number of anodes, their location around the tank and the mass of each anode shall be designed for anode replacement frequency of five years. The anodes shall be installed external to the tank and concrete apron with their location marked with a suitably label-Cost for Tank steel with 10 years guarantee includes shell, steel wall, steel domed roof, Zinc Alum steel',Cost for Poly ethylene infinity liner, Geo synthetic Fibre withfood grade plastics are used for inside coating and Support Arangements, Cost for Fabricated items, attachments and accessories like steel ladder, Cost of Fabricated nozzles, over flow nozzles and drain arrangements, Cost for Fabricated items, Erection Installation and commissioning of tank components.	OF		POR THE MANAGES	SEMENT	



Sl No		No. or Qty.	Unit	Accepted Rate	TOTAL	TOTAL
	Description of work			-	AMOUNT	AMOUNT in words
7.009	2.8.1 - Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5 m in width or 10 sqm on plan), including dressing of sides and ramming of bottoms, lift up to 1.5 m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50 m.All kinds of soil	12.798	cum	330.00	4223.34	Rupees Four Thousand Two Hundred Twenty Three And Thirty Four paise Only
7.010	7.1.1 - Random rubble masonry with hard stone in foundation and plinth including levelling up with cement concrete 1:6:12 (1 cement: 6 coarse sand: 12 graded stone aggregate 20 mm nominal size) up to plinth level with:Cement mortar 1:6 (1 cement: 6 coarse sand)	12.798	cum	8100.00	103663.80	Rupees One Lakh Three Thousand Six Hundred Sixty Three And Eighty Zero paise Only
7.011	50.6.1.2 - Solid block masonry using pre cast solid blocks (Factory made) of size 40x20x20cm or nearest available size confirming to IS 2185 part I of 1979 for super structure up to floor two level thickness 20cm and above in: CM 1:6 (1 cement: 6 coarse sand) etc complete.	28.440	cum	7200.00	204768.00	Rupees Two Lakh Four Thousand Seven Hundred Sixty Eight Only
7.012	13.1.1 - 12 mm cement plaster of mix:1:4 (1 cement : 4 fine sand)	303.360	sqm	350.00	106176.00	Rupees One Lakh Six Thousand One Hundred Seventy Six Only
7.013	13.43.1 - Applying one coat of water thinnable cement primer of approved brand and manufacture on wall surface: Water thinnable cement primer	303.360	sqm	80.00	24268.80	Rupees Twenty Four Thousand Two Hundred Sixty Eight And Eighty Zero paise Only
7.014	13.60.1 - Wall painting with acrylic emulsion paint of approved brand and manufacture to give an even shade: Two or more coats on new work	303.360	sqm	160.00	48537.60	Rupees Forty Eight Thousand Five Hundred Thirty Seven And Sixty Zero paise Only
7.015	10.25.2 - Item Shifted to Sub head 14 as item 14.73 Item Shifted to head 14 as item 14.74 Steel work welded in built up sections/framed work, including cutting, hoisting,	300.000	kg	170.00	51000.00	Rupees Fifty One Thousand Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required. In gratings, frames, guard bar, ladder, railings, brackets, gates and similar works					
7.016	13.48.3 - Finishing with Deluxe Multi surface paint system for interiors and exteriors using primer as per m a n u f a c t u r e r s specifications:Painting Steel work with Deluxe Multi Surface Paint to give an even shade. Two or more coat applied @ 0.90 ltr/10 sqm over an under coat of primer applied @ 0.80 ltr/10 sqm of a pproved brand and manufacture	9.000	sqm	160.00	1440.00	Rupees One Thousand Four Hundred Forty Zero Only
8	Construction of 0.3 LL capac	ity steel at K	uthukall	kudi		
8.001	2.6.1 - Earth work in excavation by mechanical means (Hydraulic excavator)/manual means over areas (exceeding 30 cm in depth, 1.5 m in width as well as 10 sqm on plan) including disposal of excavated earth, lead up to 50 m and lift up to 1.5 m, disposed earth to be levelled and neatly dressed. All kinds of soil	e PU	cum	240.00	E	Rupees Four Thousand Five Hundred Sixty Three And Twelve paise Only
8.002	4.1.3 - Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level:1:2:4 (cement: 2 coarse sand (zone-III): 4 graded stone aggregate 20 mm nominal size)	6.338	cum	9100.00	57675.80	Rupees Fifty Seven Thousand Six Hundred Seventy Five And Eighty Zero paise Only
8.003	5.1.2 - Providing and laying in position specified grade of reinforced cement concrete, excluding the cost of centering, shuttering, finishing and reinforcement - All work up to plinth level:1:1:5:3 (1 cement 1.5 coarse sand :3 graded stone aggregate 20 mm nominal size	2.480	cum	10250.00	25420.00	Rupees Twenty Five Thousand Four Hundred Twenty Only
8.004	5.9.1 - Centering and shuttering including strutting, etc. and removal of form	11.022	sqm	380.00	4188.36	Rupees Four Thousand One Hundred Eighty



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	for:Foundations, footings, bases of columns, etc for mass concrete					Eight And Thirty Six paise Only
8.005	5.22.6 - Steel reinforcement for R.C.C work including straightening, cutting, bending, placing in position and binding all complete upto plinth levelThermo - Mechanically Treated bars of grade Fe-500D or more	297.600	kilogra m	112.00	33331.20	Rupees Thirty Three Thousand Three Hundred Thirty One And Twenty Zero paise Only
8.006	OD124037/2022-2023 - Supplying, coveying & amp; filling sand inside the platform for steel tank	4.205	cum	2000.00	8410.00	Rupees Eight Thousand Four Hundred Ten Only
8.007	OD124038/2022-2023 - Supply, installation and commissioning of a preengineered, pre-fabricated, factory manufactured steel storage Water Tank having a capacity of 30000 L, thickness of 0.6 mm, in multiple layers, required capacity and height and multiple-layered PE sheet/membrane for the inner containment liner. The Tank Shell / Body & De amplied with access points, penetrations for inlets, outlets, drains and fittings, overflow and drain, high and low water level indicators. All connections to the tanks shall be with flanged or threaded nozzles, placed to the KWA water mains TANK ROOF: The roof of the tank shall be of corrugated Galvalume sheet steel and shall be domed, with heavyduty Hot-dip Galvanized truss frame for support, and capable of supporting 4-5 persons for maintenance and cleaning and tank shall have an access hatch with cover, on the roof, for operation and Maintenance TANK COVER: Tank covers shall be of approved galvanized vermin proof construction. Roof ends shall be fitted with suitable vermin-proofing tape or other material, to prevent ingress of	30000.000	Litre		720000.00	Rupees Seven Lakh Twenty Thousand Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	dust and foreign objects. Covers shall be firmly fixed to the top edge of the tank with galvanized bolts and nuts. LADDERS: Tanks shall be provided with Hot-dip Galvanized ladders internally or externally. External roof supports shall be of an appropriately designed Hot-dip galvanized Steel construction. Tanks shall comply with relevant spill level, air gap and overflow requirements relative to Effective Capacity. All nuts and bolts used for the panels shall be a minimum of 12mm size and hot-dip galvanized/Case hardened. The tank shall have a circular angle fixed around the total circumference of the tanks, at the top, of minimum 2 mm thickness. Tanks shall be properly flushed out with clean water prior to being brought into service TANK DIMENSIONS: The height of the Tank shall be 2.90 m. DESIGN LIFE: The tanks shall have a design life of 40 y e a r s. T A N K CONNECTIONS: Standard design inlet,outlet,overflow and scour valves should be provided. ii) Overflow connection including an Internal approved bell-mouth shaped bends to maximize the overflow capacity. iii) One (1) scour drain outlet from the floor of the tank with isolation valve.TANK LINERS:Tank liners shall be purposedesigned and manufactured and shall comply to AS/NZS 4020 (Appendix A)of 2005 and ANSI/NSF 61 - 2008, Section 5 Certificates of compliance to above standards shall be furnished by the manufactured to onepiece construction, fabricated from multi-layer PE sheet, certified for potable drinking water, to (ANSI/NSF 61) and duly UV Stabilized. ii) Be of PE (polyethylene) in multi-	C PLA	THORN WITH THE WITH T	POR THE MANA		words



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	layer construction for strength, reinforced with woven scrim industrial fabric to prevent elongation and enhance tensile strength. The total liner material thickness shall be no less than 0.6 mm thick. The tensile strength shall not be less than 2266 N (warp) and 2495 N (weft) and heat sealing strength of 2056 N v) All the liner welded lap joints shall be strengthened with Metallocene tape welded over the overlap. vi) The Metallocene tape shall cover and protect the exposed material at the edges of the liner joints to further prevent the ingress of water into the scrim. vii) Liners shall be positively and continuously attached to the top outer edge of the circumference of the tank to prevent entry of water from the runoff from the roof structure. viii) All liners on tanks over 2m in height shall have a continuous intermediate liner support designed out of nylon (or other material)cord, around the circumference of the tank, at vertical intervals corresponding to the level of each ring. ix) The intermediate liner support cords shall be firmly secured to the steel shell at each level, to prevent stress on the liner welded joints, and thereby eliminate possibility of failure CORRON. The tank structure shall have a secondary corrosion protection system using sacrificial magnesium anodes. The number of anodes, their location around the tank and the mass of each anode shall be designed for anode replacement frequency of five years. The anodes shall be installed external to the tank and concrete apron with their location marked with a suitably label-Cost for Tank steel with 10 years guarantee includes shell, Steel wall, steel domed roof, Zinc Alum	e PLA	THORM WILLIAM	FOR THE MANAGED IN	DEMENT	



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	steel',Cost for Poly ethylene infinity liner, Geo synthetic Fibre withfood grade plastics are used for inside coating and Support Arrangements,Cost for Fabricated items,attachments and accessories like steel ladder,Cost of Fabricated nozzles,over flow nozzles and drain arrangements, Cost for HDG nut and bolts,Freight Charges,Erection Installation and commissioning of tank components.					
8.008	2.8.1 - Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5 m in width or 10 sqm on plan), including dressing of sides and ramming of bottoms, lift up to 1.5 m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50 m.All kinds of soil	5.940	cum	340.00	2019.60	Rupees Two Thousand Zero Nineteen And Sixty Zero paise Only
8.009	7.1.1 - Random rubble masonry with hard stone in foundation and plinth including levelling up with cement concrete 1:6:12 (1 cement: 6 coarse sand: 12 graded stone aggregate 20 mm nominal size) up to plinth level with:Cement mortar 1:6 (1 cement: 6 coarse sand)	5.940	cum	8200.00	48708.00	Rupees Forty Eight Thousand Seven Hundred Eight Only
8.010	50.6.1.2 - Solid block masonry using pre cast solid blocks (Factory made) of size 40x20x20cm or nearest available size confirming to IS 2185 part I of 1979 for super structure up to floor two level thickness 20cm and above in: CM 1:6 (1 cement: 6 coarse sand) etc complete.	13.200	cum	7400.00	97680.00	Rupees Ninety Seven Thousand Six Hundred Eighty Zero Only
8.011	13.1.1 - 12 mm cement plaster of mix:1:4 (1 cement : 4 fine sand)	140.800	sqm	350.00	49280.00	Rupees Forty Nine Thousand Two Hundred Eighty Zero Only
8.012	13.43.1 - Applying one coat of water thinnable cement primer of approved brand and manufacture on wall surface:Water thinnable	140.800	sqm	80.00	11264.00	Rupees Eleven Thousand Two Hundred Sixty Four Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
8.013	cement primer 13.60.1 - Wall painting with acrylic emulsion paint of approved brand and manufacture to give an even shade: Two or more coats on new work	140.800	sqm	170.00	23936.00	Rupees Twenty Three Thousand Nine Hundred Thirty Six Only
8.014	10.25.2 - Item Shifted to Sub head 14 as item 14.73 Item Shifted to head 14 as item 14.74 Steel work welded in built up sections/framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required.In gratings, frames, guard bar, ladder, railings, brackets, gates and similar works	150.000	kg	170.00	25500.00	Rupees Twenty Five Thousand Five Hundred Zero Only
8.015	13.48.3 - Finishing with Deluxe Multi surface paint system for interiors and exteriors using primer as per m a n u f a c t u r e r s specifications:Painting Steel work with Deluxe Multi Surface Paint to give an even shade. Two or more coat applied @ 0.90 ltr/10 sqm over an under coat of primer applied @ 0.80 ltr/10 sqm of a p p r o v e d b r a n d manufacture	4.500	sqm	160.00	720.00	Rupees Seven Hundred Twenty Only
9	Construction of 0.25 LL capa guide stand break pressure	city steel tan	k at Ka	vakudi , Karshan	adu and near Ala	ampetti treck
9.001	2.6.1 - Earth work in excavation by mechanical means (Hydraulic excavator)/manual means over areas (exceeding 30 cm in depth, 1.5 m in width as well as 10 sqm on plan) including disposal of excavated earth, lead up to 50 m and lift up to 1.5 m, disposed earth to be levelled and neatly dressed. All kinds of soil	114.065	cum	240.00	27375.60	Rupees Twenty Seven Thousand Three Hundred Seventy Five And Sixty Zero paise Only
9.002	OD132372/2022-2023 - DOWEL BARS_ Supplying and providing MS dowel bars of size 16 mm dia , 200 cm long including drilling holes of 20 mm dia to a depth of 100 cm in rock and filling the gap with cement grout	600.000	no	450.00	270000.00	Rupees Two Lakh Seventy Zero Thousand Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	(0.100kg/hole) etc complete					
9.003	4.1.3 - Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level:1:2:4 (cement: 2 coarse sand (zone-III): 4 graded stone aggregate 20 mm nominal size)	30.101	cum	9100.00	273919.10	Rupees Two Lakh Seventy Three Thousand Nine Hundred Nineteen And Ten paise Only
9.004	5.1.2 - Providing and laying in position specified grade of reinforced cement concrete, excluding the cost of centering, shuttering, finishing and reinforcement - All work up to plinth level:1:1:5:3 (1 cement 1.5 coarse sand :3 graded stone aggregate 20 mm nominal size	7.821	cum	10250.00	80165.25	Rupees Eighty Zero Thousand One Hundred Sixty Five And Twenty Five paise Only
9.005	5.9.1 - Centering and shuttering including strutting, etc. and removal of form for:Foundations, footings, bases of columns, etc for mass concrete	34.759	sqm	380.00	13208.42	Rupees Thirteen Thousand Two Hundred Eight And Forty Two paise Only
9.006	5.22.6 - Steel reinforcement for R.C.C work including straightening, cutting, bending, placing in position and binding all complete upto plinth levelThermo - Mechanically Treated bars of grade Fe-500D or more	938.520	kilogra m	110.00	103237.20	Rupees One Lakh Three Thousand Two Hundred Thirty Seven And Twenty Zero paise Only
9.007	OD124061/2022-2023 - Supplying, coveying & amp; filling sand inside the platform for steel tank	14.119	cum	1900.00	26826.10	Rupees Twenty Six Thousand Eight Hundred Twenty Six And Ten paise Only
9.008	OD124062/2022-2023 - Supply, installation and commissioning of a preengineered, pre-fabricated, factory manufactured steel storage Water Tank having a capacity of 25000 L thichness of 0.6 mm, in multiple layers as required for the capacity and height of the tank and multiple-layered PE sheet/membrane for the inner containment liner. The Tank Shell / Body & Demanufactured in a facility certified and compliant to ISO 9001 - 2000 standards. The Tank shall be supplied with	75000.000	Litre	24.00	1800000.00	Rupees Eighteen Lakh Zero Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	access points, penetrations for inlets, outlets, drains and					
	fittings, overflow and drain,					
	high and low water level					
	indicators. All connections to					
	the tanks shall be with flanged					
	or threaded nozzles, placed to					
	the KWA water mains TANK					
	ROOF: The roof of the tank					
	shall be of corrugated					
	Galvalume sheet steel and					
	shall be domed, with heavy-					
	duty Hot-dip Galvanized truss frame for support, and					
	capable of supporting 4-5					
	persons for maintenance and					
	cleaning and tank shall have					
	an access hatch with cover, on					
1	the roof, for operation and					
	Maintenance TÂNK COVER		0.00	(·		
	:Tank covers shall be of		-52.5	-62		
	approved galvanized vermin		LIBOR	MIN .		
	proof construction. Roof ends		1486			
	shall be fitted with suitable		or the same	507		
	vermin-proofing tape or other material, to prevent ingress of				Comments of the Comments of th	
	dust and foreign objects.		10	g-		
	Covers shall be firmly fixed		0			
	to the top edge of the tank					
	with galvanized bolts and	980/	MEDITA	FOR THE MANA	DEMENT	
	nuts. LADDERS :Tanks shall	OFFER	JBLC W	06965		
	be provided with Hot-dip					
	Galvanized ladders					
	internally or externally.					
	External roof supports shall					
	be of an appropriately					
	designed Hot-dip galvanized Steel construction. Tanks					
	shall comply with relevant					
	spill level, air gap and					
	overflow requirements					
	relative to Effective Capacity.					
	All nuts and bolts used for the					
	panels shall be a minimum of					
	12mm size and hot-dip					
	galvanized/Case hardened. The tank shall have a circular					
1	angle fixed around the total					
1	circumference of the tanks, at					
1	the top, of minimum 2 mm					
1	thickness. Tanks shall be					
1	properly flushed out with					
1	clean water prior to being					
	brought into service TANK					
	DIMENSIONS: The height of					
	the Tank shall be of 2.20m					
	DESIGN LIFE: The tanks					
	shall have a design life of 40 y e a r s . T A N K					
	CONNECTIONS: Standard					
	design inlet, outlet, overflow					
	and scour valves should be					
1	1	i	ı		<u> </u>	J



Description of work AMOUNT AM	TOTAL IOUNT in words
provided. ii) Overflow connection including an Internal approved bell-mouth shaped bends to maximize the overflow capacity. iii) One (1) scour drain outlet from the floor of the tank with isolation valve. TANK LINERS: Tank liners shall be purpose-designed and manufactured and shall comply to AS/NZS 4020 (Appendix A) of 2005 and ANSI/NSF 61 - 2008, Section 5 Certificates of compliance to above standards shall be furnished by the manufactured to one-piece construction, fabricated from multi-layer PE sheet, certified for potable drinking water, to (ANSI/NSF 61) and duly UV Stabilized. ii) Be of PE (polyethylene) in multi-layer construction for strength, reinforced with woven scrim industrial fabric to prevent elongation and enhance tensile strength. The total liner material thickness shall be no less than 0.6 mm thick. The tensile strength shall not be less than 2266 N (warp) and 2495 N (weft) and heat scaling strength of 2056 N v) All the liner welded lap joints shall be strengthened with M et al 10 cen e encapsulating tape welded over the overlap, vi) The Metallocene tape shall cover and protect the exposed material at the edges of the liner joints to further prevent the ingress of water into the scrim. vii) Liners shall be positively and continuously attached to the top outer edge of the circumference of the tank to prevent entry of water from the runoff from the roof structure. viii) All liners on tanks over 2m in height shall have a continuously attached to the top outer edge of the ricremference of the tank to prevent entry of water from the runoff from the roof structure. viii) All liners on tanks over 2m in height shall have a continuously intermediate liner support designed out of nylon (or other material) cord, around	words



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	each ring. ix) The intermediate liner support cords shall be firmly secured to the steel shell at each level, to prevent stress on the liner welded joints, and thereby eliminate possibility of failure C O R R O S S I O N PROTECTION. The tank structure shall have a secondary corrosion protection system using sacrificial magnesium anodes. The number of anodes, their location around the tank and the mass of each anode shall be designed for anode replacement frequency of five years. The anodes shall be installed external to the tank and concrete apron with their location marked with a suitably label-Cost for Tank steel with 10 years guarantee includes shell, Steel wall, steel domed roof, Zinc Alum steel ', Cost for Poly ethylene infinity liner, Geo synthetic Fibre withfood grade plastics are used for inside coating and Support Arrangements, Cost for Fabricated items, attachments and accessories like steel ladder, Cost of Fabricated nozzles, over flow nozzles and drain arrangements, Cost for HDG nut and bolts, Freight Charges, Erection Installation and commissioning of tank components.		TFORM JELIC W	POR THE MANA	DEMENT	
9.009	2.8.1 - Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5 m in width or 10 sqm on plan), including dressing of sides and ramming of bottoms, lift up to 1.5 m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50 m.All kinds of soil	15.552	cum	330.00	5132.16	Rupees Five Thousand One Hundred Thirty Two And Sixteen paise Only
9.010	7.1.1 - Random rubble masonry with hard stone in foundation and plinth including levelling up with cement concrete 1:6:12 (1 cement: 6 coarse sand: 12	15.552	cum	8200.00	127526.40	Rupees One Lakh Twenty Seven Thousand Five Hundred Twenty Six And



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	graded stone aggregate 20 mm nominal size) up to plinth level with:Cement mortar 1:6 (1 cement : 6 coarse sand)					Forty Zero paise Only
9.011	50.6.1.2 - Solid block masonry using pre cast solid blocks (Factory made) of size 40x20x20cm or nearest available size confirming to IS 2185 part I of 1979 for super structure up to floor two level thickness 20cm and above in: CM 1:6 (1 cement: 6 coarse sand) etc complete.	34.560	cum	7300.00	252288.00	Rupees Two Lakh Fifty Two Thousand Two Hundred Eighty Eight Only
9.012	13.1.1 - 12 mm cement plaster of mix:1:4 (1 cement : 4 fine sand)	254.720	sqm	350.00	89152.00	Rupees Eighty Nine Thousand One Hundred Fifty Two Only
9.013	13.43.1 - Applying one coat of water thinnable cement primer of approved brand and manufacture on wall surface: Water thinnable cement primer	254.720	sqm	80.00	20377.60	Rupees Twenty Thousand Three Hundred Seventy Seven And Sixty Zero paise Only
9.014	13.60.1 - Wall painting with acrylic emulsion paint of approved brand and manufacture to give an even shade: Two or more coats on new work	254.720	sqm		40755.20	Rupees Forty Zero Thousand Seven Hundred Fifty Five And Twenty Zero paise Only
9.015	10.25.2 - Item Shifted to Sub head 14 as item 14.73 Item Shifted to head 14 as item 14.74 Steel work welded in built up sections/framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required.In gratings, frames, guard bar, ladder, railings, brackets, gates and similar works	450.000	kg	170.00	76500.00	Rupees Seventy Six Thousand Five Hundred Zero Only
9.016	13.48.3 - Finishing with Deluxe Multi surface paint system for interiors and exteriors using primer as per m a n u f a c t u r e r s specifications:Painting Steel work with Deluxe Multi Surface Paint to give an even shade. Two or more coat applied @ 0.90 ltr/10 sqm over an under coat of primer applied @ 0.80 ltr/10 sqm of approved brand and manufacture	13.500	sqm	160.00	2160.00	Rupees Two Thousand One Hundred Sixty Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
10	Construction of 1.0 LL capac	ity steel tank	at Kovi	kadavu- Edakkad	du	
10.001	2.6.1 - Earth work in excavation by mechanical means (Hydraulic excavator)/manual means over areas (exceeding 30 cm in depth, 1.5 m in width as well as 10 sqm on plan) including disposal of excavated earth, lead up to 50 m and lift up to 1.5 m, disposed earth to be levelled and neatly dressed. All kinds of soil	22.050	cum	240.00	5292.00	Rupees Five Thousand Two Hundred Ninety Two Only
10.002	4.1.3 - Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level:1:2:4 (cement: 2 coarse sand (zone-III): 4 graded stone aggregate 20 mm nominal size)	7.350	cum	9000.00	66150.00	Rupees Sixty Six Thousand One Hundred Fifty Zero Only
10.003	5.1.2 - Providing and laying in position specified grade of reinforced cement concrete, excluding the cost of centering, shuttering, finishing and reinforcement - All work up to plinth level:1:1:5:3 (1 cement 1.5 coarse sand :3 graded stone aggregate 20 mm nominal size	3.116	cum		31783.20	Rupees Thirty One Thousand Seven Hundred Eighty Three And Twenty Zero paise Only
10.004	5.9.1 - Centering and shuttering including strutting, etc. and removal of form for:Foundations, footings, bases of columns, etc for mass concrete	13.848	sqm	380.00	5262.24	Rupees Five Thousand Two Hundred Sixty Two And Twenty Four paise Only
10.005	5.22.6 - Steel reinforcement for R.C.C work including straightening, cutting, bending, placing in position and binding all complete upto plinth levelThermo - Mechanically Treated bars of grade Fe-500D or more	373.920	kilogra m	110.00	41131.20	Rupees Forty One Thousand One Hundred Thirty One And Twenty Zero paise Only
10.006	OD132579/2022-2023 - Supplying, coveying & Dilling sand inside the platform for steel tank	6.995	cum	2000.00	13990.00	Rupees Thirteen Thousand Nine Hundred Ninety Zero Only
10.007	OD132578/2022-2023 - Supply,installation and commissioning of a preengineered, pre-fabricated, factory manufactured steel storage Water Tank having a	100000.000	Litre	12.00	1200000.00	Rupees Twelve Lakh Zero Zero Zero Only



capacity of 100000 L(1Nos.) thickness of 0.6 mm, in multiple layers as required for the capacity and height of the tank and multiple-layered PE sheet/membrane for the inner containment liner. The Tank Shell / Body & Damp; the Liner material shall be manufactured in a facility	Unit Accepted Rate TOTAL AMOUNT in words	Unit	No. or Qty.	Description of work	Sl No
certified and compliant to ISO 9001 - 2000 standards. The Tank shall be supplied with access points, penetrations for inlets, outlets, drains and fittings, overflow and drain, high and low water level indicators. All connections to the tanks shall be with flanged or threaded nozzles, placed to the KWA water mains TANK ROOF: The roof of the tank shall be of corrugated Galvalume sheet steel and shall be of corrugated Galvalume sheet steel and shall be domed, with heavy duty Hot-dip Galvanized truss frame for supporting 4-5 persons for maintenance and cleaning and tank shall have an access hatch with cover, on the roof, for operation and Maintenance TANK COVER: Tank covers shall be of approved galvanized vermin proof construction. Roof ends shall be fitted with suitable vermin-proofing tape or other material, to prevent ingress of dust and foreign objects. Covers shall be firmly fixed to the top edge of the tank with galvanized bolts and nuts. LADDERS: Tanks shall be provided with Hot-dip Galvaniz ed ladders internally or externally. External roof supports shall be of an appropriately designed Hot-dip galvanized Steel construction. Tanks shall comply with relevant spill level, air gap and overflow requirements relative to Effective Capacity. All nuts and bolts used for the panels shall be a minimum of 12mm size and hot-dip galvanized/Case hardened. The tank shall have a circular angle fixed around the total	TOTAL FOR THE MANADEMENT			thickness of 0.6 mm, in multiple layers as required for the capacity and height of the tank and multiple-layered PE sheet/membrane for the inner containment liner. The Tank Shell / Body & De manufactured in a facility certified and compliant to ISO 9001 - 2000 standards. The Tank shall be supplied with access points, penetrations for inlets, outlets, drains and fittings, overflow and drain, high and low water level indicators. All connections to the tanks shall be with flanged or threaded nozzles, placed to the KWA water mains TANK ROOF: The roof of the tank shall be of corrugated Galvalume sheet steel and shall be domed, with heavyduty Hot-dip Galvanized truss frame for support, and capable of supporting 4-5 persons for maintenance and cleaning and tank shall have an access hatch with cover, on the roof, for operation and Maintenance TANK COVER: Tank covers shall be of approved galvanized vermin proof construction. Roof ends shall be fitted with suitable vermin-proofing tape or other material, to prevent ingress of dust and foreign objects. Covers shall be fitted with suitable vermin-proofing tape or other material, to prevent ingress of dust and foreign objects. Covers shall be fitted with suitable vermin-proofing tape or other material, to prevent ingress of dust and foreign objects. Covers shall be fitted with suitable vermin-proofing tape or other material, to prevent ingress of dust and foreign objects. Covers shall be fitted with suitable vermin-proofing tape or other material, to prevent ingress of dust and foreign objects. Covers shall be fitted with suitable vermin-proofing tape or other material, to prevent ingress of dust and foreign objects. Covers shall be fitted with suitable vermin-proofing tape or other material, to prevent ingress of dust and foreign objects. Covers shall be fitted with suitable vermin-proofing tape or other material, to prevent ingress of dust and foreign objects. Covers shall be fitted with suitable vermin-proofing tape or other material, to prevent ingress of dust and forei	



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	the top, of minimum 2 mm thickness. Tanks shall be properly flushed out with clean water prior to being brought into service TANK DIMENSIONS: The height of the Tank shall be of 5.7m. DESIGN LIFE: The tanks shall have a design life of 40 years. TANK CONNECTIONS: Standard design inlet, outlet, overflow and scour valves should be provided. ii) Overflow connection including an Internal approved bell-mouth shaped bends to maximize the overflow capacity. iii) One (1) scour drain outlet from the floor of the tank thi isolation valve. TANK LINERS: Tank liners shall be purposedesigned and manufactured and shall comply to AS/NZS 4020 (Appendix A)of 2005 and ANSI/NSF 61 - 2008, Section 5 Certificates of compliance to above standards shall be furnished by the manufactured to one-piece construction, fabricated from multi-layer PE sheet, certified for potable drinking water, to (ANSI/NSF 61) and duly UV Stabilized. ii) Be of PE (polyethylene) in multilayer construction for strength, reinforced with woven scrim industrial fabric to prevent elongation and enhance tensile strength. The total liner material thickness shall be no less than 0.6 mm thick. The tensile strength shall not be less than 2266 N (warp) and 2495 N (weft) and heat sealing strength of 2056 N v) All the liner welded lap joints shall be strengthened with Metallocene tape shall cover and protect the exposed material at the edges of the liner joints to further prevent the ingress of water into the scrim. vii) Liners shall be positively and continuously				E	words



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	attached to the top outer edge of the circumference of the tank to prevent entry of water from the runoff from the roof structure. viii) All liners on tanks over 2m in height shall have a continuous intermediate liner support designed out of nylon (or other material)cord, around the circumference of the tank, at vertical intervals corresponding to the level of each ring. ix) The intermediate liner support cords shall be firmly secured to the steel shell at each level, to prevent stress on the liner welded joints, and thereby eliminate possibility of failure C O R R O S S I O N PROTECTION. The tank structure shall have a secondary corrosion protection system using sacrificial magnesium anodes. The number of anodes, their location around the tank and the mass of each anode shall be designed for anode replacement frequency of five years. The anodes shall be installed external to the tank and concrete apron with their location marked with a suitably label-Cost for Tank steel with 10 years guarantee includes shell, Steel wall, steel domed roof, Zinc Alum steel', Cost for Poly ethylene infinity liner, Geo synthetic Fibre withfood grade plastics are used for inside coating and Support Arrangements, Cost for Fabricated items, attachments and accessories like steel ladder, Cost of Fabricated nozzles, over flow nozzles and drain arrangements, Cost for HDG nut and bolts, Freight Charges, Erection Installation and commissioning of tank components.	iF	TEORM BLIC W	POR THE MANA	DEMENT	
10.008	2.8.1 - Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5 m in width or 10 sqm on plan), including	5.940	cum	330.00	1960.20	Rupees One Thousand Nine Hundred Sixty Zero And Twenty Zero paise Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	dressing of sides and ramming of bottoms, lift up to 1.5 m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50 m.All kinds of soil					
10.009	7.1.1 - Random rubble masonry with hard stone in foundation and plinth including levelling up with cement concrete 1:6:12 (1 cement: 6 coarse sand: 12 graded stone aggregate 20 mm nominal size) up to plinth level with:Cement mortar 1:6 (1 cement: 6 coarse sand)	5.940	cum	8200.00	48708.00	Rupees Forty Eight Thousand Seven Hundred Eight Only
10.010	50.6.1.2 - Solid block masonry using pre cast solid blocks (Factory made) of size 40x20x20cm or nearest available size confirming to IS 2185 part I of 1979 for super structure up to floor two level thickness 20cm and above in: CM 1:6 (1 cement: 6 coarse sand) etc complete.	13.200	cum	7300.00	96360.00	Rupees Ninety Six Thousand Three Hundred Sixty Zero Only
10.011	13.1.1 - 12 mm cement plaster of mix:1:4 (1 cement : 4 fine sand)	140.800	sqm	350.00	49280.00	Rupees Forty Nine Thousand Two Hundred Eighty Zero Only
10.012	13.43.1 - Applying one coat of water thinnable cement primer of approved brand and manufacture on wall surface: Water thinnable cement primer	140.800	sqm	80.00	11264.00	Rupees Eleven Thousand Two Hundred Sixty Four Only
10.013	13.60.1 - Wall painting with acrylic emulsion paint of approved brand and manufacture to give an even shade: Two or more coats on new work	140.800	sqm	160.00	22528.00	Rupees Twenty Two Thousand Five Hundred Twenty Eight Only
10.014	10.25.2 - Item Shifted to Sub head 14 as item 14.73 Item Shifted to head 14 as item 14.74 Steel work welded in built up sections/framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer using structural steel etc. as required.In gratings, frames, guard bar, ladder, railings, brackets, gates and similar works	150.000	kg	175.00	26250.00	Rupees Twenty Six Thousand Two Hundred Fifty Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in
	Description of work				AMOUNT	words
10.015	13.48.3 - Finishing with Deluxe Multi surface paint system for interiors and exteriors using primer as per m a n u f a c t u r e r s specifications:Painting Steel work with Deluxe Multi Surface Paint to give an even shade. Two or more coat applied @ 0.90 ltr/10 sqm over an under coat of primer applied @ 0.80 ltr/10 sqm of approved brand and manufacture	4.500	sqm	160.00	720.00	Rupees Seven Hundred Twenty Only
11	Constuction of Pump house a	t Periyakud	i,Kovilka	adavu- Edakkadu	and Karshanad	u
11.001	2.33.1 - Felling trees of the girth (measured at a height of 1 m above ground level) including cutting of trunks and branches, removing the roots and stacking of serviceable material and disposal of unserviceable material. Beyound 30 cm girth up to and including 60 cm girth	10.000	each	500.00	5000.00	Rupees Five Thousand Zero Zero Only
11.002	2.31 - Clearing jungle including uprooting of rank vegetation, grass, brush wood, trees and saplings of girth up to 30 cm measured at a height of 1 m above ground level and removal of rubbish up to a distance of 50 m outside the periphery of the area cleared	483.000	sqm		7728.00	Rupees Seven Thousand Seven Hundred Twenty Eight Only
11.003		121.500	cum	325.00	39487.50	Rupees Thirty Nine Thousand Four Hundred Eighty Seven And Fifty Zero paise Only
11.004	4.1.3 - Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level:1:2:4 (cement: 2 coarse sand (zone-III): 4 graded stone aggregate 20 mm nominal size)	30.713	cum	9000.00		Rupees Two Lakh Seventy Six Thousand Four Hundred Seventeen Only
11.005	5.33.1 - Providing and laying	41.567	cum	10500.00	436453.50	Rupees Four



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
11.006	in position machine batched and machine mixed design mix M-25 grade cement concrete for reinforced cement concrete for reinforced cement content as per approved design mix, including pumping of concrete to site of laying but excluding the cost of centering, shuttering, finishing and reinforcement, including admixtures in recommended proportions as per IS: 9103 to accelerate, retard setting of concrete, improve workability without impairing strength and durability as per direction of Engineer - in-charge. Note:-Cement content considered in this item is @ 330 kg/ cum. Excess or less cement used as per design mix is payable or recoverable separately. All work upto plinth level 5.33.2 - Providing and laying in position machine batched and machine mixed design mix M-25 grade cement concrete for reinforced cement concrete work, using cement content as per approved design mix, including pumping of concrete to site of laying but excluding the cost of centering, shuttering, finishing and reinforcement, including admixtures in recommended proportions as per IS: 9103 to accelerate, retard setting of concrete, improve workability without	51.632	cum			
	impairing strength and durability as per direction of Engineer - in-charge. Note:-Cement content considered in this item is @ 330 kg/ cum. Excess or less cement used as per design mix is payable or recoverable separately. All work above plinth level upto floor V level					
11.007	5.9.1 - Centering and shuttering including strutting, etc. and removal of form for:Foundations, footings, bases of columns, etc for mass concrete	138.240	sqm	380.00	52531.20	Rupees Fifty Two Thousand Five Hundred Thirty One And Twenty Zero paise Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
11.008	5.9.3 - Centering and shuttering including strutting, etc. and removal of form for:Suspended floors, roofs, landings, balconies and access platform	226.608	sqm	900.00	203947.20	Rupees Two Lakh Three Thousand Nine Hundred Forty Seven And Twenty Zero paise Only
11.009	5.9.5 - Centering and shuttering including strutting, etc. and removal of form for:Lintels, beams, plinth beams, girders bressumers and cantilevers	456.936	sqm	700.00	319855.20	Rupees Three Lakh Nineteen Thousand Eight Hundred Fifty Five And Twenty Zero paise Only
11.010	5.9.6 - Centering and shuttering including strutting, etc. and removal of form for:Columns, Pillars, Piers, Abutments, Posts and Struts	159.840	sqm	950.00	151848.00	Rupees One Lakh Fifty One Thousand Eight Hundred Forty Eight Only
11.011	5.22.6 - Steel reinforcement for R.C.C work including straightening, cutting, bending, placing in position and binding all complete upto plinth levelThermo - Mechanically Treated bars of grade Fe-500D or more	13047.860	kilogra m	110.00	1435264.60	Rupees Fourteen Lakh Thirty Five Thousand Two Hundred Sixty Four And Sixty Zero paise Only
11.012	50.6.1.2 - Solid block masonry using pre cast solid blocks (Factory made) of size 40x20x20cm or nearest available size confirming to IS 2185 part I of 1979 for super structure up to floor two level thickness 20cm and above in: CM 1:6 (1 cement: 6 coarse sand) etc complete.	39.942	cum	7300.00	291576.60	Rupees Two Lakh Ninety One Thousand Five Hundred Seventy Six And Sixty Zero paise Only
11.013	50.6.3.2 - Solid block masonry using pre cast solid blocks (Factory made) of size $40x20x10$ cm or nearest available size confirming to IS 2185 part I of 1979 for super structure up to floor two level for 10 cm thick wall in: CM 1:6 (1 cement: 6 coarse sand) including cost of scaffolding complete	7.758	cum	8800.00	68270.40	Rupees Sixty Eight Thousand Two Hundred Seventy Zero And Forty Zero paise Only
11.014	13.1.1 - 12 mm cement plaster of mix:1:4 (1 cement : 4 fine sand)	1550.412	sqm	340.00	527140.08	Rupees Five Lakh Twenty Seven Thousand One Hundred Forty Zero And Eight paise Only
11.015	50.9.1.1 - Providing wood work in frames of doors, windows, clerestory windows	1.382	cum	13000.00	17966.00	Rupees Seventeen Thousand Nine



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	and other frames, wrought framed and fixed in position with hold fast lugs or with dash fasteners of required dia & length (hold fast lugs or dash fastener shall be paid for separately), using good quality Anjili wood /jack wood					Hundred Sixty Six Only
11.016	50.9.5.1 - Providing and fixing glazed shutters for doors, windows and clerestory windows using 4 mm thick float glass panes including ISI marked M.S pressed butt hinges bright finished of required size with necessary screws. Using Anjili wood/ jack wood 35 mm thick shutters.	39.353	sqm	4400.00	173153.20	Rupees One Lakh Seventy Three Thousand One Hundred Fifty Three And Twenty Zero paise Only
11.017	10.6.2 - Supplying and fixing rolling shutters of approved make, made of required size M.S. laths, interlocked together through their entire length and jointed together at the end by end locks, mounted on specially designed pipe shaft with brackets, side guides and arrangements for inside and outside locking with push and pull operation complete, including the cost of providing and fixing necessary 27.5 cm long wire springs manufactured from high tensile steel wire of adequate strength conforming to IS: 4454 - part 1 and M.S. top cover of required thickness for rolling shutters.80x1.20 mm M.S. laths with 1.20 mm thick top cover	16.500	sqm	3700.00	61050.00	Rupees Sixty One Thousand Zero Fifty Zero Only
11.018		1550.412	sqm	75.00	116280.90	Rupees One Lakh Sixteen Thousand Two Hundred Eighty Zero And Ninety Zero paise Only
11.019	13.60.1 - Wall painting with acrylic emulsion paint of approved brand and manufacture to give an even shade: Two or more coats on new work	1550.412	sqm	170.00	263570.04	Rupees Two Lakh Sixty Three Thousand Five Hundred Seventy Zero And Four paise Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in
	Description of work				AMOUNT	words
11.020	13.48.2 - Finishing with Deluxe Multi surface paint system for interiors and exteriors using primer as per m a n u f a c t u r e r s specifications:Painting wood work with Deluxe Multi Surface Paint of required shade. Two or more coat applied @ 0.90 ltr/10 sqm over an under coat of primer applied @ 0.75 ltr/10 sqm of approved brand and manufacture	45.180	sqm	170.00	7680.60	Rupees Seven Thousand Six Hundred Eighty Zero And Sixty Zero paise Only
11.021	13.48.3 - Finishing with Deluxe Multi surface paint system for interiors and exteriors using primer as per m a n u f a c t u r e r s specifications:Painting Steel work with Deluxe Multi Surface Paint to give an even shade. Two or more coat applied @ 0.90 ltr/10 sqm over an under coat of primer applied @ 0.80 ltr/10 sqm of approved brand and manufacture	54.000	sqm	165.00	8910.00	Rupees Eight Thousand Nine Hundred Ten Only
11.022	13.71 - Lettering with black Japan pint of approved brand and manufacture	9000.000	per Letter per cm height	6.00	54000.00	Rupees Fifty Four Thousand Zero Zero Only
11.023	11.36 - Providing and fixing I st quality ceramic glazed wall tiles conforming to IS: 15622 (thickness to be specified by the manufacturer), of approved make, in all colours, shades except burgundy, bottle green, black of any size as approved by Engineer -in-Charge, in skirting, risers of steps and dados, over 12 mm thick bed of cement mortar 1:3 (1 cement: 3 coarse sand) and jointing with grey cement slurry @ 3.3 kg per sqm, including pointing in white cement mixed with pigment of matching shade complete.	27.900	sqm	1300.00	36270.00	Rupees Thirty Six Thousand Two Hundred Seventy Zero Only
11.024	•	5.400	sqm	1300.00	7020.00	Rupees Seven Thousand Zero Twenty Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	cement mortar 1:4 (1 cement : 4 Coarse sand), including pointing the joints with white cement and matching pigments etc., complete.					
11.025	50.17.1.1 - Supplying and fixing Stainless steel soap dish including cost of materials and labour charges etc complete as per the direction of site Engineer-incharge.	3.000	no	70.00	210.00	Rupees Two Hundred Ten Only
11.026	50.18.7.4.1 - Providing and fixing PVC pipes, fittings including fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & DVC solvent cement and testing of joints complete as per direction of Engineer-in-Charge 32 mm dia 10Kgf/cm2- Internal work - Exposed on wall	90.000	metre	350.00	31500.00	Rupees Thirty One Thousand Five Hundred Zero Only
11.027	50.18.7.5.1 - Providing and fixing PVC pipes, fittings including fixing the pipe with clamps at 1.00m spacing. This includes jointing of pipes & DVC solvent cement and testing of joints complete as per direction of Engineer-in-Charge 40 mm dia 10 Kgf/cm2- Internal work-exposed on wall	30.000	metre		13800.00	Rupees Thirteen Thousand Eight Hundred Zero Only
11.028	50.18.8.1.2 - Providing and fixing PVC pipes, fittings including fixing the pipe with clamps at 1.00 spacing. This includes jointing of pipes & DVC solvent cement and testing of joints complete as per direction of Engineer-in-Charge Concealed work, including cutting chases and making good the wall etc. 15 mm pipe 10kgf/cm2	36.000	metre	440.00	15840.00	Rupees Fifteen Thousand Eight Hundred Forty Zero Only
11.029	50.18.9.7.1 - Providing and fixing PVC pipes includings of pipes with one step PVC solvent cement, trenching refilling & Description of Lambda per direction of Engineer in Charge. 63 mm dia 6Kgf/cm2	90.000	metre	385.00	34650.00	Rupees Thirty Four Thousand Six Hundred Fifty Zero Only
11.030	50.18.9.9.1 - Providing and fixing PVC pipes includings	90.000	metre	580.00	52200.00	Rupees Fifty Two Thousand



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	jointing of pipes with one step PVC solvent cement, trenching, refilling & amp; testing of Joints complete as per direction of engineer in charge.110 mm dia 6Kgf/cm2					Two Hundred Zero Only
11.031	17.2.1 - Providing and fixing white vitreous china pedestal type water closet (European type W.C. pan) with seat and lid, 10 litre low level white P.V.C. flushing cistern, including flush pipe, with manually controlled device (handle lever), conforming to IS: 7231, with all fittings and fixtures complete, including cutting and making good the walls and floors wherever required:W.C. pan with ISI marked white solid plastic seat and lid	3.000	each	7000.00	21000.00	Rupees Twenty One Thousand Zero Zero Only
11.032	17.7.11 - Providing and fixing wash basin with C.I. brackets, 15 mm C.P. brass pillar taps, 32 mm C.P. brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the walls wherever require:Stainless Steel AISI - 304 (18/8) Wash basin 530 x 345 mm with single 15mm C.P. brass pillar tap	3.000	each	6000.00	18000.00	Rupees Eighteen Thousand Zero Zero Only
11.033	17.28.2.1 - Flexible pipe32 mm dia	6.000	each	135.00	810.00	Rupees Eight Hundred Ten Only
11.034	17.60.1.1 - Providing and fixing trap of self cleansing design with screwed down or hinged grating without vent arm complete, including cost of cutting and making good the walls and floors: 100 mm inlet and 100 mm outletSand cast iron S & Eamp; S as per IS: 3989	9.000	each	2000.00	18000.00	Rupees Eighteen Thousand Zero Zero Only
11.035	18.57.1 - Providing and fixing PTMT, push cock of approved quality and colour.15 mm nominal bore, 98 mm long, weighing not less than 75 gms	6.000	each	135.00	810.00	Rupees Eight Hundred Ten Only
11.036	50.18.9.20.4 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes, including jointing with PVC solvent cement - 63 mm dia Bend	12.000	no	85.00	1020.00	Rupees One Thousand Zero Twenty Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in
11.037	50.18.9.20.5 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes including jointing with PVC solvent cement - 63x63x63 mm dia Tee	9.000	no	90.00	810.00	words Rupees Eight Hundred Ten Only
11.038	50.18.9.22.1 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes, including jointing with PVC solvent cement - 110 mm dia Elbow	12.000	no	115.00	1380.00	Rupees One Thousand Three Hundred Eighty Zero Only
11.039	50.18.9.22.4 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes, including jointing with PVC solvent cement- 110 mm dia Bend	12.000	no	175.00	2100.00	Rupees Two Thousand One Hundred Zero Only
11.040	50.18.9.22.5 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes including jointing with PVC solvent cement 110x110x110 mm dia Tee	9.000	no	185.00	1665.00	Rupees One Thousand Six Hundred Sixty Five Only
11.041	50.18.9.22.8 - Providing and fixing PVC moulded fittings /accessories for Rigid PVC pipes, including jointing with PVC solvent cement -110 mm dia Vent cowl	3.000	no	130.00	390.00	Rupees Three Hundred Ninety Zero Only
11.042	50.18.9.20.7 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes, including jointing with PVC solvent cement - 63 mm dia vent cowl	3.000	no	80.00	240.00	Rupees Two Hundred Forty Zero Only
11.043	50.18.9.21.7 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes, including jointing with PVC solvent cement - 75 mm dia Vent cowl	3.000	no	95.00	285.00	Rupees Two Hundred Eighty Five Only
11.044	50.18.9.22.11 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes,including jointing with PVC solvent cement - 110 mm dia Socket/ coupling	12.000	no	120.00	1440.00	Rupees One Thousand Four Hundred Forty Zero Only
11.045	9.117.2 - Providing and fixing factory made uPVC door frame made of uPVC extruded sections having an overall dimension as below (tolerance ±1 mm), with wall thickness 2.0mm (±0.2 mm), corners of the door frame to be jointed with galvanized	18.000	metre	350.00	6300.00	Rupees Six Thousand Three Hundred Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in
	brackets and stainless steel screws, joints mitred and					words
	plastic welded. The hinge side vertical of the frames reinforced by galvanized M.S. tube of size 19 x 19 mm and					
	1 mm (± 0.1 mm) wall thickness and 3 nos. stainless steel hinges fixed to the frame complete as per manufacturer & #39; s					
	specification and direction of Engineer-in-chargeExtruded section profile size 42x50 mm					
11.046	9.120.1 - Providing and fixing factory made panel PVC door shutter consisting of frame made out of M.S. tubes of 19 gauge thickness and sized of	5.040	sqm	3250.00	16380.00	Rupees Sixteen Thousand Three Hundred Eighty Zero Only
	19 mm x 19 mm for styles and 15x15 mm for top & amp; bottom rails. M.S. frame shall have a coat of steel primers of approved make and	Į.				
	manufacture. M.S. frame covered with 5 mm thick heat moulded PVC 'C' channel of size 30 mm	F		ZIC	E	
	thickness, 70 mm width out of whicj 50 mm shall be flat and 20 mm shall be tapered in 45 degree angle on both side forming styles and 5 mm	e-PL/ OF PI	OBLIC W	MORTHE MANA ORIGE	DEMENT	
	thick, 95 mm wide PVC sheet out of which75 mm shall be tapered in 45 degree on th inner side to form top and					
	bottom rail and 115 mm wide PVC sheet out of which 75 mm shall be flat and 20 mm shall be tapered on both sides to form lock rail. Top,					
	bottom and lock rails shall be provided both side of the panel. 10 mm (5 mmx2) thick, 20 mm wide cross PVC sheet					
	be provided as gap insert for top rail & pottom rail. paneling of 5 mm thick both side PVC sheet to be fitted in the M.S. frame welded /sealed					
	to the styles & mp; rails with 7 mm (5 mm + 2 mm) thick x 15 mm wide PVC sheet beading on inner side, and					
	joined together with solvent cement adhesive. An additional 5 mm thick PVC strip of 20 mm width is to be					
	stuck on the interior side of the 'C' Channel					



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	using PVC solvent adhesive etc. complete as per direction of Engineer -in-charge, manufacture & #39; s specification & amp; drawing.30 mm thick plain PVC door shutters					
11.047	OD157835/2022-2023 - Supply and erection of concrete Septic tank	3.000	no	15000.00	45000.00	Rupees Forty Five Thousand Zero Zero Only
11.048	OD157836/2022-2023 - Supply and fixing of 500 liter PVC tank	1500.000	Litre	6.00	9000.00	Rupees Nine Thousand Zero Zero Only
11.049	OD158199/2022-2023 - Submitting application to KSEBLfor power connection and power extension including preparation of drawing obtaining approval for drawings arranging inspection and obtaining power connection(necessary statutory fee will be paid by KWA)	3.000	L.S	3000.00	9000.00	Rupees Nine Thousand Zero Zero Only
12	Constuction of Pump house a	t Kuthukal l	kudi roa	d Booster		
12.001	2.33.1 - Felling trees of the girth (measured at a height of 1 m above ground level) including cutting of trunks and branches, removing the roots and stacking of serviceable material and disposal of unserviceable material. Beyound 30 cm girth up to and including 60 cm girth		each	500.00		Rupees One Thousand Five Hundred Zero Only
12.002	2.31 - Clearing jungle including uprooting of rank vegetation, grass, brush wood, trees and saplings of girth up to 30 cm measured at a height of 1 m above ground level and removal of rubbish up to a distance of 50 m outside the periphery of the area cleared	161.000	sqm	15.00	2415.00	Rupees Two Thousand Four Hundred Fifteen Only
12.003	2.8.1 - Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5 m in width or 10 sqm on plan), including dressing of sides and ramming of bottoms, lift up to 1.5 m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead	54.000	cum	325.00	17550.00	Rupees Seventeen Thousand Five Hundred Fifty Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	of 50 m.All kinds of soil					
12.004	4.1.3 - Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level:1:2:4 (cement: 2 coarse sand (zone-III): 4 graded stone aggregate 20 mm nominal size)	17.585	cum	9000.00	158265.00	Rupees One Lakh Fifty Eight Thousand Two Hundred Sixty Five Only
12.005	5.33.1 - Providing and laying in position machine batched and machine mixed design mix M-25 grade cement concrete for reinforced cement concrete work, using cement content as per approved design mix, including pumping of concrete to site of laying but excluding the cost of centering, shuttering, finishing and reinforcement, including admixtures in recommended proportions as per IS: 9103 to accelerate, retard setting of concrete, improve workability without impairing strength and durability as per direction of Engineer - in-charge. Note:-Cement content considered in this item is @ 330 kg/ cum. Excess or less cement used as per design mix is payable or recoverable separately. All work upto plinth level	F	cum	10500.00	220153.50	Rupees Two Lakh Twenty Thousand One Hundred Fifty Three And Fifty Zero paise Only
12.006	5.33.2 - Providing and laying in position machine batched and machine mixed design mix M-25 grade cement concrete for reinforced cement concrete work, using cement content as per approved design mix, including pumping of concrete to site of laying but excluding the cost of centering, shuttering, finishing and reinforcement, including admixtures in recommended proportions as per IS: 9103 to accelerate, retard setting of concrete, improve workability without impairing strength and durability as per direction of Engineer - in-charge. Note:-Cement content considered in this item is @ 330 kg/ cum.		cum	12500.00	381987.50	Rupees Three Lakh Eighty One Thousand Nine Hundred Eighty Seven And Fifty Zero paise Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	Excess or less cement used as per design mix is payable or recoverable separately. All work above plinth level upto floor V level					
12.007	5.9.1 - Centering and shuttering including strutting, etc. and removal of form for:Foundations, footings, bases of columns, etc for mass concrete	62.400	sqm	360.00	22464.00	Rupees Twenty Two Thousand Four Hundred Sixty Four Only
12.008	5.9.3 - Centering and shuttering including strutting, etc. and removal of form for:Suspended floors, roofs, landings, balconies and access platform	149.512	sqm	900.00	134560.80	Rupees One Lakh Thirty Four Thousand Five Hundred Sixty Zero And Eighty Zero paise Only
12.009	5.9.5 - Centering and shuttering including strutting, etc. and removal of form for:Lintels, beams, plinth beams, girders bressumers and cantilevers	184.320	sqm	700.00	129024.00	Rupees One Lakh Twenty Nine Thousand Zero Twenty Four Only
12.010	5.9.6 - Centering and shuttering including strutting, etc. and removal of form for:Columns, Pillars, Piers, Abutments, Posts and Struts	70.464	sqm		68702.40	Rupees Sixty Eight Thousand Seven Hundred Two And Forty Zero paise Only
12.011	5.22.6 - Steel reinforcement for R.C.C work including straightening, cutting, bending, placing in position and binding all complete upto plinth levelThermo - Mechanically Treated bars of grade Fe-500D or more	7213.640	kilogra m	110.00	793500.40	Rupees Seven Lakh Ninety Three Thousand Five Hundred Zero And Forty Zero paise Only
12.012	50.6.1.2 - Solid block masonry using pre cast solid blocks (Factory made) of size 40x20x20cm or nearest available size confirming to IS 2185 part I of 1979 for super structure up to floor two level thickness 20cm and above in: CM 1:6 (1 cement: 6 coarse sand) etc complete.	22.556	cum	7300.00	164658.80	Rupees One Lakh Sixty Four Thousand Six Hundred Fifty Eight And Eighty Zero paise Only
12.013	50.6.3.2 - Solid block masonry using pre cast solid blocks (Factory made) of size 40x20x10 cm or nearest available size confirming to IS 2185 part I of 1979 for super structure up to floor two level for 10 cm thick wall in: CM 1:6 (1 cement: 6 coarse sand) including cost of scaffolding complete	3.996	cum	8800.00	35164.80	Rupees Thirty Five Thousand One Hundred Sixty Four And Eighty Zero paise Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
12.014	13.1.1 - 12 mm cement plaster of mix:1:4 (1 cement : 4 fine sand)	940.852	sqm	350.00	329298.20	Rupees Three Lakh Twenty Nine Thousand Two Hundred Ninety Eight And Twenty Zero paise Only
12.015	50.9.1.1 - Providing wood work in frames of doors, windows, clerestory windows and other frames, wrought framed and fixed in position with hold fast lugs or with dash fasteners of required dia & Department of the wood was provided in the wood wood wood wood wood wood wood woo	0.649	cum	13000.00	8437.00	Rupees Eight Thousand Four Hundred Thirty Seven Only
12.016	50.9.5.1 - Providing and fixing glazed shutters for doors, windows and clerestory windows using 4 mm thick float glass panes including ISI marked M.S pressed butt hinges bright finished of required size with necessary screws. Using Anjili wood/ jack wood 35 mm thick shutters.	18.585	sqm	4400.00	81774.00	Rupees Eighty One Thousand Seven Hundred Seventy Four Only
12.017	10.6.2 - Supplying and fixing rolling shutters of approved make, made of required size M.S. laths, interlocked together through their entire length and jointed together at the end by end locks, mounted on specially designed pipe shaft with brackets, side guides and arrangements for inside and outside locking with push and pull operation complete, including the cost of providing and fixing necessary 27.5 cm long wire springs manufactured from high tensile steel wire of adequate strength conforming to IS: 4454 - part 1 and M.S. top cover of required thickness for rolling shutters.80x1.20 mm M.S. laths with 1.20 mm thick top cover	8.750	sqm	3700.00	32375.00	Rupees Thirty Two Thousand Three Hundred Seventy Five Only
12.018	13.43.1 - Applying one coat of water thinnable cement primer of approved brand and manufacture on wall surface: Water thinnable	940.852	sqm	75.00	70563.90	Rupees Seventy Zero Thousand Five Hundred Sixty Three And Ninety



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	cement primer					Zero paise Only
12.019	13.60.1 - Wall painting with acrylic emulsion paint of approved brand and manufacture to give an even shade:Two or more coats on new work	940.852	sqm	165.00	155240.58	Rupees One Lakh Fifty Five Thousand Two Hundred Forty Zero And Fifty Seven paise Only
12.020	13.48.2 - Finishing with Deluxe Multi surface paint system for interiors and exteriors using primer as per m a n u f a c t u r e r s specifications:Painting wood work with Deluxe Multi Surface Paint of required shade. Two or more coat applied @ 0.90 ltr/10 sqm over an under coat of primer applied @ 0.75 ltr/10 sqm of approved brand and manufacture	21.360	sqm	165.00	3524.40	Rupees Three Thousand Five Hundred Twenty Four And Forty Zero paise Only
12.021	13.48.3 - Finishing with Deluxe Multi surface paint system for interiors and exteriors using primer as per m a n u f a c t u r e r s specifications: Painting Steel work with Deluxe Multi Surface Paint to give an even shade. Two or more coat applied @ 0.90 ltr/10 sqm over an under coat of primer applied @ 0.80 ltr/10 sqm of a pproved brand and manufacture	18.000	sqm		2880.00	Rupees Two Thousand Eight Hundred Eighty Zero Only
12.022	13.71 - Lettering with black Japan pint of approved brand and manufacture	3000.000	per Letter per cm height	6.00	18000.00	Rupees Eighteen Thousand Zero Zero Only
12.023	11.36 - Providing and fixing I st quality ceramic glazed wall tiles conforming to IS: 15622 (thickness to be specified by the manufacturer), of approved make, in all colours, shades except burgundy, bottle green, black of any size as approved by Engineer -in-Charge, in skirting, risers of steps and dados, over 12 mm thick bed of cement mortar 1:3 (1 cement: 3 coarse sand) and jointing with grey cement slurry @ 3.3 kg per sqm, including pointing in white cement mixed with pigment of matching shade complete.	9.300	sqm	1300.00	12090.00	Rupees Twelve Thousand Zero Ninety Zero Only
12.024	11.38 - Providing and laying	1.800	sqm	1300.00	2340.00	Rupees Two



Sl No		No. or Qty.	Unit	Accepted Rate	TOTAL	TOTAL
31140	Description of work	No. of Qiy.	Omt	Accepted Rate	AMOUNT	AMOUNT in words
	Ceramic glazed floor tiles of size 300x300 mm (thickness to be specified by the manufacturer), of Ist quality conforming to IS: 15622, of approved make, in all colours, shades, except White, Ivory, Grey, Fume Red Brown, laid on 20 mm thick bed of cement mortar 1:4 (1 cement: 4 Coarse sand), including pointing the joints with white cement and matching pigments etc., complete.					Thousand Three Hundred Forty Zero Only
12.025	50.17.1.1 - Supplying and fixing Stainless steel soap dish including cost of materials and labour charges etc complete as per the direction of site Engineer-incharge.	1.000	no	70.00	70.00	Rupees Seventy Zero Only
12.026	50.18.7.4.1 - Providing and fixing PVC pipes, fittings including fixing the pipe with clamps at 1.00 m spacing. This includes jointing of pipes & December 2.00 m step PVC solvent cement and testing of joints complete as per direction of Engineer-in-Charge 32 mm dia 10Kgf/cm2- Internal work - Exposed on wall	30.000	metre		10500.00	Rupees Ten Thousand Five Hundred Zero Only
12.027	50.18.7.5.1 - Providing and fixing PVC pipes, fittings including fixing the pipe with clamps at 1.00m spacing. This includes jointing of pipes & DVC solvent cement and testing of joints complete as per direction of Engineer-in-Charge 40 mm dia 10 Kgf/cm2- Internal work-exposed on wall	10.000	metre	450.00	4500.00	Rupees Four Thousand Five Hundred Zero Only
12.028	50.18.8.1.2 - Providing and fixing PVC pipes, fittings including fixing the pipe with clamps at 1.00 spacing. This includes jointing of pipes & DVC solvent cement and testing of joints complete as per direction of Engineer-in-Charge Concealed work, including cutting chases and making good the wall etc. 15 mm pipe 10kgf/cm2	12.000	metre	440.00	5280.00	Rupees Five Thousand Two Hundred Eighty Zero Only
12.029	50.18.9.7.1 - Providing and	30.000	metre	380.00	11400.00	Rupees Eleven



Sl No		No. or Qty.	Unit	Accepted Rate	TOTAL	TOTAL
	Description of work			•	AMOUNT	AMOUNT in words
	fixing PVC pipes includings of pipes with one step PVC solvent cement, trenching refilling & Description of joints complete as per direction of Engineer in Charge. 63 mm dia 6Kgf/cm2					Thousand Four Hundred Zero Only
12.030	50.18.9.9.1 - Providing and fixing PVC pipes includings jointing of pipes with one step PVC solvent cement, trenching, refilling & Dietesting of Joints complete as per direction of engineer in charge.110 mm dia 6Kgf/cm2	30.000	metre	580.00	17400.00	Rupees Seventeen Thousand Four Hundred Zero Only
12.031	17.2.1 - Providing and fixing white vitreous china pedestal type water closet (European type W.C. pan) with seat and lid, 10 litre low level white P.V.C. flushing cistern, including flush pipe, with manually controlled device (handle lever), conforming to IS: 7231, with all fittings and fixtures complete, including cutting and making good the walls and floors wherever required:W.C. pan with ISI marked white solid plastic seat and lid	1.000	each	7000.00	7000.00	Rupees Seven Thousand Zero Zero Only
12.032	17.7.11 - Providing and fixing wash basin with C.I. brackets, 15 mm C.P. brass pillar taps, 32 mm C.P. brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the walls wherever require:Stainless Steel AISI - 304 (18/8) Wash basin 530 x 345 mm with single 15mm C.P. brass pillar tap	1.000	each	5700.00	5700.00	Rupees Five Thousand Seven Hundred Zero Only
12.033	17.28.2.1 - Flexible pipe32 mm dia	2.000	each	135.00	270.00	Rupees Two Hundred Seventy Zero Only
12.034	17.60.1.1 - Providing and fixing trap of self cleansing design with screwed down or hinged grating without vent arm complete, including cost of cutting and making good the walls and floors: 100 mm inlet and 100 mm outletSand cast iron S & amp; S as per IS: 3989	3.000	each	2000.00	6000.00	Rupees Six Thousand Zero Zero Only
12.035		2.000	each	135.00	270.00	Rupees Two Hundred



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	approved quality and colour.15 mm nominal bore, 98 mm long, weighing not less than 75 gms					Seventy Zero Only
12.036	50.18.9.20.4 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes, including jointing with PVC solvent cement - 63 mm dia Bend	4.000	no	85.00	340.00	Rupees Three Hundred Forty Zero Only
12.037	50.18.9.20.5 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes including jointing with PVC solvent cement - 63x63x63 mm dia Tee	3.000	no	90.00	270.00	Rupees Two Hundred Seventy Zero Only
12.038	50.18.9.22.1 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes, including jointing with PVC solvent cement - 110 mm dia Elbow	4.000	no	120.00	480.00	Rupees Four Hundred Eighty Zero Only
12.039	50.18.9.22.4 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes, including jointing with PVC solvent cement- 110 mm dia Bend	4.000	no	170.00	680.00	Rupees Six Hundred Eighty Zero Only
12.040	50.18.9.22.5 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes including jointing with PVC solvent cement 110x110x110 mm dia Tee	3.000	no	180.00	540.00	Rupees Five Hundred Forty Zero Only
12.041	50.18.9.22.8 - Providing and fixing PVC moulded fittings /accessories for Rigid PVC pipes, including jointing with PVC solvent cement -110 mm dia Vent cowl	1.000	no	130.00	130.00	Rupees One Hundred Thirty Zero Only
12.042	50.18.9.20.7 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes, including jointing with PVC solvent cement - 63 mm dia vent cowl	1.000	no	80.00	80.00	Rupees Eighty Zero Only
12.043	50.18.9.21.7 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes, including jointing with PVC solvent cement - 75 mm dia Vent cowl	1.000	no	90.00	90.00	Rupees Ninety Zero Only
12.044	50.18.9.22.11 - Providing and fixing PVC moulded fittings/accessories for Rigid PVC pipes,including jointing with PVC solvent cement - 110 mm dia Socket/ coupling	4.000	no	120.00	480.00	Rupees Four Hundred Eighty Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
12.045	9.117.2 - Providing and fixing factory made uPVC door frame made of uPVC extruded sections having an overall dimension as below (tolerance ±1 mm), with wall thickness 2.0mm (±0.2 mm), corners of the door frame to be jointed with galvanized brackets and stainless steel screws, joints mitred and plastic welded. The hinge side vertical of the frames reinforced by galvanized M.S. tube of size 19 x 19 mm and 1 mm (± 0.1 mm) wall thickness and 3 nos. stainless steel hinges fixed to the frame complete as per m a n u f a c t u r e r & # 3 9; s specification and direction of Engineer-in-chargeExtruded section profile size 42x50 mm	6.000	metre	335.00	2010.00	Rupees Two Thousand Zero Ten Only
12.046	9.120.1 - Providing and fixing factory made panel PVC door shutter consisting of frame made out of M.S. tubes of 19 gauge thickness and sized of 19 mm x 19 mm for styles and 15x15 mm for top & damp; bottom rails. M.S. frame shall have a coat of steel primers of a pproved make and manufacture. M.S. frame covered with 5 mm thick heat moulded PVC & #39; C& #39; channel of size 30 mm thickness, 70 mm width out of whicj 50 mm shall be flat and 20 mm shall be tapered in 45 degree angle on both side forming styles and 5 mm thick, 95 mm wide PVC sheet out of which 75 mm shall be tapered in 45 degree on the inner side to form top and bottom rail and 115 mm wide PVC sheet out of which 75 mm shall be flat and 20 mm shall be tapered on both sides to form lock rail. Top, bottom and lock rails shall be provided both side of the panel. 10 mm (5 mmx2) thick, 20 mm wide cross PVC sheet be provided as gap insert for top rail & amp; bottom rail. paneling of 5 mm thick both side PVC sheet to be fitted in the M.S. frame welded /sealed	1.680	sqm	3200.00	5376.00	Rupees Five Thousand Three Hundred Seventy Six Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	to the styles & Damp; rails with 7 mm (5 mm + 2 mm) thick x 15 mm wide PVC sheet beading on inner side, and joined together with solvent cement adhesive. An additional 5 mm thick PVC strip of 20 mm width is to be stuck on the interior side of the 'C' Channel using PVC solvent adhesive etc. complete as per direction of Engineer -in-charge, m an ufacture & #39; s specification & Damp; drawing.30 mm thick plain PVC door shutters					02 45
12.047	OD157834/2022-2023 - Supply and erection of concrete Septic tank	1.000	no	15000.00	15000.00	Rupees Fifteen Thousand Zero Zero Only
12.048	OD157833/2022-2023 - Supply and fixing of 500 litre PVC tank	500.000	Litre	6.50	3250.00	Rupees Three Thousand Two Hundred Fifty Zero Only
12.049	OD158200/2022-2023 - Submitting application to KSEBLfor power connection and power extension including preparation of drawing obtaining approval for drawings arranging inspection and obtaining power connection(necessary statutory fee will be paid by KWA)		L.S	3000.00	3000.00	Rupees Three Thousand Zero Zero Only
13	Supplying and laying CWPM	I and CWGM	I- Cost o	f materials		
13.001	100.98.115 - Supply of DI K9 Pipe Conforming to IS 8329/2000, 100mm Dia.	28613.000	metre	1480.00	42347240.00	Rupees Four Crore Twenty Three Lakh Forty Seven Thousand Two Hundred Forty Zero Only
13.002	100.98.116 - Supply of DI K9 Pipe Conforming to IS 8329/2000, 150mm Dia.	9178.000	metre	2250.00	20650500.00	Rupees Two Crore Six Lakh Fifty Zero Thousand Five Hundred Zero Only
13.003	100.98.440 - Supply of CI Air Valve, Conforming to IS 14848 - 2000, Single Orifice, Small Orifice Type S1, Size 25mm.	40.000	no	6000.00	240000.00	Rupees Two Lakh Forty Zero Thousand Zero Zero Only
13.004	100.98.441 - Supply of CI Air Valve, Conforming to IS 14848 - 2000, Single Orifice, Small Orifice Type S1, Size	36.000	no	6200.00	223200.00	Rupees Two Lakh Twenty Three Thousand Two Hundred



CLN		NI O	T T •4	4 (15)	TOTAL T	TOTAL T
Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	40mm.					Zero Only
13.005	100.98.481 - Supply of CI Double Flanged Sluice Valve Conforming to IS 14846 - 2000, Sluice Valve with Hand Wheel PN 1.6, Size 80mm.	20.000	no	7000.00	140000.00	Rupees One Lakh Forty Zero Thousand Zero Zero Only
13.006	100.98.482 - Supply of CI Double Flanged Sluice Valve Conforming to IS 14846 - 2000, Sluice Valve with Hand Wheel PN 1.6, Size 100mm.	6.000	no	9500.00	57000.00	Rupees Fifty Seven Thousand Zero Zero Only
13.007	100.98.429 - Supply of CI Non Return Valve, Conforming to IS 5312 Part I - 1984, PN 1.6, Size 100mm.	12.000	no	9000.00	108000.00	Rupees One Lakh Eight Thousand Zero Zero Only
13.008	100.98.431 - Supply of CI Non Return Valve, Conforming to IS 5312 Part I - 1984, PN 1.0, Size 150mm.	4.000	no	13000.00	52000.00	Rupees Fifty Two Thousand Zero Zero Only
14	Supplying and laying CWPM	I and CWGM	I-Worki	ng charges		
14.001	100.1.1 - Excavating trenches of required width for pipes, cables, etc., including excavation for sockets, and dressing of sides, ramming of bottoms, depth up to 1.5m, including getting out the excavated soil, and then returning the soil as required, in layers not exceeding 20cm in depth, including consolidating each deposited layer by ramming, watering, etc., and disposing of surplus excavated soil as directed, within a lead of 50m, in all kinds of soil.	9210.270	cum	700.00	6447189.00	Rupees Sixty Four Lakh Forty Seven Thousand One Hundred Eighty Nine Only
14.002	100.1.5 - Excavating trenches of required width for pipes, cables, etc., including excavation for sockets, and dressing of sides, ramming of bottoms, depth up to 1.5m, including getting out the excavated soil, and then returning the soil as required, in layers not exceeding 20cm in depth, including consolidating each deposited layer by ramming, watering, etc., and disposing of surplus excavated soil as directed, within a lead of 50 m, in Ordinary Rock.	6750.162	cum	880.00		Rupees Fifty Nine Lakh Forty Zero Thousand One Hundred Forty Two And Fifty Six paise Only
14.003	100.2.7 - Excavating trenches of required width for pipes, cables, etc., including excavation for sockets, and	2250.054	cum	1300.00	2925070.20	Rupees Twenty Nine Lakh Twenty Five Thousand Zero



Sl No		No. or Qty.	Unit	Accepted Rate	TOTAL	TOTAL
	Description of work				AMOUNT	AMOUNT in words
	dressing of sides, ramming of bottoms, depth up to 1.5m, including getting out the excavated soil, and then returning the soil as required, in layers not exceeding 20cm in depth, including consolidating each deposited layer by ramming, watering, etc., and disposing of surplus excavated soil as directed, within a lead of 50m, in Medium Rock where Blasting is Prohibited.					Seventy Zero And Twenty Zero paise Only
14.004	100.4.1 - Excavating in hard rock for trenches by blasting for laying pipes and stacking useful materials for measurements and disposing unserviceable materials within the initial lead of 50m and lift up to 1.50m (depth from 0.0m to 1.50m) and providing protection by earth filled cement bags during blasting to avoid damages to nearby structures (200 Nos. of earth filled cement bags for 10m3 of blasting)	900.060	cum	3700.00	3330222.00	Rupees Thirty Three Lakh Thirty Zero Thousand Two Hundred Twenty Two Only
14.005	100.1.10 - Excavating trenches of required width for pipes, cables, etc., including excavation for sockets, and dressing of sides, ramming of bottoms, depth exceeding 1.5m but not exceeding 3m, including getting out the excavated soil, and then returning the soil as required, in layers not exceeding 20cm in depth, including consolidating each deposited layer by ramming, watering, etc., and disposing of surplus excavated soil as directed, within a lead of 50m, in Hard Rock Requiring Blasting.	1349.994	cum	1270.00	1714492.38	Rupees Seventeen Lakh Fourteen Thousand Four Hundred Ninety Two And Thirty Eight paise Only
14.006		18000.000	metre	27.00	486000.00	Rupees Four Lakh Eighty Six Thousand Zero Zero Only
14.007	100.59.1 - Cutting the bituminous / concrete roads with cutting machine for a minimum depth of 200mm along the sides of proposed alignment of the pipe to be laid without causing any	70.000	metre	30.00	2100.00	Rupees Two Thousand One Hundred Zero Only



Sl No		No. or Qty.	Unit	Accepted Rate	TOTAL	TOTAL
	Description of work			-	AMOUNT	AMOUNT in words
	damage to other utilities, including the charges for hire and conveyance of tools and plant, cost of consumables and charges for lighting, watching, ribbon fencing, caution boards, traffic diversion, and as per the direction of departmental officers etc. complete, before carrying out the demolition of bituminous / concrete road by mechanical means and carrying out the excavation.					
14.008	OD124053/2022-2023 - Dismantling manually including disposal of unserviceable material within 50 metres lead as per direction of Engineer -in-Charge:Bituminous road	11924.500	sqm	92.00	1097054.00	Rupees Ten Lakh Ninety Seven Thousand Zero Fifty Four Only
14.009	100.14.1 - Conveying and laying S&S Centrifugally Cast (Spun) / Ductile Iron Pipes conforming to IS: 8329 excluding cost of pipes and specials: 100mm diameter Ductile Iron Class K-9 Pipes.	30603.000	metre	67.00	2050401.00	Rupees Twenty Lakh Fifty Zero Thousand Four Hundred One Only
14.010	100.14.2 - Conveying and laying S&S Centrifugally Cast (Spun) / Ductile Iron Pipes conforming to IS: 8329 excluding cost of pipes and specials: 150mm diameter Ductile Iron Class K-9 Pipes.	9998.000	metre	100.00	999800.00	Rupees Nine Lakh Ninety Nine Thousand Eight Hundred Zero Only
14.011	100.31.1.1 - Conveying and fixing C.I. sluice valves (with cap) by providing bolts, nuts, rubber insertions etc., complete, but excluding the cost of the valve (tail pieces, if required, will be paid separately): 80mm diameter, Class I.	20.000	no	670.00	13400.00	Rupees Thirteen Thousand Four Hundred Zero Only
14.012	100.31.1.2 - Conveying and fixing C.I. sluice valves (with cap) by providing bolts, nuts, rubber insertions etc., complete, but excluding the cost of the valve (tail pieces, if required, will be paid separately): 100mm diameter, Class I.	18.000	no	1000.00	18000.00	Rupees Eighteen Thousand Zero Zero Only
14.013	100.31.1.4 - Conveying and fixing C.I. sluice valves (with cap) by providing bolts, nuts, rubber insertions etc., complete, but excluding the cost of the valve (tail pieces,	4.000	no	1300.00	5200.00	Rupees Five Thousand Two Hundred Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	if required, will be paid separately): 150mm diameter, Class I.					
14.014	100.32.1 - Conveying and fixing C. I. Single Acting Air Valve of approved quality with bolts, nuts, rubber insertions etc., complete, but excluding the cost of air valve (tail pieces, if required, will be paid separately): 25mm Single Acting Air Valve.	40.000	no	160.00	6400.00	Rupees Six Thousand Four Hundred Zero Only
14.015	100.32.2 - Conveying and fixing C. I. Single Acting Air Valve of approved quality with bolts, nuts, rubber insertions etc., complete, but excluding the cost of air valve (tail pieces, if required, will be paid separately): 40mm Single Acting Air Valve.	36.000	no	190.00	6840.00	Rupees Six Thousand Eight Hundred Forty Zero Only
14.016	18.68.1 - Providing and laying D.I specials of class K - 12 suitable for push - on jointing as per IS: 9523: Upt 600 mm dia	259.830	quintal	23000.00	5976090.00	Rupees Fifty Nine Lakh Seventy Six Thousand Zero Ninety Zero Only
14.017	18.70.1 - Providing push - on- joints to Centrifugally (Spun) Cast Iron Pipes or Ductile Iron Pipes including testing of joints and including the cost of rubber gasket:100 mm dia pipes	5100.000	joint	120.00	612000.00	Rupees Six Lakh Twelve Thousand Zero Zero Only
14.018	18.70.2 - Providing push - on- joints to Centrifugally (Spun) Cast Iron Pipes or Ductile Iron Pipes including testing of joints and including the cost of rubber gasket:150 mm dia pipes	1610.000	joint	200.00	322000.00	Rupees Three Lakh Twenty Two Thousand Zero Zero Only
14.019	18.30.2 - Providing flanged joints to double flanged C.I./ D.I pipes and specials, including testing of joints:100 mm diameter pipe	12.000	no	355.00	4260.00	Rupees Four Thousand Two Hundred Sixty Zero Only
14.020	18.30.4 - Providing flanged joints to double flanged C.I./ D.I pipes and specials, including testing of joints:150 mm diameter pipe	6.000	no	440.00	2640.00	Rupees Two Thousand Six Hundred Forty Zero Only
14.021	OD124054/2022-2023 - Labour for cutting D.I. pipe with steel saw.100 mm diameter D.I. pipe	285.000	Each Cut	195.00	55575.00	Rupees Fifty Five Thousand Five Hundred Seventy Five Only
14.022	OD124055/2022-2023 -	90.000	no	370.00	33300.00	Rupees Thirty



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	Labour for cutting Ductile Iron pipe with steel saw.150 mm diameter Ductile Iron. pipe					Three Thousand Three Hundred Zero Only
14.023	100.35.1 - Testing 100mm DI/CI pipeline with potable water to the required test pressure 100 mm dia	30603.000	metre	25.00	765075.00	Rupees Seven Lakh Sixty Five Thousand Zero Seventy Five Only
14.024	100.35.2 - Testing 150mm DI/CI pipeline with potable water to the required test pressure 150 mm dia Observed Data derived from item no.1018 of PHED DATA	9998.000	metre	33.00	329934.00	Rupees Three Lakh Twenty Nine Thousand Nine Hundred Thirty Four Only
14.025	100.37.5.1 - In situ fabrication of M.S. pipes of size 100mm (I.D.) using 8mm thick M.S. plate including cost and conveyance charges of M.S. plate, all fabrication charges, charges of painting the steel work with two or more coat deluxe multi surface paint to give an even shade over an under-coat of primer etc., complete.	2550.000	metre	4500.00	11475000.00	Rupees One Crore Fourteen Lakh Seventy Five Thousand Zero Zero Only
14.026	100.37.5.2 - Fabricating M.S. flanges of diameter 100mm using 12mm thick M.S. plate including cost and conveyance charges of M.S. plate, all fabrication charges, charges of painting the steel work with two or more coat deluxe multi surface paint to give an even shade over an under-coat of primer etc., complete: For pipes fabricated with 8mm thick M.S. plates.	30.000	no	1250.00	37500.00	Rupees Thirty Seven Thousand Five Hundred Zero Only
14.027	100.37.5.3 - Cutting 100mm (I.D.) M.S. pipes for making bends and other specials by gas cutting including cost of gas, all labour and hire charges of tools etc., complete: For pipes fabricated with 8mm thick M.S. plates.	70.000	no	125.00	8750.00	Rupees Eight Thousand Seven Hundred Fifty Zero Only
14.028	100.37.5.4 - Welding 100mm (I.D.) M.S. pipes for making bends and other specials by gas/electric welding machine including cost of gas and welding rods, all labour and hire charges of tools etc., complete: For pipes fabricated with 8mm thick M.S. plates.	70.000	no	480.00	33600.00	Rupees Thirty Three Thousand Six Hundred Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
14.029	100.37.5.5 - Grinding cut and weld edges of 100mm (I.D.) M.S. pipes during fabrication work including all labour and hire charges of tools etc., complete: For pipes fabricated with 8mm thick M.S. plates.	70.000	no	90.00	6300.00	Rupees Six Thousand Three Hundred Zero Only
14.030	100.37.6.1 - In situ fabrication of M.S. pipes of size 150mm (I.D.) using 8mm thick M.S. plate including cost and conveyance charges of M.S. plate, all fabrication charges, charges of painting the steel work with two or more coat deluxe multi surface paint to give an even shade over an under-coat of primer etc., complete.	1000.000	metre	5200.00	5200000.00	Rupees Fifty Two Lakh Zero Zero Zero Only
14.031	100.37.6.2 - Fabricating M.S. flanges of diameter 150mm using 12mm thick M.S. plate including cost and conveyance charges of M.S. plate, all fabrication charges, charges of painting the steel work with two or more coat deluxe multi surface paint to give an even shade over an under-coat of primer etc., complete: For pipes fabricated with 8mm thick M.S. plates.	12.000	no	1650.00	19800.00	Rupees Nineteen Thousand Eight Hundred Zero Only
14.032	100.37.6.3 - Cutting 150mm (I.D.) M.S. pipes for making bends and other specials by gas cutting including cost of gas, all labour and hire charges of tools etc., complete: For pipes fabricated with 8mm thick M.S. plates.	25.000	no	180.00	4500.00	Rupees Four Thousand Five Hundred Zero Only
14.033	100.37.6.4 - Welding 150mm (I.D.) M.S. pipes for making bends and other specials by gas/electric welding machine including cost of gas and welding rods, all labour and hire charges of tools etc., complete: For pipes fabricated with 8mm thick M.S. plates.	25.000	no	650.00	16250.00	Rupees Sixteen Thousand Two Hundred Fifty Zero Only
14.034	100.37.6.5 - Grinding cut and weld edges of 150mm (I.D.) M.S. pipes during fabrication work including all labour and hire charges of tools etc., complete: For pipes fabricated with 8mm thick M.S. plates.	25.000	no	130.00	3250.00	Rupees Three Thousand Two Hundred Fifty Zero Only
14.035	OD124058/2022-2023 - Supply, erection of 150mm Mechanical flow meter of	3.000	no	31000.00	93000.00	Rupees Ninety Three Thousand Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	Woltsman type confirming ISO 4046 c l a s s B o f ARAD/ZENNIER/REYCHE M RPG/ITRON make and shall be tested and certified by FCRI Palakkad and product shall have warranty for at least 2 years					
14.036	OD124059/2022-2023 - Supply, erection of 100mm Mechanical flow meter of Woltsman type confirming ISO 4046 c 1 a s s B o f ARAD/ZENNIER/REYCHE M RPG/ITRON make and shall be tested and certified by FCRI Palakkad and product shall have warranty for at least 2 years	15.000	no	19000.00	285000.00	Rupees Two Lakh Eighty Five Thousand Zero Zero Only
14.037	2.8.1 - Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5 m in width or 10 sqm on plan), including dressing of sides and ramming of bottoms, lift up to 1.5 m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50 m.All kinds of soil	291.600	cum	330.00	96228.00	Rupees Ninety Six Thousand Two Hundred Twenty Eight Only
14.038	4.1.3 - Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level:1:2:4 (cement: 2 coarse sand (zone-III): 4 graded stone aggregate 20 mm nominal size)	13.500	cum	9000.00	121500.00	Rupees One Lakh Twenty One Thousand Five Hundred Zero Only
14.039	5.1.2 - Providing and laying in position specified grade of reinforced cement concrete, excluding the cost of centering, shuttering, finishing and reinforcement - All work up to plinth level:1:1:5:3 (1 cement 1.5 coarse sand :3 graded stone aggregate 20 mm nominal size	103.140	cum	10000.00	1031400.00	Rupees Ten Lakh Thirty One Thousand Four Hundred Zero Only
14.040	5.1.3 - Providing and laying in position specified grade of reinforced cement concrete, excluding the cost of	296.320	cum	9500.00	2815040.00	Rupees Twenty Eight Lakh Fifteen Thousand Zero



Sl No		No. or Qty.	Unit	Accepted Rate	TOTAL	TOTAL
	Description of work			•	AMOUNT	AMOUNT in words
	centering, shuttering, finishing and reinforcement - All work up to plinth level:1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate 20 mm nominal size)					Forty Zero Only
14.041	4.3.2 - Centering and shuttering including strutting, propping etc. and removal of form work for:Retaining walls, return walls, (any thickness) including attached pilasters, buttresses, plinth and string courses fillets, kerbs and steps etc.	2107.200	sqm	800.00	1685760.00	Rupees Sixteen Lakh Eighty Five Thousand Seven Hundred Sixty Zero Only
14.042	5.22.6 - Steel reinforcement for R.C.C work including straightening, cutting, bending, placing in position and binding all complete upto plinth levelThermo - Mechanically Treated bars of grade Fe-500D or more	14177.600	kilogra m	112.00	1587891.20	Rupees Fifteen Lakh Eighty Seven Thousand Eight Hundred Ninety One And Twenty Zero paise Only
15	Road Restoration Charge (M	orth)- CWP	M &	<mark>; C</mark> WGM		
15.001	3.6 - Excavation for roadwork in soil with hydraulic excavator of 0.9 cum bucket capacity including cutting and loading in tippers, trimming bottom and side slopes, in accordance with requirements of lines, grades and cross sections, and transporting to the embankment location within all lifts and lead upto 1000m		cum	50.00	14000.00	Rupees Fourteen Thousand Zero Zero Only
15.002	4.2.A.1 - Construction of granular sub-base by providing graded material, spreading in uniform layers with a motor grader on a prepared surface, mixing by mix in-place method with rotavator at OMC, and compacting with a vibratory roller to achieve the desired density, complete as per clause 401. Grading-III -For lower sub-base - Mix in Place Method	140.000	cum	3400.00	476000.00	Rupees Four Lakh Seventy Six Thousand Zero Zero Only
15.003	4.12 - Providing, laying, spreading and compacting graded stone aggregate to Wet Mix Macadam specification including premixing the Material with water at OMC in mechanical mix plant carriage of mixed Material by	140.000	cum	3600.00	504000.00	Rupees Five Lakh Four Thousand Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	tipper to site, laying in uniform layers with paver in sub- base / base course on well prepared surface and compacting with vibratory roller to achieve the desired density.					
15.004	5.1.a - Providing and applying primer coat with bitumen emulsion (SS) on prepared surface of granular Base including clearing of road surface and spraying primer at the rate of 0.70 - 1.0 kg/sqm using mechanical means.	1500.000	sqm	75.00	112500.00	Rupees One Lakh Twelve Thousand Five Hundred Zero Only
15.005	5.2.b - Providing and applying tack coat with bitumen emulsion (RS) using emulsion pressure distributor at the rate of 0.25 - 0.30 kg per sqm on the prepared Granular Surface cleaned with mechanical broom.	1500.000	sqm	15.00	22500.00	Rupees Twenty Two Thousand Five Hundred Zero Only
15.006	5.3.2.a - Providing and laying bituminous macadam with 80-100 TPH hot mix plant producing an average output of 75 tonnes per hour using crushed aggregates of specified grading premixed with a bituminous binder (VG 30), transported to the site, laid over a previously prepared surface with paver finisher to the required grade, level, and alignment and rolled as per clauses 501.6 and 501.7 to achieve the desired compaction For Grading II - (19 mm nominal size)		cum	9500.00	712500.00	Rupees Seven Lakh Twelve Thousand Five Hundred Zero Only
15.007	5.2.a - Providing and applying tack coat with bitumen emulsion (RS) using emulsion pressure distributor at the rate of 0.20 - 0.30 kg per sqm on the prepared bituminous surface cleaned with mechanical broom.	1500.000	sqm	12.00	18000.00	Rupees Eighteen Thousand Zero Zero Only
15.008	5.6.2.a - Providing and laying bituminous concrete with 80-100 TPH hot mix plant producing an average output of 75 tonnes per hour using crushed aggregates of specified grading, premixed with a bituminous binder(NRMB) @ 5.4 percent of mix and filler, transporting the hot	45.000	cum	14000.00	630000.00	Rupees Six Lakh Thirty Zero Thousand Zero Zero Only



Sl No	Description of monty	No. or Qty.	Unit	Accepted Rate	TOTAL	TOTAL
	Description of work				AMOUNT	AMOUNT in words
	mix to work site, laying with a hydrostatic paver finisher with sensor control to the required grade, level, and alignment, rolling with smooth wheeled, vibratory and tandem rollers to achieve the desired compaction as per MORTH specification clause No. 507 complete in all respects For Grading - II (13.2 mm Nominal Size)					
15.009	55.22 - Supplying and laying interlocking tile 100 mm or nearest size thickness, minimum strength M 40 including providing a layer of 6 mm aggregate for 5 cm thickness, then laying interlock cobbles in lines and levels as per the directions of the departmental officers at site inclusive of all cost & amp; conveyance charges etc.; complete.	500.000	sqm	1300.00	650000.00	Rupees Six Lakh Fifty Zero Thousand Zero Zero Only
16	Road Restoration Charges(M	IORD)- CWI	PM &am	p; CWGM		
16.001	3.5.3 - Excavation in Soil using Hydraulic Excavator and Tippers with disposal upto 1000 m Excavation for roadwork in soil with hydraulic excavator of 0.9 cum bucket capacity including cutting and loading in tippers, trimming bottom and side slopes, in accordance with requirements of lines, grades and cross-sections, and transporting to the embankment location with a lift upto 1.5 m and lead upto 1000 m as per Technical Specification Clause 302.3	OF PI			DEMIENT	Rupees One Lakh Thirty Seven Thousand Two Hundred Zero Only
16.002	4.1.A.1 - Granular Sub-base with Well Graded Material (Table 400.1) (A) By Mix in Place Method Construction of granular sub-base by providing well graded material, spreading in uniform layers with motor grader on prepared surface, mixing by mix in place method with rotavator at OMC, and compacting with smooth wheel roller to achieve the desired density, complete as per Technical Specification Clause 401. (i) For Grading I Material	1400.000	cum	3200.00	4480000.00	Rupees Forty Four Lakh Eighty Zero Thousand Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in
	Description of work				AMOUNT	words
16.003	4.9 - Wet Mix Macadam Providing, laying, spreading and compacting graded stone aggregate to wet mix macadam specification including premixing the material with water at OMC in mechanical mixer (Pug Mill), carriage of mixed material by tipper to site, laying in uniform layers in sub-base/base course on a well prepared sub-base and compacting with smooth wheel roller of 80 to 100kN weight to achieve the desired density including lighting, barricading and maintenance of diversion, etc as per Tables 400.11 & 400.12 and Technical Specification Clause 406. By Mechanical Means with 1 km lead	1400.000	cum	3600.00	5040000.00	Rupees Fifty Zero Lakh Forty Zero Thousand Zero Zero Only
16.004	5.1.1a - Prime Coat :- Low porosity Providing and applying primer coat with bitumen emulsion (SS-1) on prepared surface of granular base including cleaning of road surface and spraying primer at the rate of 0.70-1.0 kg/sqm using mechanical means as per Technical Specification Clause 502		sqm	90.00	900000.00	Rupees Nine Lakh Zero Zero Zero Only
16.005	5.2.3a - Tack Coat Providing and applying tack coat with Bitumen emulsion (RS-1) using emulsion distributor at the rate of 0.25 to 0.30 kg per sqm on the prepared granular surfaces treated with primer & cleaned with Hydraulic broom as per Technical Specification Clause 503.	10000.000	sqm	16.00	160000.00	Rupees One Lakh Sixty Zero Thousand Zero Zero Only
16.006	5.9.1.2a - 20mm thick Open-Graded Premix Carpet using Bituminous (penetration grade/modified bitumen) Binder - Bitumen S-65 Providing, laying and rolling of open-graded premix carpet of 20 mm thickness composed of 13.2 mm to 5.6 mm aggregates either using penetration grade bitumen or emulsion to required line, grade and level to serve as wearing course on a previously prepared base, including mixing in a suitable	10000.000	sqm	210.00	2100000.00	Rupees Twenty One Lakh Zero Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	plant, laying and rolling with a three wheel 80-100 kN static roller capacity, finished to required level and grades to be followed by seal coat of either Type A or Type B or Type C as per Technical Specification Clause 508. Case - I By Manual Means (II) Bitumen (S-65)					
16.007	5.12.A.3.2a - Seal Coat - Manual Means - Type C - Bitumen S-65 Providing and laying seal coat sealing the voids in a bituminous surface laid to the specified levels, grade and cross fall using Type A, Type B and Type C as per Technical Specification Clause 510 A. By Manual Means :- Case - III : Type C (II) Bitumen (S-65)	10000.000	sqm	90.00	900000.00	Rupees Nine Lakh Zero Zero Zero Only
16.008	75.8.1.1 - Providing plain/reinforced concrete(1 cement:2 fine aggregate: 4 course aggregate: 4 forsubstructure as per drawings and technical specifications Clause 802, 803, 1202 & properties ample to the specification of the specification	630.000	cum	9300.00	5859000.00	Rupees Fifty Eight Lakh Fifty Nine Thousand Zero Zero Only
17	Supplying and laying of Distr	ibution lines	and Pro	viding FHTCs		
17.001	100.98.115 - Supply of DI K9 Pipe Conforming to IS 8329/2000, 100mm Dia.	1322.000	metre	1480.00	1956560.00	Rupees Nineteen Lakh Fifty Six Thousand Five Hundred Sixty Zero Only
17.002	100.98.116 - Supply of DI K9 Pipe Conforming to IS 8329/2000, 150mm Dia.	76.000	metre	2250.00	171000.00	Rupees One Lakh Seventy One Thousand Zero Zero Only
17.003	100.98.117 - Supply of DI K9 Pipe Conforming to IS 8329/2000, 200mm Dia.	1125.000	metre	2900.00	3262500.00	Rupees Thirty Two Lakh Sixty Two Thousand Five Hundred Zero Only
17.004	100.98.134 - Supply of HDPE Pipe PE 100 (IS 4984/1995), 8kg, 90mm Outer Dia.	1975.000	metre	230.00	454250.00	Rupees Four Lakh Fifty Four Thousand Two Hundred Fifty



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
						Zero Only
17.005	100.98.154 - Supply of HDPE Pipe PE 100 (IS 4984/1995), 10kg, 90mm Outer Dia.	7391.000	metre	290.00	2143390.00	Rupees Twenty One Lakh Forty Three Thousand Three Hundred Ninety Zero Only
17.006	100.98.174 - Supply of HDPE Pipe PE 100 (IS 4984/1995), 12.5kg, 90mm Outer Dia.	20286.000	metre	340.00	6897240.00	Rupees Sixty Eight Lakh Ninety Seven Thousand Two Hundred Forty Zero Only
17.007	100.98.194 - Supply of HDPE Pipe PE 100 (IS 4984/1995), 16kg, 90mm Outer Dia.	6461.000	metre	410.00	2649010.00	Rupees Twenty Six Lakh Forty Nine Thousand Zero Ten Only
17.008	100.98.135 - Supply of HDPE Pipe PE 100 (IS 4984/1995), 8kg, 110mm Outer Dia.	298.000	metre	340.00	101320.00	Rupees One Lakh One Thousand Three Hundred Twenty Only
17.009	100.98.155 - Supply of HDPE Pipe PE 100 (IS 4984/1995), 10kg, 110mm Outer Dia.	4413.000	metre	420.00	1853460.00	Rupees Eighteen Lakh Fifty Three Thousand Four Hundred Sixty Zero Only
17.010	100.98.175 - Supply of HDPE Pipe PE 100 (IS 4984/1995), 12.5kg, 110mm Outer Dia.	1600.000	metre	510.00	816000.00	Rupees Eight Lakh Sixteen Thousand Zero Zero Only
17.011	100.98.195 - Supply of HDPE Pipe PE 100 (IS 4984/1995), 16kg, 110mm Outer Dia.	3092.000	metre	610.00	1886120.00	Rupees Eighteen Lakh Eighty Six Thousand One Hundred Twenty Only
17.012	100.98.138 - Supply of HDPE Pipe PE 100 (IS 4984/1995), 8kg, 160mm Outer Dia.	952.000	metre	760.00	723520.00	Rupees Seven Lakh Twenty Three Thousand Five Hundred Twenty Only
17.013	100.98.158 - Supply of HDPE Pipe PE 100 (IS 4984/1995), 10kg, 160mm Outer Dia.	532.000	metre	620.00	329840.00	Rupees Three Lakh Twenty Nine Thousand Eight Hundred Forty Zero Only
17.014	OD272868/2022-2023 - Supply of HDPE Specials@1% cost of pipe	1.000	L.S	187000.00	187000.00	Rupees One Lakh Eighty Seven Thousand Zero Zero Only
17.015	OD124021/2022-2023 - Supply of 150mm GI pipe	36.000	metre	2300.00	82800.00	Rupees Eighty Two Thousand Eight Hundred



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
						Zero Only
17.016	OD124022/2022-2023 - Supply of 100mm GI pipe	6507.000	metre	1600.00	10411200.00	Rupees One Crore Four Lakh Eleven Thousand Two Hundred Zero Only
17.017	OD272869/2022-2023 - Supply of GI pipe specials	1.000	L.S	240000.00	240000.00	Rupees Two Lakh Forty Zero Thousand Zero Zero Only
17.018	100.98.440 - Supply of CI Air Valve, Conforming to IS 14848 - 2000, Single Orifice, Small Orifice Type S1, Size 25mm.	20.000	no	6000.00	120000.00	Rupees One Lakh Twenty Thousand Zero Zero Only
17.019	100.98.445 - Supply of CI Air Valve, Conforming to IS 14848 - 2000, Double Orifice Type DS2, Size 40mm.	4.000	no	7500.00	30000.00	Rupees Thirty Zero Thousand Zero Zero Only
17.020	100.98.457 - Supply of CI Double Flanged Sluice Valve Conforming to IS 14846 - 2000, Sluice Valve with Cap PN 1.6, Size 80mm.	26.000	no	7200.00	187200.00	Rupees One Lakh Eighty Seven Thousand Two Hundred Zero Only
17.021	100.98.458 - Supply of CI Double Flanged Sluice Valve Conforming to IS 14846 - 2000, Sluice Valve with Cap PN 1.6, Size 100mm.	15.000	no	9900.00	148500.00	Rupees One Lakh Forty Eight Thousand Five Hundred Zero Only
17.022	100.98.460 - Supply of CI Double Flanged Sluice Valve Conforming to IS 14846 - 2000, Sluice Valve with Cap PN 1.6, Size 150mm.	2.000	no	14500.00	29000.00	Rupees Twenty Nine Thousand Zero Zero Only
17.023	100.98.461 - Supply of CI Double Flanged Sluice Valve Conforming to IS 14846 - 2000, Sluice Valve with Cap PN 1.6, Size 200mm.	1.000	no	25000.00	25000.00	Rupees Twenty Five Thousand Zero Zero Only
17.024	100.1.1 - Excavating trenches of required width for pipes, cables, etc., including excavation for sockets, and dressing of sides, ramming of bottoms, depth up to 1.5m, including getting out the excavated soil, and then returning the soil as required, in layers not exceeding 20cm in depth, including consolidating each deposited layer by ramming, watering, etc., and disposing of surplus excavated soil as directed, within a lead of 50m, in all	11076.680	cum	680.00	7532142.40	Rupees Seventy Five Lakh Thirty Two Thousand One Hundred Forty Two And Forty Zero paise Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
17.025	kinds of soil. 100.1.5 - Excavating trenches of required width for pipes, cables, etc., including excavation for sockets, and dressing of sides, ramming of bottoms, depth up to 1.5m, including getting out the excavated soil, and then returning the soil as required, in layers not exceeding 20cm in depth, including consolidating each deposited layer by ramming, watering, etc., and disposing of surplus excavated soil as directed, within a lead of 50 m, in	7942.008	cum	780.00	6194766.24	Rupees Sixty One Lakh Ninety Four Thousand Seven Hundred Sixty Six And Twenty Four paise Only
17.026	Ordinary Rock. 100.2.7 - Excavating trenches of required width for pipes, cables, etc., including excavation for sockets, and dressing of sides, ramming of bottoms, depth up to 1.5m, including getting out the excavated soil, and then returning the soil as required, in layers not exceeding 20cm in depth, including consolidating each deposited layer by ramming, watering, etc., and disposing of surplus excavated soil as directed, within a lead of 50m, in Medium Rock where Blasting is Prohibited.	2647.336	cum	1300.00	3441536.80	Rupees Thirty Four Lakh Forty One Thousand Five Hundred Thirty Six And Eighty Zero paise Only
17.027	100.4.1 - Excavating in hard rock for trenches by blasting for laying pipes and stacking useful materials for measurements and disposing unserviceable materials within the initial lead of 50m and lift up to 1.50m (depth from 0.0m to 1.50m) and providing protection by earth filled cement bags during blasting to avoid damages to nearby structures (200 Nos. of earth filled cement bags for 10m3 of blasting)		cum	3600.00	5718801.60	Rupees Fifty Seven Lakh Eighteen Thousand Eight Hundred One And Sixty Zero paise Only
17.028	100.1.10 - Excavating trenches of required width for pipes, cables, etc., including excavation for sockets, and dressing of sides, ramming of bottoms, depth exceeding 1.5m but not exceeding 3m, including getting out the excavated soil, and then		cum	1300.00	1376414.00	Rupees Thirteen Lakh Seventy Six Thousand Four Hundred Fourteen Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	returning the soil as required, in layers not exceeding 20cm in depth, including consolidating each deposited layer by ramming, watering, etc., and disposing of surplus excavated soil as directed, within a lead of 50m, in Hard Rock Requiring Blasting.					
17.029	50.2.25.1 - Filling with contractor's own earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20 cm in depth, consolidating each deposited layer by ramming and watering, lead up to 50 m and lift up to 1.5 m as per direction of site Engineer-in-charge	2400.000	cum	530.00	1272000.00	Rupees Twelve Lakh Seventy Two Thousand Zero Zero Only
17.030	100.8.1 - Fencing one side of trenches, 1.50m height with two rows of 10cm plastic caution tape in vertical casuarina pole (girth 15cm to 24cm) fixed at 2m intervals.	25400.000	metre	27.00	685800.00	Rupees Six Lakh Eighty Five Thousand Eight Hundred Zero Only
17.031	100.59.1 - Cutting the bituminous / concrete roads with cutting machine for a minimum depth of 200mm along the sides of proposed alignment of the pipe to be laid without causing any damage to other utilities, including the charges for hire and conveyance of tools and plant, cost of consumables and charges for lighting, watching, ribbon fencing, caution boards, traffic diversion, and as per the direction of departmental officers etc. complete, before carrying out the demolition of bituminous / concrete road by mechanical means and carrying out the excavation.	OF E	metre		18000.00	Rupees Eighteen Thousand Zero Zero Only
17.032	OD124023/2022-2023 - Dismantling manually including disposal of unserviceable material within 50 metres lead as per direction of Engineer -in-Charge:Bituminous road	10980.000	sqm	90.00	988200.00	Rupees Nine Lakh Eighty Eight Thousand Two Hundred Zero Only
17.033	100.10.1 - Laying HDPE pipes (IS: 4984) on land portion including conveying within initial lead and aligning the pipes, electro-	36113.000	metre	105.00	3791865.00	Rupees Thirty Seven Lakh Ninety One Thousand Eight Hundred Sixty



Sl No		No. or Qty.	Unit	Accepted Rate	TOTAL	TOTAL
	Description of work				AMOUNT	AMOUNT in words
	fusion welding using automatic or semi-automatic electrofusion machines, testing the pipeline thus fabricated to suit the hydraulic working pressure and after testing, aligning the pipeline, lowering the pipe in position into the trenches already made, testing the line to suitable pressure with potable water before back filling and levelling the trenches including all labour charge, hire for appliances etc., complete but excluding cost of pipe and fittings: 90mm Nominal Outer Diameter pipes.					Five Only
17.034	100.10.2 - Laying HDPE pipes (IS: 4984) on land portion including conveying within initial lead and aligning the pipes, electrofusion welding using automatic or semi-automatic electrofusion machines, testing the pipeline thus fabricated to suit the hydraulic working pressure and after testing, aligning the pipeline, lowering the pipe in position into the trenches already made, testing the line to suitable pressure with potable water before back filling and levelling the trenches including all labour charge, hire for appliances etc., complete but excluding cost of pipe and fittings: 110mm Nominal Outer Diameter Pipes.		metre	145.00	1363435.00	Rupees Thirteen Lakh Sixty Three Thousand Four Hundred Thirty Five Only
17.035	100.10.5 - Laying HDPE pipes (IS: 4984) on land portion including conveying within initial lead and aligning the pipes, electrofusion welding using automatic or semi-automatic electrofusion machines, testing the pipeline thus fabricated to suit the hydraulic working pressure and after testing, aligning the pipeline, lowering the pipe in position into the trenches already made, testing the line to suitable pressure with potable water before back filling and levelling the		metre	245.00	363580.00	Rupees Three Lakh Sixty Three Thousand Five Hundred Eighty Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	trenches including all labour charge, hire for appliances etc., complete but excluding cost of pipe and fittings: 160mm Nominal Outside Diameter Pipes.					
17.036	18.12.7 - Providing and fixing G.I. pipes complete with G.I fittings including trenching and refilling etc. External work65 mm dia nominal bore	2307.000	metre	950.00	2191650.00	Rupees Twenty One Lakh Ninety One Thousand Six Hundred Fifty Zero Only
17.037	18.12.8 - Providing and fixing G.I. pipes complete with G.I fittings including trenching and refilling etc. External work80 mm dia nominal bore	5421.000	metre	1150.00	6234150.00	Rupees Sixty Two Lakh Thirty Four Thousand One Hundred Fifty Zero Only
17.038	100.12.9 - Conveying and fixing G.I. pipes complete with G.I. fittings including trenching and refilling etc., but excluding cost of pipes and fittings for External work: 100mm diameter nominal bore.	6507.000	metre	270.00	1756890.00	Rupees Seventeen Lakh Fifty Six Thousand Eight Hundred Ninety Zero Only
17.039	100.12.11 - Conveying and fixing G.I. pipes complete with G.I. fittings including trenching and refilling etc., but excluding cost of pipes and fittings for External work: 150mm diameter nominal bore.	36.000	metre	330.00	11880.00	Rupees Eleven Thousand Eight Hundred Eighty Zero Only
17.040	100.14.1 - Conveying and laying S&S Centrifugally Cast (Spun) / Ductile Iron Pipes conforming to IS: 8329 excluding cost of pipes and specials: 100mm diameter Ductile Iron Class K-9 Pipes.	1356.000	metre	65.00	88140.00	Rupees Eighty Eight Thousand One Hundred Forty Zero Only
17.041	100.14.2 - Conveying and laying S&S Centrifugally Cast (Spun) / Ductile Iron Pipes conforming to IS: 8329 excluding cost of pipes and specials: 150mm diameter Ductile Iron Class K-9 Pipes.	70.000	metre	100.00	7000.00	Rupees Seven Thousand Zero Zero Only
17.042	100.14.3 - Conveying and laying S&S Centrifugally Cast (Spun) / Ductile Iron Pipes conforming to IS: 8329 excluding cost of pipes and specials: 200mm diameter Ductile Iron Class K-9 Pipes.	1143.000	metre	100.00	114300.00	Rupees One Lakh Fourteen Thousand Three Hundred Zero Only
17.043	OD124024/2022-2023 - Labour for cutting D.I. pipe with steel saw.100 mm	22.000	Each Cut	195.00	4290.00	Rupees Four Thousand Two Hundred Ninety



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	diameter D.I. pipe					Zero Only
17.044	OD124025/2022-2023 - Labour for cutting DI. pipe with steel saw.150 mm diameter C.I. pipe	8.000	Each Cut	365.00	2920.00	Rupees Two Thousand Nine Hundred Twenty Only
17.045	OD124026/2022-2023 - Labour for cutting D.I. pipe with steel saw.200 mm diameter D.I. pipe	20.000	Each Cut	490.00	9800.00	Rupees Nine Thousand Eight Hundred Zero Only
17.046	18.70.1 - Providing push - on- joints to Centrifugally (Spun) Cast Iron Pipes or Ductile Iron Pipes including testing of joints and including the cost of rubber gasket:100 mm dia pipes	240.000	joint	125.00	30000.00	Rupees Thirty Zero Thousand Zero Zero Only
17.047	18.70.2 - Providing push - on- joints to Centrifugally (Spun) Cast Iron Pipes or Ductile Iron Pipes including testing of joints and including the cost of rubber gasket:150 mm dia pipes	15.000	joint	200.00	3000.00	Rupees Three Thousand Zero Zero Only
17.048	18.70.3 - Providing push - on- joints to Centrifugally (Spun) Cast Iron Pipes or Ductile Iron Pipes including testing of joints and including the cost of rubber gasket:200 mm dia pipes	210.000	joint		61950.00	Rupees Sixty One Thousand Nine Hundred Fifty Zero Only
17.049	18.30.2 - Providing flanged joints to double flanged C.I./ D.I pipes and specials, including testing of joints:100 mm diameter pipe	12.000	no	350.00	4200.00	Rupees Four Thousand Two Hundred Zero Only
17.050	18.30.4 - Providing flanged joints to double flanged C.I./ D.I pipes and specials, including testing of joints:150 mm diameter pipe	4.000	no	440.00	1760.00	Rupees One Thousand Seven Hundred Sixty Zero Only
17.051	18.30.5 - Providing flanged joints to double flanged C.I./ D.I pipes and specials, including testing of joints:200 mm diameter pipe	10.000	no	475.00	4750.00	Rupees Four Thousand Seven Hundred Fifty Zero Only
17.052	18.68.1 - Providing and laying D.I specials of class K - 12 suitable for push - on jointing as per IS: 9523: Upt 600 mm dia	13.040	quintal	23000.00	299920.00	Rupees Two Lakh Ninety Nine Thousand Nine Hundred Twenty Only
17.053	100.32.1 - Conveying and fixing C. I. Single Acting Air Valve of approved quality with bolts, nuts, rubber insertions etc., complete, but excluding the cost of air valve (tail pieces, if required, will	20.000	no	160.00	3200.00	Rupees Three Thousand Two Hundred Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	be paid separately): 25mm Single Acting Air Valve.					
17.054	100.32.2 - Conveying and fixing C. I. Single Acting Air Valve of approved quality with bolts, nuts, rubber insertions etc., complete, but excluding the cost of air valve (tail pieces, if required, will be paid separately): 40mm Single Acting Air Valve.	4.000	no	200.00	800.00	Rupees Eight Hundred Zero Only
17.055	100.31.1.1 - Conveying and fixing C.I. sluice valves (with cap) by providing bolts, nuts, rubber insertions etc., complete, but excluding the cost of the valve (tail pieces, if required, will be paid separately): 80mm diameter, Class I.	26.000	no	670.00	17420.00	Rupees Seventeen Thousand Four Hundred Twenty Only
17.056	100.31.1.2 - Conveying and fixing C.I. sluice valves (with cap) by providing bolts, nuts, rubber insertions etc., complete, but excluding the cost of the valve (tail pieces, if required, will be paid separately): 100mm diameter, Class I.	15.000	no	1000.00	15000.00	Rupees Fifteen Thousand Zero Zero Only
17.057	100.31.1.4 - Conveying and fixing C.I. sluice valves (with cap) by providing bolts, nuts, rubber insertions etc., complete, but excluding the cost of the valve (tail pieces, if required, will be paid separately): 150mm diameter, Class I.	2.000	no	1375.00	2750.00	Rupees Two Thousand Seven Hundred Fifty Zero Only
17.058	100.31.1.5 - Conveying and fixing C.I. sluice valves (with cap) by providing bolts, nuts, rubber insertions etc., complete, but excluding the cost of the valve (tail pieces, if required, will be paid separately): 200mm diameter, Class I.	1.000	no	1750.00	1750.00	Rupees One Thousand Seven Hundred Fifty Zero Only
17.059	OD124027/2022-2023 - Supply and fixing of stainless steel spring loaded pressure relief valve as per IS 9739(1981)	30.000	no	6300.00	189000.00	Rupees One Lakh Eighty Nine Thousand Zero Zero Only
17.060	OD124028/2022-2023 - Supply, erection of 200 mm Mechanical flow meter of Woltsman type confirming ISO 4046 c l a s s B o f	2.000	no	38000.00	76000.00	Rupees Seventy Six Thousand Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	ARAD/ZENNIER/REYCHE M RPG/ITRON make and shall be tested and certified by FCRI Palakkad and product shall have warranty for at least 2 years					
17.061	OD124029/2022-2023 - Supply, erection of 150 mm Mechanical flow meter of Woltsman type confirming ISO 4046 c l a s s B o f ARAD/ZENNIER/REYCHE M RPG/ITRON make and shall be tested and certified by FCRI Palakkad and product shall have warranty for at least 2 years	4.000	no	31000.00	124000.00	Rupees One Lakh Twenty Four Thousand Zero Zero Only
17.062	OD124030/2022-2023 - Supply, erection of 100mm Mechanical flow meter of Woltsman type confirming ISO 4046 c l a s s B o f ARAD/ZENNIER/REYCHE M RPG/ITRON make and shall be tested and certified by FCRI Palakkad and product shall have warranty for at least 2 years	8.000	no	18000.00	144000.00	Rupees One Lakh Forty Four Thousand Zero Zero Only
17.063	100.35.1 - Testing 100mm DI/CI pipeline with potable water to the required test pressure 100 mm dia	1356.000	metre	26.00	35256.00	Rupees Thirty Five Thousand Two Hundred Fifty Six Only
17.064	100.35.2 - Testing 150mm DI/CI pipeline with potable water to the required test pressure 150 mm dia Observed Data derived from item no.1018 of PHED DATA	70.000	metre	35.00	2450.00	Rupees Two Thousand Four Hundred Fifty Zero Only
17.065	100.35.3 - Testing 200mm DI/CI pipeline with potable water to the required test pressure 200 mm dia Observed Data derived from item no.1020 of PHED DATA	1143.000	metre	45.00	51435.00	Rupees Fifty One Thousand Four Hundred Thirty Five Only
17.066	100.37.5.1 - In situ fabrication of M.S. pipes of size 100mm (I.D.) using 8mm thick M.S. plate including cost and conveyance charges of M.S. plate, all fabrication charges, charges of painting the steel work with two or more coat	60.000	metre	4500.00	270000.00	Rupees Two Lakh Seventy Zero Thousand Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	deluxe multi surface paint to give an even shade over an under-coat of primer etc., complete.					
17.067	100.37.5.2 - Fabricating M.S. flanges of diameter 100mm using 12mm thick M.S. plate including cost and conveyance charges of M.S. plate, all fabrication charges, charges of painting the steel work with two or more coat deluxe multi surface paint to give an even shade over an under-coat of primer etc., complete: For pipes fabricated with 8mm thick M.S. plates.	2.000	no	1270.00	2540.00	Rupees Two Thousand Five Hundred Forty Zero Only
17.068	100.37.5.3 - Cutting 100mm (I.D.) M.S. pipes for making bends and other specials by gas cutting including cost of gas, all labour and hire charges of tools etc., complete: For pipes fabricated with 8mm thick M.S. plates.	10.000	no	130.00	1300.00	Rupees One Thousand Three Hundred Zero Only
17.069	100.37.5.4 - Welding 100mm (I.D.) M.S. pipes for making bends and other specials by gas/electric welding machine including cost of gas and welding rods, all labour and hire charges of tools etc., complete: For pipes fabricated with 8mm thick M.S. plates.		no	490.00	4900.00	Rupees Four Thousand Nine Hundred Zero Only
17.070	100.37.5.5 - Grinding cut and weld edges of 100mm (I.D.) M.S. pipes during fabrication work including all labour and hire charges of tools etc., complete: For pipes fabricated with 8mm thick M.S. plates.	20.000	no	90.00	1800.00	Rupees One Thousand Eight Hundred Zero Only
17.071	100.37.7.1 - In situ fabrication of M.S. pipes of size 200mm (I.D.) using 8mm thick M.S. plate including cost and conveyance charges of M.S. plate, all fabrication charges, charges of painting the steel work with two or more coat deluxe multi surface paint to give an even shade over an under-coat of primer etc., complete.	36.000	metre	6600.00	237600.00	Rupees Two Lakh Thirty Seven Thousand Six Hundred Zero Only
17.072	100.37.7.2 - Fabricating M.S. flanges of diameter 200mm using 12mm thick M.S. plate including cost and conveyance charges of M.S. plate, all fabrication charges,	2.000	no	2000.00	4000.00	Rupees Four Thousand Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	charges of painting the steel work with two or more coat deluxe multi surface paint to give an even shade over an under-coat of primer etc., complete: For pipes fabricated with 8mm thick M.S. plates.					
17.073	100.37.7.3 - Cutting 200mm (I.D.) M.S. pipes for making bends and other specials by gas cutting including cost of gas, all labour and hire charges of tools etc., complete: For pipes fabricated with 8mm thick M.S. plates.	10.000	no	225.00	2250.00	Rupees Two Thousand Two Hundred Fifty Zero Only
17.074	100.37.7.4 - Welding 200mm (I.D.) M.S. pipes for making bends and other specials by gas/electric welding machine including cost of gas and welding rods, all labour and hire charges of tools etc., complete: For pipes fabricated with 8mm thick M.S. plates.	10.000	no	900.00	9000.00	Rupees Nine Thousand Zero Zero Only
17.075	100.37.7.5 - Grinding cut and weld edges of 200mm (I.D.) M.S. pipes during fabrication work including all labour and hire charges of tools etc., complete: For pipes fabricated with 8mm thick M.S. plates.	20.000	no	170.00	3400.00	Rupees Three Thousand Four Hundred Zero Only
17.076	2.8.1 - Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5 m in width or 10 sqm on plan), including dressing of sides and ramming of bottoms, lift up to 1.5 m, including getting out the excavated soil and disposal of surplus excavated soil as directed, within a lead of 50 m.All kinds of soil	301.320	cum	340.00	102448.80	Rupees One Lakh Two Thousand Four Hundred Forty Eight And Eighty Zero paise Only
17.077	4.1.3 - Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level:1:2:4 (cement: 2 coarse sand (zone-III): 4 graded stone aggregate 20 mm nominal size)	31.230	cum	9100.00	284193.00	Rupees Two Lakh Eighty Four Thousand One Hundred Ninety Three Only
17.078	5.1.3 - Providing and laying in position specified grade of reinforced cement concrete, excluding the cost of centering, shuttering,	38.744	cum	9700.00	375816.80	Rupees Three Lakh Seventy Five Thousand Eight Hundred Sixteen And



G1.17		 0.	4.			
Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	finishing and reinforcement - All work up to plinth level:1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size)					Eighty Zero paise Only
17.079	5.1.2 - Providing and laying in position specified grade of reinforced cement concrete, excluding the cost of centering, shuttering, finishing and reinforcement - All work up to plinth level:1:1:5:3 (1 cement 1.5 coarse sand :3 graded stone aggregate 20 mm nominal size	106.578	cum	10000.00	1065780.00	Rupees Ten Lakh Sixty Five Thousand Seven Hundred Eighty Zero Only
17.080	5.9.2 - Centering and shuttering including strutting, etc. and removal of form for:Walls (any thickness) including attached pilasters, butteresses, plinth and string courses etc.	770.040	sqm	820.00	631432.80	Rupees Six Lakh Thirty One Thousand Four Hundred Thirty Two And Eighty Zero paise Only
17.081	5.9.1 - Centering and shuttering including strutting, etc. and removal of form for:Foundations, footings, bases of columns, etc for mass concrete	424.000	sqm	385.00	163240.00	Rupees One Lakh Sixty Three Thousand Two Hundred Forty Zero Only
17.082	5.22.6 - Steel reinforcement for R.C.C work including straightening, cutting, bending, placing in position and binding all complete upto plinth levelThermo - Mechanically Treated bars of grade Fe-500D or more	10463.440	kilogra m	110.00	1150978.40	Rupees Eleven Lakh Fifty Zero Thousand Nine Hundred Seventy Eight And Forty Zero paise Only
17.083	100.60.13.1.2 - Providing 15mm (1/2 inch) house connection with 15mm water meter from existing PVC / HDPE mains up to 110 mm dia., up to a length of 5m using 20mm (1/2 inch) PE Pipe, PE 80, PN 16, Conforming to IS 4984: 2016 or later edition and PP N 16 Compression / GM / Brass specials viz. brass ferrule, brass hexagonal nipple, GM full way wheel valve, bend, MTA, FTA, couplers, PVC Service Saddle of suitable size etc. and connecting with the mains, testing the joints etc. complete including trenching and refilling in all kinds of soil up to a depth of	1710.000	no	7800.00	13338000.00	Rupees One Crore Thirty Three Lakh Thirty Eight Thousand Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	1.50m for main line tracing and trench of average cross section 0.3m x 0.75m for laying connection pipe and service pipe, fixing water meter, lighting, watching, providing caution boards, traffic control etc. complete including cost of materials, hire for tools, cost of consumables and labour charges, including the cost of tested Class B Multijet water meter with ISI mark and weather resistant PP / PE meter box of minimum size 300mm x 200mm x 150mm, but excluding charges for cutting the concrete / tarred / bituminous roads etc, and as per the direction of the departmental officers.					
17.084	100.60.13.3.2 - Providing 20mm (3/4 inch) house connection with 15mm water meter from existing PVC / HDPE mains up to 110 mm dia., up to a length of 5m using 25mm (3/4 inch) PE Pipe, PE 80, PN 16, Conforming to IS 4984: 2016 or later edition and PP PN 16 Compression / GM / Brass specials viz. brass ferrule, brass hexagonal nipple, GM full way wheel valve, bend, MTA, FTA, couplers, PVC Service Saddle of suitable size etc. and connecting with the mains, testing the joints etc. complete including trenching and refilling in all kinds of soil up to a depth of 1.50m for main line tracing and trench of average cross section 0.3m x 0.75m for laying connection pipe and service pipe, fixing water meter, lighting, watching, providing caution boards, traffic control etc. complete including cost of materials, hire for tools, cost of consumables and labour charges, including the cost of tested Class B Multijet water meter and weather with ISI mark resistant PP / PE meter box of minimum size 300mm x 200mm x 150mm, but excluding charges for cutting		no		8456800.00	Rupees Eighty Four Lakh Fifty Six Thousand Eight Hundred Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	the concrete / tarred / bituminous roads etc, and as per the direction of the departmental officers.					
17.085	100.60.13.4.2 - Providing 15 mm (1/2 inch) house connection with 15 mm water meter from existing AC / GI mains up to 125 mm dia., up to a length of 5 m using 20 mm (1/2 inch) PE Pipe, PE80, PN16, Conforming to IS 4984: 2016 or later edition and PP PN 16 Compression / GM / Brass specials viz. brass ferrule, brass hexagonal nipple, GM full way wheel valve, bend, MTA, FTA, couplers, GI / MS Service Saddle of suitable size etc. and connecting with the mains, testing the joints etc. complete including trenching and refilling in all kinds of soil up to a depth of 1.50 m for main line tracing and trench of average cross section 0.3 m x 0.75 m for laying connection pipe and service pipe, fixing water meter, lighting, watching, providing caution boards, traffic control etc. complete including the cost of materials, hire for tools, cost of consumables and labour charges, including the cost of tested Class B Multijet water meter with ISI mark and weather resistant PP / PE meter box of minimum size 300 mm x 200 mm x 150 mm, but excluding charges for cutting the concrete / tarred / bituminous roads etc, and as per the direction of the departmental officers.	F		7900.00	Е	Rupees Twenty Eight Lakh Forty Four Thousand Zero Zero Only
17.086	100.60.13.6.2 - Providing 20mm (3/4 inch) house connection with 15mm water meter from existing AC / GI mains up to 125 mm dia., up to a length of 5 m using 25mm (3/4 inch) PE Pipe, PE80, PN16, Conforming to IS 4984: 2016 or later edition and PP PN 16 Compression / GM / Brass specials viz. brass ferrule, brass hexagonal nipple, GM full way wheel valve, bend, MTA, FTA, couplers, GI / MS Service	330.000	no	8800.00	2904000.00	Rupees Twenty Nine Lakh Four Thousand Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
17.087	Saddle of suitable size etc. and connecting with the mains, testing the joints etc. complete including trenching and refilling in all kinds of soil up to a depth of 1.50m for main line tracing and trench of average cross section 0.3m x 0.75m for laying connection pipe and service pipe, fixing water meter, lighting, watching, providing caution boards, traffic control etc. complete including cost of materials, hire for tools, cost of consumables and labour charges, including the cost of tested Class B Multijet water meter with ISI mark and weather resistant PP / PE meter box of minimum size 300mm x 200mm x 150mm, but excluding charges for cutting the concrete / tarred / bituminous roads etc, and as per the direction of the departmental officers. 100.60.13.7.2 - Providing 15mm (1/2 inch) house connection with 15mm water meter from existing CI mains up to 125 mm dia., up to a length of 5 m using 20mm (1/2 inch) PE Pipe, PE80, PN16, Conforming to IS 4984: 2016 or later edition and PP PN 16 Compression / GM / Brass specials viz. brass ferrule, brass hexagonal nipple, GM full way wheel valve, bend, MTA, FTA, couplers etc. and connecting with the mains, testing the joints etc. complete including trenching and refilling in all kinds of soil up to a depth of 1.50m for main line tracing and trench of average cross section 0.3m x 0.75m for laying connection pipe and service pipe, fixing water meter, lighting, watching, providing caution boards, traffic control etc. complete including cost of materials, hire for tools, cost of consumables and labour charges, including the cost of tested Class B Multijet water meter with ISI mark and weather resistant PP / PE	20.000	no		180000.00	Rupees One Lakh Eighty Zero Thousand Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	meter box of minimum size 300mm x 200mm x 150mm, but excluding charges for cutting the concrete / tarred / bituminous roads etc, and as per the direction of the departmental officers					
17.088	100.60.13.9.2 - Providing 20mm (3/4 inch) house connection with 15mm water meter from existing CI mains up to 125 mm dia., up to a length of 5 m using 25mm (3/4 inch) PE Pipe, PE80, PN16, Conforming to IS 4984: 2016 or later edition and PP PN 16 Compression / GM / Brass specials viz. brass ferrule, brass hexagonal nipple, GM full way wheel valve, bend, MTA, FTA, couplers etc. and connecting with the mains, testing the joints etc. complete including trenching and refilling in all kinds of soil up to a depth of 1.50m for main line tracing and trench of average cross section 0.3m x 0.75m for laying connection pipe and service pipe, fixing water meter, lighting, watching, providing caution boards, traffic control etc. complete including cost of materials, hire for tools, cost of consumables and labour charges, including the cost of tested Class B Multijet water meter with ISI mark and weather resistant PP / PE meter box of minimum size 300mm x 200mm x 150mm, but excluding charges for cutting the concrete / tarred / bituminous roads etc, and as per the direction of the departmental officers	10.000	no	10000.00	100000.00	Rupees One Lakh Zero Zero Zero Only
17.089	100.60.14.7.2 - Providing 15mm (1/2 inch) house connection with 15mm water meter from existing CI mains from 150mm to 200mm dia., up to a length of 5 m using 20mm (1/2 inch) PE Pipe, PE80, PN16, Conforming to IS 4984: 2016 or later edition and PP PN 16 Compression / GM / Brass specials viz. brass ferrule, brass hexagonal nipple, GM full way wheel	12.000	no	9250.00	111000.00	Rupees One Lakh Eleven Thousand Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
17.090	valve, bend, MTA, FTA, couplers etc. and connecting with the mains, testing the joints etc. complete including trenching and refilling in all kinds of soil up to a depth of 1.50m for main line tracing and trench of average cross section 0.3m x 0.75m for laying connection pipe and service pipe, fixing water meter, lighting, watching, providing caution boards, traffic control etc. complete including cost of materials, hire for tools, cost of consumables and labour charges, including the cost of tested Class B Multijet water meter with ISI mark and weather resistant PP / PE meter box of minimum size 300mm x 200mm x 150mm, but excluding charges for cutting the concrete / tarred / bituminous roads etc, and as per the direction of the departmental officers. 100.60.14.9.2 - Providing 20mm (3/4 inch) house connection with 15mm water meter from existing CI mains from 150mm to 200mm dia., up to a length of 5 m using 25mm (3/4 inch) PE Pipe, PE80, PN16, Conforming to IS 4984: 2016 or later edition and PP PN 16 Compression / GM / Brass specials viz. brass ferrule, brass hexagonal nipple, GM full way wheel valve, bend, MTA, FTA, couplers etc. and connecting with the mains, testing the joints etc. complete including trenching and refilling in all kinds of soil up to a depth of 1.50m for main line tracing and trench of average cross section 0.3m x 0.75m for laying connection pipe and service pipe, fixing water meter, lighting, watching, providing caution boards, traffic control etc. complete including cost of materials, hire for tools, cost of consumables and labour charges, including the cost of tested Class B Multijet water meter with ISI mark and	8.000	no	10000.00	80000.00	Rupees Eighty Zero Thousand Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	weather resistant PP / PE meter box of minimum size 300mm x 200mm x 150mm, but excluding charges for cutting the concrete / tarred / bituminous roads etc, and as per the direction of the departmental officers.					
17.091	100.60.14.1.2 - Providing 15 mm (1/2 inch) house connection with 15 mm water meter from existing PVC / HDPE mains from 140 mm to 200 mm dia., up to a length of 5 m using 20 mm (1/2 inch) PE Pipe, PE80, PN16, Conforming to IS 4984: 2016 or later edition and PP N 16 Compression / GM / Brass specials viz. brass ferrule, brass hexagonal nipple, GM full way wheel valve, bend, MTA, FTA, couplers, PVC Service Saddle of suitable size etc. and connecting with the mains, testing the joints etc. complete including trenching and refilling in all kinds of soil up to a depth of 1.50 m for main line tracing and trench of average cross section 0.3 m x 0.75 m for laying connection pipe and service pipe, fixing water meter, lighting, watching, providing caution boards, traffic control etc. complete including cost of materials, hire for tools, cost of consumables and labour charges, including the cost of tested Class B Multijet water meter with ISI mark and weather resistant PP / PE meter box of minimum size 300 mm x 200 mm x 150 mm, but excluding charges for cutting the concrete / tarred / bituminous roads etc, and as per the direction of the departmental officers.		no	7950.00	159000.00	Rupees One Lakh Fifty Nine Thousand Zero Zero Only
17.092	100.60.14.3.2 - Providing 20mm (3/4 inch) house connection with 15mm water meter from existing PVC / HDPE mains from 140mm to 200mm dia., up to a length of 5 m using 25mm (3/4 inch) PE Pipe, PE80, PN16, Conforming to IS 4984: 2016 or later edition and PP PN 16		no	8900.00	133500.00	Rupees One Lakh Thirty Three Thousand Five Hundred Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
17.093	Compression / GM / Brass specials viz. brass ferrule, brass hexagonal nipple, GM full way wheel valve, bend, MTA, FTA, couplers, PVC Service Saddle of suitable size etc. and connecting with the mains, testing the joints etc. complete including trenching and refilling in all kinds of soil up to a depth of 1.50m for main line tracing and trench of average cross section 0.3m x 0.75m for laying connection pipe and service pipe, fixing water meter, lighting, watching, providing caution boards, traffic control etc. complete including cost of materials, hire for tools, cost of consumables and labour charges, including the cost of tested Class B Multijet water meter with ISI mark and weather resistant PP / PE meter box of minimum size 300mm x 200mm x 150mm, but excluding charges for cutting the concrete / tarred / bituminous roads etc, and as per the direction of the departmental officers	19800.000	metre	195.00	3861000 00	Rupees Thirty
17.075	additional length of house connection pipe using 20 mm (1/2 inch) PE Pipe, PE80, PN16, Conforming to IS 4984: 2016 or later edition and PN16 specials and testing the joints etc., by trenching and refilling in all kinds of soil with trench of average cross section 0.3m x 0.75m for laying of connection pipe and service pipe, lighting, watching, providing caution boards, traffic control etc., including cost of materials, hire for tools, cost of consumables and labour charges etc. complete, but excluding the cost of cutting of concrete / tarred / bituminous roads etc., and as per the directions of the department officers.					Eight Lakh Sixty One Thousand Zero Zero Only
17.094	100.60.15.2.1 - Providing additional length of house connection pipe using 25 mm (3/4 inch) PE Pipe, PE80,	52960.000	metre	210.00	11121600.00	Rupees One Crore Eleven Lakh Twenty One Thousand



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	PN16, Conforming to IS 4984: 2016 or later edition and PN 16 specials and testing the joints etc., by trenching and refilling in all kinds of soil with trench of average cross section 0.3m x 0.75 m for laying of connection pipe and service pipe, lighting, watching, providing caution boards, traffic control etc., including cost of materials, hire for tools, cost of consumables and labour charges etc. complete, but excluding the cost of cutting of concrete / tarred / bituminous roads etc., and as per the directions of the department officers.					Six Hundred Zero Only
17.095	100.60.10.1.1 - Providing 15mm (1/2 inch) GM Air Valve in the water meter assembly for 15mm connection, using 20mm Indian Standard Class 6 uPVC pipes and specials including cost of materials, consumables, hire for tools and labour charges etc. complete and as per the directions of the department officers.	2122.000	no	880.00	1867360.00	Rupees Eighteen Lakh Sixty Seven Thousand Three Hundred Sixty Zero Only
17.096	100.60.10.2.1 - Providing 20mm (3/4 inch) GM Air Valve in the water meter as sembly for 20mm connection, using 25mm Indian Standard Class 6 uPVC pipes and specials including cost of materials, consumables, hire for tools and labour charges etc. complete and as per the directions of the department officers.	1324.000	no	1100.00	1456400.00	Rupees Fourteen Lakh Fifty Six Thousand Four Hundred Zero Only
17.097	100.60.12.3.1 - Providing 15mm PVC Tap in the water meter assembly for 15mm connection, using 20mm Indian Standard Class 6 uPVC pipes and specials including cost of materials, consumables, hire charges for tools and labour charges etc. complete and as per the direction of departmental officers.	2122.000	no	660.00	1400520.00	Rupees Fourteen Lakh Zero Five Hundred Twenty Only
17.098	100.60.12.4.1 - Providing 15mm PVC Tap in the water	1324.000	no	700.00	926800.00	Rupees Nine Lakh Twenty



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	meter assembly for 20mm connection, using 25mm Indian Standard Class 6 uPVC pipes and specials including cost of materials, consumables, hire charges for tools and labour charges etc. complete and as per the direction of departmental officers.					Six Thousand Eight Hundred Zero Only
18	Road restoration charges(MC	ORTH) - Dist	ribution	lines		
18.001	3.6 - Excavation for roadwork in soil with hydraulic excavator of 0.9 cum bucket capacity including cutting and loading in tippers, trimming bottom and side slopes, in accordance with requirements of lines, grades and cross sections, and transporting to the embankment location within all lifts and lead upto 1000m	1120.000	cum	53.00	59360.00	Rupees Fifty Nine Thousand Three Hundred Sixty Zero Only
18.002	4.2.A.1 - Construction of granular sub-base by providing graded material, spreading in uniform layers with a motor grader on a prepared surface, mixing by mix in-place method with rotavator at OMC, and compacting with a vibratory roller to achieve the desired density, complete as per clause 401. Grading-III -For lower sub-base - Mix in Place Method	560.000	cum	3500.00	1960000.00	Rupees Nineteen Lakh Sixty Zero Thousand Zero Zero Only
18.003	4.12 - Providing, laying, spreading and compacting graded stone aggregate to Wet Mix Macadam specification including premixing the Material with water at OMC in mechanical mix plant carriage of mixed Material by tipper to site, laying in uniform layers with paver in sub- base / base course on well prepared surface and compacting with vibratory roller to achieve the desired density.	560.000	cum	3600.00	2016000.00	Rupees Twenty Lakh Sixteen Thousand Zero Zero Only
18.004	5.1.a - Providing and applying primer coat with bitumen emulsion (SS) on prepared surface of granular Base including clearing of road surface and spraying primer at the rate of 0.70 - 1.0 kg/sqm	6000.000	sqm	80.00	480000.00	Rupees Four Lakh Eighty Zero Thousand Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	using mechanical means.					
18.005	5.2.b - Providing and applying tack coat with bitumen emulsion (RS) using emulsion pressure distributor at the rate of 0.25 - 0.30 kg per sqm on the prepared Granular Surface cleaned with mechanical broom.	6000.000	sqm	15.00	90000.00	Rupees Ninety Zero Thousand Zero Zero Only
18.006	5.3.2.a - Providing and laying bituminous macadam with 80-100 TPH hot mix plant producing an average output of 75 tonnes per hour using crushed aggregates of specified grading premixed with a bituminous binder (VG 30), transported to the site, laid over a previously prepared surface with paver finisher to the required grade, level, and alignment and rolled as per clauses 501.6 and 501.7 to achieve the desired compaction For Grading II - (19 mm nominal size)	300.000	cum	9500.00	2850000.00	Rupees Twenty Eight Lakh Fifty Zero Thousand Zero Zero Only
18.007	5.2.a - Providing and applying tack coat with bitumen emulsion (RS) using emulsion pressure distributor at the rate of 0.20 - 0.30 kg per sqm on the prepared bituminous surface cleaned with mechanical broom.	6000.000	sqm	12.00	72000.00	Rupees Seventy Two Thousand Zero Zero Only
18.008	5.6.2.a - Providing and laying bituminous concrete with 80-100 TPH hot mix plant producing an average output of 75 tonnes per hour using crushed aggregates of specified grading, premixed with a bituminous binder(NRMB) @ 5.4 percent of mix and filler, transporting the hot mix to work site, laying with a hydrostatic paver finisher with sensor control to the required grade, level, and alignment, rolling with smooth wheeled, vibratory and tandem rollers to achieve the desired compaction as per MORTH specification clause No. 507 complete in all respects For Grading - II (13.2 mm Nominal Size)	180.000	cum	14500.00	2610000.00	Rupees Twenty Six Lakh Ten Thousand Zero Zero Only
18.009	55.22 - Supplying and laying interlocking tile 100 mm or	1000.000	sqm	1300.00	1300000.00	Rupees Thirteen Lakh Zero Zero



Sl No	D : () 0 1	No. or Qty.	Unit	Accepted Rate	TOTAL	TOTAL
	Description of work				AMOUNT	AMOUNT in words
	nearest size thickness, minimum strength M 40 including providing a layer of 6 mm aggregate for 5 cm thickness, then laying interlock cobbles in lines and levels as per the directions of the departmental officers at site inclusive of all cost & amp; conveyance charges etc.; complete.					Zero Only
19	Road Restoration Charges(M	IORD)- Distr	ibution l	ines		
19.001	3.5.3 - Excavation in Soil using Hydraulic Excavator and Tippers with disposal upto 1000 m Excavation for roadwork in soil with hydraulic excavator of 0.9 cum bucket capacity including cutting and loading in tippers, trimming bottom and side slopes, in accordance with requirements of lines, grades and cross-sections, and transporting to the embankment location with a lift upto 1.5 m and lead upto 1000 m as per Technical	3220.000	cum	40.00	128800.00	Rupees One Lakh Twenty Eight Thousand Eight Hundred Zero Only
	Specification Clause 302.3	e-PL/ or in	MINORY WILLEW	FOR THE MANA	DEMENT	
19.002	4.1.A.1 - Granular Sub-base with Well Graded Material (Table 400.1) (A) By Mix in Place Method Construction of granular sub-base by providing well graded material, spreading in uniform layers with motor grader on prepared surface, mixing by mix in place method with rotavator at OMC, and compacting with smooth wheel roller to achieve the desired density, complete as per Technical Specification Clause 401. (i) For Grading I Material	1400.000	cum	3200.00		Rupees Forty Four Lakh Eighty Zero Thousand Zero Zero Only
19.003	4.9 - Wet Mix Macadam Providing, laying, spreading and compacting graded stone aggregate to wet mix macadam specification including premixing the material with water at OMC in mechanical mixer (Pug Mill), carriage of mixed material by tipper to site, laying in uniform layers in sub-base/base course on a well prepared sub-base and compacting with smooth	1400.000	cum	3800.00	5320000.00	Rupees Fifty Three Lakh Twenty Thousand Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	wheel roller of 80 to 100kN weight to achieve the desired density including lighting, barricading and maintenance of diversion, etc as per Tables 400.11 & 400.12 and Technical Specification Clause 406. By Mechanical Means with 1 km lead					
19.004	5.1.1a - Prime Coat :- Low porosity Providing and applying primer coat with bitumen emulsion (SS-1) on prepared surface of granular base including cleaning of road surface and spraying primer at the rate of 0.70-1.0 kg/sqm using mechanical means as per Technical Specification Clause 502	10000.000	sqm	95.00	950000.00	Rupees Nine Lakh Fifty Zero Thousand Zero Zero Only
19.005	5.2.3a - Tack Coat Providing and applying tack coat with Bitumen emulsion (RS-1) using emulsion distributor at the rate of 0.25 to 0.30 kg per sqm on the prepared granular surfaces treated with primer & cleaned with Hydraulic broom as per Technical Specification Clause 503.		sqm	17.00	170000.00	Rupees One Lakh Seventy Zero Thousand Zero Zero Only
19.006	5.9.1.2a - 20mm thick Open-Graded Premix Carpet using Bituminous (penetration grade/modified bitumen) Binder - Bitumen S-65 Providing, laying and rolling of open-graded premix carpet of 20 mm thickness composed of 13.2 mm to 5.6 mm aggregates either using penetration grade bitumen or emulsion to required line, grade and level to serve as wearing course on a previously prepared base, including mixing in a suitable plant, laying and rolling with a three wheel 80-100 kN static roller capacity, finished to required level and grades to be followed by seal coat of either Type A or Type B or Type C as per Technical Specification Clause 508. Case - I By Manual Means (II) Bitumen (S-65)		sqm	220.00	2200000.00	Rupees Twenty Two Lakh Zero Zero Zero Only
19.007	(II) Bitumen (S-65) 5.12.A.3.2a - Seal Coat - Manual Means - Type C - Bitumen S-65 Providing and laying seal coat sealing the	10000.000	sqm	95.00	950000.00	Rupees Nine Lakh Fifty Zero Thousand Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	voids in a bituminous surface laid to the specified levels, grade and cross fall using Type A, Type B and Type C as per Technical Specification Clause 510 A. By Manual Means: - Case - III: Type C (II) Bitumen (S-65)					
19.008	75.8.1 - Providing Plain cement concrete for road work CC 1:2:4 (1 cement: 2 fine aggregate: 4course aggregate) laid to required slope and camber in panels (@ 3 m c/c) as required in cluding compaction, finishing and tamping etc.complete. Max. size of courseaggregate not exceeding 25mm, mixed in concrete mixer etc complete as perspecification (i) Nominal mix (1:2:4)	420.000	cum	9500.00	3990000.00	Rupees Thirty Nine Lakh Ninety Zero Thousand Zero Zero Only
20	Supply, Erection, Testing and Marayoor Gramam Booster				sets from WTP t	o GLSR at
20.001	OD267575/2022-2023 - Supply, erection, testing and commissioning of CF pumpset having a discharge of 20 lps for a head of 61 m from WTP to Marayoor Gramam Booster. Supply and erection of CF pump set with the followingth; br> 1. Pump< br> Supply, erection, testing and commissioning of KWA prequalified reputed make Centrifugal pump sets with Bronze/SS impeller, SS shaft and CI pump casing with suitable type base plate with coupling, coupling guard foundation bolts & Damp and motor above the base plate etc. complete including providing suitable concrete foundation including cost of cement sand and metal etc. complete< br> The duty condition in a sfollows< br> Total head-6 mtrs< br> & It; br> Size of pumping main pipe - 150 mm DI, Length-2670	2.000	no	1072000.00	0.000	Rupees Twenty One Lakh Forty Four Thousand Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	m Speed- Less than 1 5 0 0 r p m . 2 . Motor Supply, erection, testing and commissioning of KWA pre qualified reputed make horizontal solid shaft foot mounted TEFC squirrel cage induction motor suitable for the above pump working 3 phase 50 Hz AC supply, working voltage 415 V/3300V (select the suitable). The motor shall confirm to IE2/IE3 as per IS12615-2018					words
	including providing suitable concrete foundation including cost of cement sand and metal etc. complete For 3300v motors digital motor protection relay shall be included in starter as per present CEA regulation. Flexible coupling shall be used for coupling of pumps and motors. < br> 3. Starter< br> Supply, erection, testing and commissioning of suitable rating (Fully Automatic		O O		E	
	starter with air break contact for less than 100 HP and for above 100 HP FCMA starters to be used.) starter suitable for the above motor with over voltage and under voltage protection, single phase preventer, over load relay with motor protection relay with main contactor and bypass contactor as per IE rules and code of practice etc. complete. 4. Panel board (suitable for		JBLIC W	D40-456		
	operating two pump sets but one pump set at a time) & lt; br & gt; Supply, erection, testing and commissioning of cubical type floor mounted MS fabricated dust and vermin proof common control panel board consisting of 1 No. suitable capacity MCCB as incomer and 2 Nos of suitable capacity MCCB as out going (the two MCCBs are interlocking with each other) providing suitable size Aluminium bus bar inter connect the above MCCBs and fitted with 3 Nos of					



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	indicator lamps, 1 No. volt meter with selector switch, 1 No. Ammeter with selector switch, 1 No. Ammeter with selector switch etc. Complete and provided with a common earth bus for the entire panel and inter connect with the MCCBs as per CEA regulation and code of practice. The panel shall be fitted on a common base frame on suitable foundation. (Specification may be modified if there is only one) pump set by changing 2 Nos of out going as one out going and the provision of interlocking may be avoided) 5. C a b l i n g work Supply, laying, testing and commissioning of suitable size XLPE cables for the above pump set from panel board to starter and from starter to motor. considering e n e r g y conservation. Supply of all materials and providing suitable earthing by using suitable earthing by using suitable earthing to motor, starter, panel board etc. as per IE standards. 7. Capacitor Supply, erection, testing and commissioning of heavy duty APP capacitor for the motor to get a power factor above 0.95. The capacitor shall c on firm to IS 2 8 3 4 & lt; br & gt; 8. Valves Supply of suitable size best quality heavy duty ISI marked CI double flanged sluice valve and Non return valve with suitable pressure rating. Fitting of valves shall include proper R C C support especially for Non return valves. In case of positive suction pump set sluice valve should be in suction as well as delivery sides for easy repair works. 9. Suction and delivery pipe		ATFORM ADUC W		E	
<u> </u>	connections Supply					



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in
20.002	and fitting of suitable size best quality GI/MS pipe of thickness not less than 8mm for a total length of 10 m. suitable for the above pump set and suitable size foot valve and connecting the suction pipe and valve with suitable flanges, nut and bolts IR sheet etc. complete and connecting the delivery side of the pump with the valves and suitable specials to connect with the pumping main. If the dia of suction pipe is above 80 mm CI pipes & Decials shall be provided. Also two year Warrantee and Supply of ELCB/RCCB to be added at panel for safety. OD268918/2022-2023 - Earthing conductor of 4.75 mm (dia) copper conductor 6 SWG OD269198/2022-2023 - Earthing with G.I. earth plate 600 mm X 600 mm X 6 mm thick including accessories, and providing masonry enclosure with	2.000	JBLIC W	7600.00	15800.00	Rupees Fifteen Thousand Two Hundred Zero Only Rupees Fifteen Thousand Eight Hundred Zero Only
20.004	OD269704/2022-2023 - Submitting application to KSEBLfor power connection and power extension	1.000	L.S	3000.00	3000.00	Rupees Three Thousand Zero Zero Only
21	Supply, Erection, Testing an Gramam Booster Station to (d commission GLSR at Kut	ning of C hukalku	CF type CW Pump di Road Booster -	osets from GLSR Discharge 8 lps,	at Marayoor Head 153 m
21.001	Supply erection, testing and commissioning of CF pumpset having a discharge of 8 lps for a head of 158 m from Marayoor Gramam Booster Station to Kuthukalkudi Road Booster. Supply and erection of CF pump set with the following specification< br> l. Pump< br> Supply, erection, testing and commissioning of KWA prequalified reputed make Centrifugal pump sets with Bronze/SS impeller, SS shaft and CI pump casing with suitable type base plate with coupling, coupling guard foundation bolts & amp; nuts etc. complete suitable for	2.000	no	1088000.00	2176000.00	Rupees Twenty One Lakh Seventy Six Thousand Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
SI No	coupling the pump and motor above the base plate etc. complete including providing suitable concrete foundation including cost of cement sand and metallet;br>The duty condition including cost of cement sand and metallet complete The duty condition is a sofollows Discharge-8 lps Cischarge-8 lps Cischarge-8 lps Sizeof pumping main pipe-100 mm DI, Length-2296 m Speed-Less than 1500 rpm. 2. Motor Supply, erection, testing and commissioning of KWA prequalified reputed make horizontal solid shaft foot mounted TEFC squirrel cage induction motor suitable for the above pump working 3 phase 50 Hz AC supply, working voltage 415 V/3300V (select the suitable). The motor shall confirm to IE2/IE3 as per IS 12615-2018 including providing suitable concrete foundation including cost of cement sand and metal etc. complete For 3300v motors digital motor protection relay shall be included in starter as per present CEA regulations. Flexible coupling of pumps and motors. 3. Starter Supply, erection, testing and commissioning of suitable rating (Fully Automatic starter with air break contact for less than 100 HP and for above 100 HP FCMA starters to be used.) starter suitable for the above motor with over voltage and under voltage protection, single phase preventer, over load relay with motor protection relay with motor		Unit	POR THE MANA		AMOUNT in
	practice etc. complete. 4. Panel board (suitable for operating two pump sets but one pump set at a time) Supply,					



1 ~	FOTAL IOUNT in words
erection, testing and commissioning of cubical type floor mounted MS fabricated dust and vermin proof common control panel board consisting of 1 No. suitable capacity MCCB as incomer and 2 Nos of suitable capacity MCCB as ore interlocking with each other) providing suitable size Aluminium bus bar inter connect the above MCCBs and fitted with 3 Nos of indicator lamps. 1 No. volt meter with selector switch. 1 No. Ammeter with selector switch. 1 No. Ammeter with selector switch and provided with a common earth bus for the entire panel and inter connect with the MCCBs as per CEA regulations and code of practice. The panel shall be fitted on a common base frame on suitable foundation. (Specification may be modified if there is only one kltibrægt;pump set by changing 2 Nos of out going as one out going and the provision of interlocking may be avoided) klt;brægt;Supply, laying, testing and commissioning of suitable size XLPE cables for the above pump set from panel board to starter and from starter to motor. considering e n g r g conservation. klt;brægt;Supply of all materials and providing suitable earthing busing suitable earthing busing suitable earthing in motor, starter, panel board etc. as per IE standards. klt;brægt;T. Capacitor klt;brægt;T. Capacitor klt;brægt;G. P. Capacitor sklt;brægt;Supply, erection, testing and commissioning of heavy duty APP capacitor for the motor to get a power factor above 0.95. The capacitor shall confirm to 1 IS	words



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	suitable size best quality heavy duty ISI marked CI double flanged sluice valve and Non return valve with suitable pressure rating. Fitting of valves shall include proper RCC support especially for Non return valves. In case of positive suction pump set sluice valve should be in suction as well as delivery sides for easy repair works. Lt; br Lgt; Supply and fitting of suitable size best quality GI/MS pipe of thickness not less than 8mm for a total length of 10 m. suitable for the above pump set and suitable size foot valve and connecting the suction pipe and valve with suitable flanges, nut and bolts IR sheet etc. complete and connecting the delivery side of the pump with the valves and suitable specials to connect with the pumping main. Lt; br Lgt; If the dia of suction pipe is above 80 mm CI pipes & LCB/RCCB to be added at panel for safety.	OF SK	CF-ORM WILLE W	POR THE MANA	DEMENT	
21.002	OD269189/2022-2023 - Earthing with G.I. earth plate 600 mm X 600 mm X 6 mm thick including accessories, and providing masonry enclosure with	2.000	set	7900.00	15800.00	Rupees Fifteen Thousand Eight Hundred Zero Only
21.003	OD269425/2022-2023 - Earthing conductor of 4.75mm (dia) copper conductor 6 SWG	2.000	set	7600.00	15200.00	Rupees Fifteen Thousand Two Hundred Zero Only
21.004	OD269710/2022-2023 - Submitting application to KSEBLfor power connection and power extension	1.000	L.S	3000.00	3000.00	Rupees Three Thousand Zero Zero Only
22	Supply, Erection, Testing and Kuthukalkudi Road Booster					
22.001	OD268772/2022-2023 - Supply erection, testing and commissioning of CF pumpset having a discharge of 7 lps for a head of 171 m from Kuthukalkudi Road Booster to Periyakudi	2.000	no	1088000.00	2176000.00	Rupees Twenty One Lakh Seventy Six Thousand Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	Booster. Supply and erection of CF pump set with the f o l l o w i n g specification l. Pump Supply, erection, testing and commissioning of KWA prequalified reputed make Centrifugal pump sets with Bronze/SS impeller, SS shaft and CI pump casing with suitable type base plate with coupling, coupling guard foundation bolts & amp; nuts etc. complete suitable for coupling the pump and motor above the base plate etc. complete including providing suitable concrete foundation including cost of cement sand and metallet;br>The duty condition is a s follows Discharge-7 lps Total headlows Size of pumping main pipe-100 mm DI, Length-1800 m Speed-Less than 1500 rpm. 2. Motor Speed-Less than 1500 rpm. 2. Motor Supply, erection, testing and commissioning of KWA prequalified reputed make horizontal solid shaft foot mounted TEFC squirrel cage induction motor suitable for the above pump working 3 phase 50 Hz AC supply, working voltage 415 V/3300V (select the suitable). The motor shall confirm to IE2/IE3 as per IS12615-2018 including providing suitable concrete foundation including cost of cement sand and metal etc. complete For 3300v motors digital motor protection relay shall be included in starter as per present CEA regulation. Flexible coupling shall be used for coupling of pumps and motors. 3. Starter Supply, erection, testing and commissioning of suitable rating (Fully Automatic starter with air break contact for less than 100 HP and for above 100 HP FCMA starters		THORNA WITH THE WITH			words



Sl No Description of work No. or Qty. Unit Ac	cepted Rate TOTAL TOTAL AMOUNT in words
to be used.) starter suitable for the above motor with over voltage and under voltage protection, single phase preventer, over load relay with motor protection relay with main contactor and bypass contactor as per CEA regulation and code of practice etc. complete. & titter &	ICE THE MANAGEMENT



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	suitable size pipe/plate earthing GI/copper strip buried in ground and giving double earthing to motor, starter, panel board etc. as per IE standards. 7. Capacitor Supply, erection, testing and commissioning of heavy duty APP capacitor for the motor to get a power factor above 0.95. The capacitor shall c on firm to IS 2834 Supply of suitable size best quality heavy duty ISI marked CI double flanged sluice valve and Non return valve with suitable pressure rating. Fitting of valves shall include proper RCC support especially for Non return valves. In case of positive suction pump set sluice valve should be in suction as well as delivery sides for easy repair works. 9. Suction and delivery pipe connections Supply and fitting of suitable size best quality GI/MS pipe of thickness not less than 8mm for a total length of 10 m. suitable for the above pump set and suitable size foot valve and connecting the suction pipe and valve with suitable flanges, nut and bolts IR sheet etc. complete and connecting the delivery side of the pump with the valves and suitable specials to connect with the pumping main. If the dia of suction pipe is above 80 mm CI pipes &damp specials shall be provided. Also two year Warrantee and Supply of ELCB/RCCB to be added at panel for safety.	e PLA	THORN W			
22.002	OD269205/2022-2023 - Earthing with G.I. earth plate 600 mm X 600 mm X 6 mm thick including accessories, and providing masonry enclosure with	2.000	set	7900.00	15800.00	Rupees Fifteen Thousand Eight Hundred Zero Only
22.003	OD269496/2022-2023 - Earthing conductor of 4.75mm (dia) copper conductor 6 SWG	2.000	set	7600.00	15200.00	Rupees Fifteen Thousand Two Hundred Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
22.004	OD269712/2022-2023 - Submitting application to KSEBLfor power connection and power extension	1.000	L.S	3000.00	3000.00	Rupees Three Thousand Zero Zero Only
23	Supply, Erection, Testing and Booster to GLSR at Kuthuka				sets from GLSR	at Periyakudi
23.001	Supply erection, testing and commissioning of CF pumpset having a discharge of 4 lps for a head of 180 m from Periyakudi Booster to Kuthukalkudi. Supply and erection of CF pump set with the following setsion the following specification the following specification the following specification the following sets with the following setsing and commissioning of KWA prequalified reputed make Centrifugal pump sets with Bronze/SS impeller, SS shaft and CI pump casing with suitable type base plate with coupling, coupling guard foundation bolts the for coupling the pump and motor above the base plate etc. complete including providing suitable concrete foundation including cost of cement sand and metal etc. complete the following suitable concrete foundation including cost of cement sand and metal etc. setsing and commissioning of KWA prequalified reputed make horizontal solid shaft foot make thorizontal solid shaft foot mounted TEFC squirrel cage induction motor suitable for the above pump working and commissioning of KWA prequalified reputed make horizontal solid shaft foot mounted TEFC squirrel cage induction motor suitable for the above pump working and commissioning of KWA prequalified reputed make horizontal solid shaft foot mounted TEFC squirrel cage induction motor suitable for the above pump working and commissioning of KWA prequalified reputed make horizontal solid shaft foot mounted TEFC squirrel cage induction motor suitable for the above pump working and commissioning of KWA prequalified reputed make horizontal solid shaft foot mounted TEFC squirrel cage induction motor suitable. The motor shall confirm to IE2/IE3 as per IS12615-2018 including providing suitable concrete foundation including cost of cement sand and metal etc. complete For 3300v motors digital motor		no	735000.00	1470000.00	Rupees Fourteen Lakh Seventy Zero Thousand Zero Zero Only



protection relay shall be included in starter as per present CEA regulation. Flexible coupling shall be used for coupling of pumps and motors. 3. Starter Supply, erection, testing and commissioning of suitable rating (Fully Automatic starter with air break contact for less than 100 HP and for above 100 HP FCMA starters to be used.) starter suitable for the above motor with over voltage and under voltage protection, single phase preventer, over load relay with motor protection relay with motor protection relay with main contactor and bypass contactor as per CEA regulation and code of	Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
complete. ;4. Panel board (suitable for operating two pump sets but one pump set at a time) Supply, erection, testing and commissioning of cubical type floor mounted MS fabricated dust and vermin proof common control panel board consisting of I No. suitable capacity MCCB as incomer and 2 Nos of suitable capacity MCCB as incomer and 2 Nos of suitable capacity MCCB as outpet of the two MCCBs are interlocking with each other) providing suitable size Aluminium bus bar inter connect the above MCCBs and fitted with 3 Nos of indicator lamps, I No. volt meter with selector switch, I No. Ammeter with selector switch etc. Complete and provided with a common earth bus for the entire panel and inter connect with the MCCBs as per CEA regulation and code of practice. The panel shall be fitted on a common base frame on suitable foundation. (Specification may be modified if there is only one) pump set by changing 2 Nos of out going as one out going and the provision of interlocking may		included in starter as per present CEA regulation. Flexible coupling shall be used for coupling of pumps and motors. 3. Starter Supply, erection, testing and commissioning of suitable rating (Fully Automatic starter with air break contact for less than 100 HP and for above 100 HP FCMA starters to be used.) starter suitable for the above motor with over voltage and under voltage protection, single phase preventer, over load relay with motor protection relay with main contactor and bypass contactor as per CEA regulation and code of practic complete. 4. Panel board (suitable for operating two pump sets but one pump set at a time) Supply, erection, testing and commissioning of cubical type floor mounted MS fabricated dust and vermin proof common control panel board consisting of 1 No. suitable capacity MCCB as incomer and 2 Nos of suitable capacity MCCB as incomer and 2 Nos of suitable capacity MCCB as incomer and 2 Nos of suitable capacity MCCB as incomer and 2 Nos of suitable capacity MCCB as of suitable capacity MCCB as on the connect the above MCCBs and fitted with 3 Nos of indicated with a common providing suitable size Aluminium bus bar inter connect the above MCCBs and fitted with 3 Nos of indicator than the selector switch etc. Complete and provided with a common earth bus for the entire panel shall be fitted on a common base frame on suitable foundation. (Specification may be modified if there is only one) pump set by changing 2 Nos of out going as one out going and the	e PLA			E	words



Cabling work>tSupply, laying, testing and commissioning of suitable size XLPE cables for the above pump set from panel board to starter and from starter to motor, considering cncserving the conservation and the providing suitable earthing flying the providing suitable earthing flying the carry fly using suitable earthing guitable earthing the work of the suitable size pipe/plate earthing Gl/copper strip buried in ground and giving double earthing to motor, starter, panel board etc. as per IE standards. &lit.prægt.7. Capacitor<.prægt.Supply, crection, testing and commissioning of heavy duty APP capacitor for the motor to get a power factor above 0.95. The capacitor shall confirm to 1 S 2 8 3 4 & 1t; br & gt; 8. Valves<.brægt.Supply of suitable size best quality heavy duty ISI marked Cl double langed slutice valve and Non return valve with suitable pressure rating. Fitting of valves shall include proper RCC support especially for Non return valves. In case of positive suction pump set slutice valve should be in suction as well as delivery sides for easy repair works. <.brægt.9. Suction and delivery pipe connections<.brægt.Supply and fitting of suitable size best quality Gl/MS pipe of thickness not less than 8mm for a total length of 10 m. suitable for the above pump set and suitable size foot valve and connecting the suction pipe and valve with suitable flanges, nut and bolts IR sheet etc. complete and connecting the suction pipe and valve with suitable flanges, nut and bolts IR sheet etc. complete and connecting the delivery side of the pump with the valves and suitable size foot valve and connecting the mount of the pump in main. <.brægt.If the dia of suction pine is above 80 mm	Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
CI pipes & Description of the City of the		C a b l i n g work Supply, laying, testing and commissioning of suitable size XLPE cables for the above pump set from panel board to starter and from starter to motor. considering e n e r g y conservation. 6. Earthing Supply of all materials and providing suitable earthing by using suitable size pipe/plate earthing GI/copper strip buried in ground and giving double earthing to motor, starter, panel board etc. as per IE standards. 7. Capacitor Supply, erection, testing and commissioning of heavy duty APP capacitor for the motor to get a power factor above 0.95. The capacitor shall c on firm to IS 2834 Supply of suitable size best quality heavy duty ISI marked CI double flanged sluice valve and Non return valve with suitable pressure rating. Fitting of valves shall include proper RCC support especially for Non return valves. In case of positive suction pump set sluice valve should be in suction as well as delivery sides for easy repair works. Supply and fitting of suitable size best quality GI/MS pipe of thickness not less than 8mm for a total length of 10 m. suitable for the above pump set and suitable size foot valve and connecting the suction pipe and valve with suitable flanges, nut and bolts IR sheet etc. complete and connecting the delivery side of the pump with the valves and suitable specials to connect with the pumping main. If the dia of suction pipe is above 80 mm CI pipes & specials shall	e PLA			E	



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	Supply of ELCB/RCCB to be added at panel for safety.					
23.002	OD269206/2022-2023 - Earthing with G.I. earth plate 600 mm X 600 mm X 6 mm thick including accessories, and providing masonry enclosure with	2.000	set	7900.00	15800.00	Rupees Fifteen Thousand Eight Hundred Zero Only
23.003	OD269527/2022-2023 - Earthing conductor of 3.15mm (dia) copper conductor 10 SWG	2.000	set	6200.00	12400.00	Rupees Twelve Thousand Four Hundred Zero Only
23.004	OD269713/2022-2023 - Submitting application to KSEBLfor power connection and power extension	1.000	L.S	3000.00	3000.00	Rupees Three Thousand Zero Zero Only
24	Supply, Erection, Testing and Kuthukalkudi Road Booster					at
24.001	OD268786/2022-2023 - Supply, erection, testing and commissioning of CF pumpset having a discharge of 3 lps for a head of 172 m from Kuthukalkudi Road Booster to Kavakkudi. Supply and erection of CF pump set with the following specification 1. Pump Supply, erection, testing and commissioning of KWA prequalified reputed make Centrifugal pump sets with Bronze/SS impeller, SS shaft and CI pump casing with suitable type base plate with coupling, coupling guard foundation bolts & Damp; nuts etc. complete suitable for coupling the pump and motor above the base plate etc. complete including providing suitable concrete foundation including cost of cement sand and metal etc. complete The duty condition is as follows Total head-1 7 2 mtrs Strotal h		no	550000.00	E	Rupees Eleven Lakh Zero Zero Zero Only



moriontal solid shaft foot mounted TEFC squirrel cage induction motor suitable for the above pump por King 3 pusses 50 Hz. AC supply, 50 Wz. AC supply, 50 W	Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
I switch etc. Complete and		horizontal solid shaft foot mounted TEFC squirrel cage induction motor suitable for the above pump working 3 phase 50 Hz AC supply, working voltage 415 V/3300V (select the suitable). The motor shall confirm to IE2/IE3 as per IS12615-2018 including providing suitable concrete foundation including cost of cement sand and metal etc. complete For 3300v motors digital motor protection relay shall be included in starter as per present CEA regulation. Flexible coupling shall be used for coupling of pumps and motors. Supply, erection, testing and commissioning of suitable rating (Fully Automatic starter with air break contact for less than 100 HP and for above 100 HP FCMA starters to be used.) starter suitable for the above motor with over voltage and under voltage protection, single phase preventer, over load relay with main contactor and bypass contactor as per CEA regulation and code of practice. A. Panel board (suitable for operating two pump sets but one pump set at a time) Supply, erection, testing and commissioning of cubical type floor mounted MS fabricated dust and vermin proof common control panel board consisting of 1 No. suitable capacity MCCB as out going (the two MCCBs are interlocking with each other) providing suitable size Aluminium bus bar inter connect the above MCCBs and fitted with 3 Nos of indicator lamps, 1 No. volt meter with selector switch, 1				DEMENT	



Sl No Description of work	o. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
earth bus for the entire panel and inter connect with the MCCBs as per IE rules and code of practice. The panel shall be fitted on a common base frame on suitable foundation. (Specification may be modified if there is only one) pump set by changing 2 Nos of out going as one out going and the provision of interlocking may be avoided) S. C a b l i n g work Supply, laying, testing and commissioning of suitable size XLPE cables for the above pump set from panel board to starter and from starter to motor. considering e n e r g y conservation. G. Earthing Supply of all materials and providing suitable earthing by using suitable size pipe/plate earthing GI/copper strip buried in ground and giving double earthing to motor, starter, panel board etc. as per IE standards. 7. Capacitor Supply, erection, testing and commissioning of heavy duty APP capacitor for the motor to get a power factor above 0.95. The capacitor shall c o n f i r m t o I S 2 8 3 4 & l t; b r & g t; 8. Valves Supply of suitable size best quality heavy duty ISI marked CI double flanged sluice valve and Non return valve with suitable pressure rating. Fitting of valves shall include proper RCC support especially for Non return valves. In case of positive suction pump set sluice valve should be in suction as well as delivery sides for easy repair works. Supply and fitting of suitable size best quality heavy diff so non return valve with suitable pressure rating. Fitting of valves shall include proper RCC support especially for Non return valves used in delivery pipe connections Supply and fitting of suitable size best quality GI/MS pipe of thickness not less than 8mm		TFORM DELIC W	TOR THE MANA	SCANCAS	words



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	valve and connecting the suction pipe and valve with suitable flanges, nut and bolts IR sheet etc. complete and connecting the delivery side of the pump with the valves and suitable specials to connect with the pumping main. If the dia of suction pipe is above 80 mm CI pipes & Decials shall be provided. .Also two year Warrantee and Supply of ELCB/RCCB to be					
24.002	added at panel for safety. OD269715/2022-2023 - Submitting application to KSEBLfor power connection and power extension	1.000	L.S	3000.00	3000.00	Rupees Three Thousand Zero Zero Only
25	Supply, Erection, Testing and Kuthukalkudi Road Booster	d commission to GLSR at N	ing of C	F type CW Pump ti Booster - Disch	sets from GLSR arge 3 lps, Head	at 144 m
25.001	OD268739/2022-2023 - Supply, erection, testing and commissioning of CF pumpset having a discharge of 3 lps for a head of 151 m from Kuthukalkudi Road Booster to Nellippetti. Supply and erection of CF pump set with the following specification l. Pump Supply, erection, testing and commissioning of KWA prequalified reputed make Centrifugal pump sets with Bronze/SS impeller, SS shaft and CI pump casing with suitable type base plate with coupling, coupling guard foundation bolts & Damp and motor above the base plate etc. complete suitable for coupling the pump and motor above the base plate etc. complete including providing suitable concrete foundation including cost of cement sand and metal etc. complete The duty condition in sa s follows Total head - 1	2.000	no	550000.00	1100000.00	Rupees Eleven Lakh Zero Zero Zero Only



commissioning of KWA pre qualified reputed make horizontal solid shaft foot mounted TEPC squirrel cage induction motors witable for the above pump working 3 phase 50 Hz AC supply, working voltage 415 V/3300V (select the suitable). The motor shall confirm to IEZ/TE3 as per IS 12615-2018 including providing suitable concrete foundation including cost of cement sand and metal etc. complete For 3300V motors digital motor protection relay shall be included in starter as per present CEA regulation. Flexible coupling shall be used for coupling of pumps and motors. Alt; brage; 3. Starter Alt; brage; 3. Starter Alt; brage; 3. Starter Alt; brage; 4. Panel commissioning of suitable rating (Fully Automatic starter with air break contact for less than 100 HP and for above 100 HP FCMA starters to be used.) starter suitable for the above motor with over voltage and under voltage protection, single phase preventer, over load relay with motor protection relay with main contactor and bypass contactor as per CEA regulation and code of practice etc. complete. Alt; brage; Alt; brage; Alphanis proof common control panel board consisting of 1 No. suitable capacity MCCB as incomer and 2 Nos of suitable capacity MCCB as incomer and 2 Nos of suitable capacity MCCB as incomer and 2 Nos of suitable capacity MCCB as incomer and 2 Nos of suitable capacity MCCB as incomer and 2 Nos of suitable capacity MCCB as incomer and 2 Nos of suitable capacity MCCB as incomer and 2 Nos of suitable capacity MCCB as incomer and 2 Nos of suitable capacity MCCB as incomer and 2 Nos of suitable capacity MCCB as incomer and 2 Nos of suitable capacity MCCB as incomer and 2 Nos of suitable capacity MCCB as incomer and 2 Nos of suitable capacity MCCB as incomer and 2 Nos of suitable capacity MCCB as incomer and 2 Nos of suitable capacity MCCB as incomer and 2 Nos of suitable capacity MCCB as incomer and 2 Nos of suitable capacity MCCB as incomer and 2 Nos of suitable capacity MCCB as incomer and 2 Nos of suitable capacity MCCB as not capacity MCCB as incomer and	Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
indicator lamps, 1 No. volt meter with selector switch, 1		commissioning of KWA pre qualified reputed make horizontal solid shaft foot mounted TEFC squirrel cage induction motor suitable for the above pump working 3 phase 50 Hz AC supply, working voltage 415 V/3300V (select the suitable). The motor shall confirm to IE2/IE3 as per IS 12615-2018 including providing suitable concrete foundation including cost of cement sand and metal etc. complete For 3300v motors digital motor protection relay shall be included in starter as per present CEA regulation. Flexible coupling shall be used for coupling of pumps and motors. 3. Starter Supply, erection, testing and commissioning of suitable rating (Fully Automatic starter with air break contact for less than 100 HP and for above 100 HP FCMA starters to be used.) starter suitable for the above motor with over voltage and under voltage protection, single phase preventer, over load relay with motor protection relay with motor protection relay with main contactor and bypass contactor as per CEA regulation and code of practice tice etc. complete. 4. Panel board (suitable for operating two pump sets but one pump set at a time) Supply, erection, testing and commissioning of cubical type floor mounted MS fabricated dust and vermin proof common control panel board consisting of 1 No. suitable capacity MCCB as out going (the two MCCBs are interlocking with each other) providing suitable size Aluminium bus bar inter connect the above MCCBs and fitted with 3 Nos of indicator lamps, 1 No. volt				E	



switch etc. Complete and provided with a common earth bus for the entire panel and inter connect with the MCCBs as per IE rules and code of practice. The panel shall be fitted on a common base frame on suitable foundation. (Specification may be modified if there is only one) pump set by changing 2 Nos of out going as one out going and the provision of interlocking may be avoided) 5. C a b l i n g work Supply, laying, testing and commissioning of suitable size XLPE cables for the above pump set from panel board to starter and from starter to motor. considering e n e r g y conservation. 6. Earthing Supply of all meterials and providing	Sl No Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
suitable size pipe/plate earthing GI/copper strip buried in ground and giving double earthing to motor, starter, panel board etc. as per IE standards.&It:br>7. Capacitor&Itbr>Supply, erection, testing and commissioning of heavy duty APP capacitor for the motor to get a power factor above 0.95. The capacitor shall c o n f i r m t o I S 2.834 & It; br & g t; 8. Valves&Itbr>Supply of suitable size best quality heavy duty ISI marked CI double flanged sluice valve and Non return valve with suitable pressure rating. Fitting of valves shall include proper RCC support especially for Non return valves. In case of positive suction pump set sluice valve should be in suction as well as delivery sides for easy repair works.&Itbr>9. Suction a n d d elivery pipe connections&Itbr>Supply and fitting of suitable size best quality GI/MS pipe of	provided with a commor earth bus for the entire pane and inter connect with the MCCBs as per IE rules and code of practice. The pane shall be fitted on a commor base frame on suitable foundation. (Specification may be modified if there is only one) pump se by changing 2 Nos of ou going as one out going and the provision of interlocking may be avoided) S c a b 1 i n g work S upply laying, testing and commissioning of suitable size XLPE cables for the above pump set from pane board to starter and from starter to motor. considering e n e r g y conservation. 6 Earthing Supply on all materials and providing suitable earthing by using suitable earthing by using suitable earthing to motor starter, panel board etc. as per IE standards. 7 Capacitor Supply erection, testing and commissioning of heavy duty APP capacitor for the motor to get a power factor above 0.95. The capacitor shall c on firm to IS 2834 Supply or suitable size best quality heavy duty ISI marked C double flanged sluice valve and Non return valve with suitable pressure rating Fitting of valves shall include proper RCC suppor especially for Non return valves. In case of positive suction pump set sluice valve should be in suction as well as delivery signed and delivery pipe connections Supply connections Sup				SCANCING	words



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	suitable for the above pump set and suitable size foot valve and connecting the suction pipe and valve with suitable flanges, nut and bolts IR sheet etc. complete and connecting the delivery side of the pump with the valves and suitable specials to connect with the pumping main. If the dia of suction pipe is above 80 mm CI pipes & mp; specials shall be provided. .Also two year Warrantee and Supply of ELCB/RCCB to be added at panel for safety.					
25.002	OD269719/2022-2023 - Submitting application to KSEBLfor power connection and power extension	1.000	L.S	3000.00	3000.00	Rupees Three Thousand Zero Zero Only
26	Supply, Erection, Testing and Booster to GLSR at Nellipper				sets from GLSR	at Nellippetti
26.001	OD268759/2022-2023 - Supply erection, testing and commissioning of CF pumpset having a discharge of 4 lps for a head of 179 m from Nellippetti Booster to Nellippettikudi. Supply and erection of CF pump set with the following type is pecification lit; br low ing specification lit; br low ing suitable type base plate with coupling, coupling guard foundation bolts low lition lits low low lition literal liter	2.000	no no	730000.00	1460000.00	Rupees Fourteen Lakh Sixty Zero Thousand Zero Zero Only



Motor Supply, erection, testing and	AL NT in ds
commissioning of KWA pre qualified reputed make horizontal solid shaft foot mounted TEPC squirred cage induction motor suitable for the above pump working 3 phase 50 Hz AC supply, working voltage 415 V/3300V (select the suitable). The motor shall confirm to IE2/IE3 as per IS 12615-2018 including providing suitable concrete foundation including cost of cement sand and metal ctc. complete For 3300v motors digital motor protection relay shall be included in starter as per present CEA regulations 2010. Flexible coupling of pumps and motors. &It br&g 13. Starter&It br&g 15. Starter&It br	is



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	meter with selector switch, 1 No. Ammeter with selector switch etc. Complete and provided with a common earth bus for the entire panel and inter connect with the MCCBs as per regulations 2010 and code of practice. The panel shall be fitted on a common base frame on suitable foundation. (Specification may be modified if there is only one) pump set by changing 2 Nos of out going as one out going and the provision of interlocking may be avoided) 5. C a b l i n g work Supply, laying, testing and commissioning of suitable size XLPE cables for the above pump set from panel board to starter and from starter to motor. considering e n e r g conservation. 6. Earthing Supply of all materials and providing suitable earthing by using suitable earthing by using suitable size pipe/plate earthing GI/copper strip buried in ground and giving double earthing to motor, starter, panel board etc. as per IE standards. 7. Capacitor Supply, erection, testing and commissioning of heavy duty APP capacitor for the motor to get a power factor above 0.95. The capacitor shall c on firm to IS 2 8 3 4 & lt; br & gt; 8. Valves Supply of suitable size best quality heavy duty ISI marked CI double flanged sluice valve and Non return valve with suitable pressure rating. Fitting of valves shall include proper RCC support especially for Non return valves. In case of positive suction pump set sluice valve should be in suction as well as delivery sides for easy repair works. 9. Suction and delivery pipe	C C C C C C C C C C C C C C C C C C C		POR THE MANA	AMOUNT	AMOUNT in
	connections Supply and fitting of suitable size					



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	best quality GI/MS pipe of thickness not less than 8mm for a total length of 10 m. suitable for the above pump set and suitable size foot valve and connecting the suction pipe and valve with suitable flanges, nut and bolts IR sheet etc. complete and connecting the delivery side of the pump with the valves and suitable specials to connect with the pumping main. If the dia of suction pipe is above 80 mm CI pipes & mp; specials shall be provided. .Also two year Warrantee and Supply of ELCB/RCCB to be added at panel for safety.		~			
26.002	OD269212/2022-2023 - Earthing with G.I. earth plate 600 mm X 600 mm X 6 mm thick including accessories, and providing masonry enclosure with	2.000	set	7900.00	15800.00	Rupees Fifteen Thousand Eight Hundred Zero Only
26.003	OD269534/2022-2023 - Earthing conductor of 3.15 mm (dia) copper conductor 10 SWG	2.000	set	6200.00	12400.00	Rupees Twelve Thousand Four Hundred Zero Only
26.004	OD269723/2022-2023 - Submitting application to KSEBLfor power connection and power extension	1.000	L.S	3000.00	3000.00	Rupees Three Thousand Zero Zero Only
27	Supply, Erection, Testing and Gramam to GLSR at Kamma					at Marayoor
27.001	OD268768/2022-2023 - Supply, erection, testing and commissioning of CF pumpset having a discharge of 2.5 lps for a head of 190 m from Marayoor Gramam to Kammalamkudi Booster. Supply and erection of CF pump set with the following specification 1. Pump Supply, erection, testing and commissioning of KWA prequalified reputed make Centrifugal pump sets with Bronze/SS impeller, SS shaft and CI pump casing with suitable type base plate with coupling, coupling guard foundation bolts & Date of Coupling the pump and motor above the base plate etc.	2.000	no	550000.00		Rupees Eleven Lakh Zero Zero Zero Only



complete including providing suitable concrete foundation including cost of cement sand a n d metaletc. complete The duty c o n d i t i o n i s a s	Sl No Desc	cription of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
follows&tibr>Discharge - 2.5 lps&tlibr>Total head - 1	suitable including a n d complete c o n d i follows& 2.5 lps&l 1 mtrs< of pumping mm Dim selt; brown a lift; br	concrete foundation gost of cement sand met al etc. & lt;br>The duty tion is as selt;br>Discharge-lt;br>Total head-9 0 or> Size ing main pipe - 100 I, Length-1330 & lt;br>Speed-Less than rpm. 2. lt;br>Supply, en, testing and dioning of KWA preed alsolid shaft foot TEFC squirrel cage motor suitable for ye pump working 3 0 Hz AC supply, g voltage 415 (select the suitable). For shall confirm to as per IS 12615-2018 g providing suitable foundation including ement sand and metal mplete For 3300v digital motor on relay shall be din starter as per CEA regulations exible coupling of pumps stors. & lt;br>Supply, en, testing and sioning of suitable (Fully Automatic than 100 HP and for 00 HP FCMA starters d.) starter suitable for motor with over and under voltage en, over load relay tor protection relay ain contactor and ontactor as per CEA ns 2010 and code of tice etc. & lt;br> & lt;br> but under voltage in contactor and ontactor as per CEA ns 2010 and code of tice etc. & lt;br>br> board (suitable for g two pump sets but ump set at a				DEMENT	words



	JNT in rds
income control panel board consisting of 1 No. suitable capacity MCCB as incomer and 2 Nos of suitable capacity MCCBs of suitable capacity MCCBs out going (the two MCCBs are interlocking with each other) providing suitable size Aluminium bus bar inter connect the above MCCBs and fitted with 3 Nos of indicator lamps, 1 No. volt meter with selector switch. 1 No. Ammeter with selector switch lamb and provided with a common carth bus for the entire panel and inter connect with the MCCBs as per CEA regulations 2010 and code of practice. The panel shall be fitted on a common base frame on suitable foundation. (Specification may be modified if there is only one)&tl:br>Surphy, laying, testing and commissioning of suitable size XLPE cables for the above pump set from panel board to stater and from starter to motor. considering e n e r g y conservation. &tt:br>Surphy of all materials and providing suitable size kize Missing the suitable size pipe/plate earthing&tl:br>Surphy of all materials and providing suitable earthing by using suitable earthing the surphy plate earthing Gl/copper strip buried in ground and giving double earthing to motor, starter, panel board etc. as per IE standards. &tt.br>7. Capacitor&tl:br>Surphy, erection, testing and commissioning of sustible size by for the motor to get a power factor above 0.95. The capacitor for the motor to get a power factor above suitable size best quality	rds



Sl No	5 4 4 6 1	No. or Qty.	Unit	Accepted Rate	TOTAL	TOTAL
	Description of work				AMOUNT	AMOUNT in words
	double flanged sluice valve					
	and Non return valve with					
	suitable pressure rating.					
	Fitting of valves shall include					
	proper RCC support especially for Non return					
	valves. In case of positive					
	suction pump set sluice valve					
	should be in suction as well as					
	delivery sides for easy repair					
	works. 9. Suction					
	and delivery pipe					
	connections Supply					
	and fitting of suitable size					
	best quality GI/MS pipe of					
	thickness not less than 8mm					
	for a total length of 10 m. suitable for the above pump					
	set and suitable size foot					
	valve and connecting the					
	suction pipe and valve with		_c/1	Co.		
	suitable flanges, nut and bolts		1 10.700	1870		
	IR sheet etc. complete and	/				
	connecting the delivery side					
	of the pump with the valves	100			-	
	and suitable specials to		7	-1-		
	connect with the pumping		0 -			
	main. If the dia of suction pipe is above 80 mm		- 1		C	
	CI pipes & camp; specials shall	e-PU/	MITOTEL	FIGHTHE MANA	DEMINT	
	be provided. .Also	OFF	Name w	06965		
	two year Warrantee and					
	Supply of ELCB/RCCB to be					
	added at panel for safety.					
27.002	OD269725/2022-2023 -	1.000	L.S	3000.00	3000.00	Rupees Three
	Submitting application to					Thousand Zero
	KSEBLfor power connection					Zero Only
	and power extension					
28	Supply, Erection, Testing and Kammalamkudi Booster to G	d commission LSR at Kan	ing of C malamk	F type CW Pump udi - Discharge 2	sets from GLSR lps. Head 119 m	at
28.001	OD268774/2022-2023 -	2.000		330000.00	<u>*</u>	Rupees Six
20.001	Supply, erection, testing and	2.000	110	220000.00	000000.00	Lakh Sixty Zero
	commissioning of CF					Thousand Zero
	pumpset having a discharge					Zero Only
	of 2 lps for a head of 119 m					
	from Kammalamkudi Booster					
	to Kammalamkudi. Supply					
	and erection of CF pump set					
	with the following					
	specification 1.					
	Pump Supply,					
	erection, testing and commissioning of KWA pre-					
	qualified reputed make					
	Centrifugal pump sets with					
	Bronze/SS impeller, SS shaft					
	and CI pump casing with					
	suitable type base plate with					
	coupling, coupling guard					
	foundation bolts & tamp; nuts					
	Bronze/SS impeller, SS shaft and CI pump casing with					



Sl No Description of work	o. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
etc. complete suitable for coupling the pump and motor above the base plate etc. complete including providing suitable concrete foundation including cost of cement sand a n d metal etc. complete The duty condition is as follows Discharge-2 lps Discharge-2 lps Size of pumping main pipe - 100 mm DI, Length-620 m Speed-Less than 1500 rpm. 2. Motor Supply, erection, testing and commissioning of KWA prequalified reputed make horizontal solid shaft foot mounted TEFC squirrel cage induction motor suitable for the above pump working 3 phase 50 Hz AC supply, working voltage 415 V/3300V (select the suitable). The motor shall confirm to IE2/IE3 as per IS 12615-2018 including providing suitable concrete foundation including cost of cement sand and metal etc. complete For 3300v motors digital motor protection relay shall be included in starter as per CEA regulations 2010. Flexible coupling shall be used for coupling of pumps and motors. Supply, erection, testing and commissioning of suitable rating (Fully Automatic starter with air break contact for less than 100 HP and for above 100 HP FCMA starters to be used.) starter suitable for the above motor with over voltage and under voltage protection, single phase preventer, over load relay with main contactor and bypass contactor as per CEA regulations 2010 and code of practice etc.		TPORM INC.	TOR THE MANA	DEMENT	words



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	time) Supply, erection, testing and commissioning of cubical type floor mounted MS fabricated dust and vermin proof common control panel board consisting of 1 No. suitable capacity MCCB as incomer and 2 Nos of suitable capacity MCCB as out going (the two MCCBs are interlocking with each other) providing suitable size Aluminium bus bar inter connect the above MCCBs and fitted with 3 Nos of indicator lamps, 1 No. volt meter with selector switch, 1 No. Ammeter with selector switch etc. Complete and provided with a common earth bus for the entire panel and inter connect with the MCCBs as perCEA regulations 2010 and code of practice. The panel shall be fitted on a common base frame on suitable foundation. (Specification may be modified if there is only one) pump set by changing 2 Nos of out going as one out going and the provision of interlocking may be avoided) 5. C a b l i n g work Supply, laying, testing and commissioning of suitable size XLPE cables for the above pump set from panel board to starter and from starter to motor. considering e n e r g y conservation. 6. Earthing Supply of all materials and providing suitable earthing by using suitable size pipe/plate earthing GI/copper strip buried in ground and giving double earthing to motor, starter, panel board etc. as per IE standards. Supply, erection, testing and commissioning of heavy duty APP capacitor for the motor to get a power factor above 0.95. The capacitor shall		ATFORM JELIC W		AMOUNT	
	confirm to IS 2834&1t; br> 8.					



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	Valves Supply of suitable size best quality heavy duty ISI marked CI double flanged sluice valve and Non return valve with suitable pressure rating. Fitting of valves shall include proper RCC support especially for Non return valves. In case of positive suction pump set sluice valve should be in suction as well as delivery sides for easy repair works. 9. Suction and delivery pipe connections Supply and fitting of suitable size best quality GI/MS pipe of thickness not less than 8mm for a total length of 10 m. suitable for the above pump set and suitable size foot valve and connecting the suction pipe and valve with suitable flanges, nut and bolts IR sheet etc. complete and connecting the delivery side of the pump with the valves and suitable specials to connect with the pumping main. If the dia of suction pipe is above 80 mm CI pipes & mp; specials shall be provided. . Also two year Warrantee and Supply of ELCB/RCCB to be added at panel for safety.		TFORM BLIC W	POR THE MANA	DEMENT	
28.002	OD269217/2022-2023 - Earthing with G.I. earth plate 600 mm X 600 mm X 6 mm thick including accessories, and providing masonry enclosure with	2.000	set	7900.00	15800.00	Rupees Fifteen Thousand Eight Hundred Zero Only
28.003	OD269542/2022-2023 - Earthing conductor of 3.15 mm (dia) copper conductor 10 SWG	2.000	set	6200.00	12400.00	Rupees Twelve Thousand Four Hundred Zero Only
28.004	OD269726/2022-2023 - Submitting application to KSEBLfor power connection and power extension	1.000	L.S	3000.00	3000.00	Rupees Three Thousand Zero Zero Only
29	Supply, Erection, Testing and Gramam to GLSR at Eechan				sets from GLSR	at Marayoor
29.001	OD268782/2022-2023 - Supply, erection, testing and commissioning of CF pumpset having a discharge of 5.5 lps for a head of 221 m from Marayoor Gramam to	2.000	no	1087000.00	2174000.00	Rupees Twenty One Lakh Seventy Four Thousand Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	Eechampetti. Supply and erection of CF pump set with the following specification l. Pump Supply, erection, testing and commissioning of KWA prequalified reputed make Centrifugal pump sets with Bronze/SS impeller, SS shaft and CI pump casing with suitable type base plate with coupling, coupling guard foundation bolts & amp; nuts etc. complete suitable for coupling the pump and motor above the base plate etc. complete including providing suitable concrete foundation including cost of cement sand and metalletcongletcheklt;br>The duty condition is a sollows Discharge-5.5 lps Total head-2 2 1 mtrs Size of pumping main pipe-100 mm DI, Length-3638 m Speed-Less than 1500 rpm. 2. Motor Speed-Less than 1500 rpm. 2. Motor Supply, erection, testing and commissioning of KWA prequalified reputed make horizontal solid shaft foot mounted TEFC squirrel cage induction motor suitable for the above pump working 3 phase 50 Hz AC supply, working voltage 415 V/3300V (select the suitable). The motor shall confirm to IE2/IE3 as per IS12615-2018 including providing suitable concrete foundation including cost of cement sand and metal etc. complete For 3300v motors digital motor protection relay shall be included in starter as per CEA regulations 2010 . Flexible coupling shall be used for coupling of pumps and motors. & lt; br> Supply, erection, testing and commissioning of suitable rating (Fully Automatic starter with air break contact for less than 100 HP and for above 100 HP FCMA starters		THORM W		E	words



Description of work AMOUNT AM	OTAL OUNT in words
to be used.) starter suitable for the above motor with over voltage and under voltage protection, single phase preventer, over load relay with motor protection relay with motor protection relay with main contactor and bypass contactor as per CEA regulations 2010 and code of p r a c t i c e t c. complete.⁢/br>⁢/br>Ai.Panel board (suitable for operating two pump sets but on e p ump set at a time)⁢/br>Supply, erection, testing and commissioning of cubical type floor mounted MS fabricated dust and vermin proof common control panel board consisting of 1 No. suitable capacity MCCB as incomer and 2 Nos of suitable capacity MCCB as incomer and 2 Nos of suitable capacity MCCB as are interlocking with each other) providing suitable size Aluminium bus bar inter connect the above MCCBs and fitted with 3 Nos off indicator lamps, 1 No. volt meter with selector switch. 1 No. Ammeter with selector switch etc. Complete and provided with a common earth bus for the entire panel and inter connect with the MCCBs and per CEA regulations 2010 and code of practice. The panel shall be fitted on a common base frame on suitable foundation. (Specification may be modified if there is only one, &it-br>cump set by changing 2 Nos of out going as one out going and the provision of interlocking may be avoided, ⁢,tbr>t5. C a b 1 in g work⁢br>Supply, laying, testing and commissioning of suitable size XLPE cables for the above pump set from panel board to starter and from starter to motor. considering e n e f g y conservation. ⁢br>t6. Earthing⁢br>t6. Earthing⁢br>t6.	words



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	suitable size pipe/plate earthing GI/copper strip buried in ground and giving double earthing to motor, starter, panel board etc. as per IE standards. 7. Capacitor Supply, erection, testing and commissioning of heavy duty APP capacitor for the motor to get a power factor above 0.95. The capacitor shall confirm to IS 2834 < br>Supply of suitable size best quality heavy duty ISI marked CI double flanged sluice valve and Non return valve with suitable pressure rating. Fitting of valves shall include proper RCC support especially for Non return valves. In case of positive suction pump set sluice valve should be in suction as well as delivery sides for easy repair works. 9. Suction and delivery pipe connections Supply and fitting of suitable size best quality GI/MS pipe of thickness not less than 8mm for a total length of 10 m. suitable for the above pump set and suitable size foot valve and connecting the suction pipe and valve with suitable flanges, nut and bolts IR sheet etc. complete and connecting the delivery side of the pump with the valves and suitable specials to connect with the pumping main. If the dia of suction pipe is above 80 mm CI pipes & specials shall be provided. Also two year Warrantee and Supply of ELCB/RCCB to be added at panel for safety.		CT-OILM WILLIE W	POR THE MANA	SCHENT	
29.002	OD269727/2022-2023 - Submitting application to KSEBLfor power connection and power extension	1.000	L.S	3000.00	3000.00	Rupees Three Thousand Zero Zero Only
30	Supply, Erection, Testing and to GLSR at Puthukkudi Boos	d commission ster Station-	ing of Cl Discharg	F type CW Pump e 2.5 lps, Head 92	osets from GLSR 2 m	at Eechampetti
30.001	OD268767/2022-2023 - Supply erection, testing and commissioning of CF	2.000	no	344000.00	688000.00	Rupees Six Lakh Eighty Eight Thousand





for less than 100 HP and for above 100 HP FCMA starters to be used.) starter suitable for the above motor with over voltage and under voltage protection, single phase preventer, over load relay with motor protection relay with main contactor and bypass contactor as per CEA regulations 2010 and code of p r a c t i c e e t c . complete.
< th=""><th>Sl No Description of</th><th>No. or Qty</th><th>. Unit</th><th>Accepted Rate</th><th>TOTAL AMOUNT</th><th>TOTAL AMOUNT in words</th></br><>	Sl No Description of	No. or Qty	. Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
i.4. Panel board (suitable for operating two pump set at a time)&ttbr>Supply, erection, testing and commissioning of cubical type floor mounted MS fabricated dust and vermin proof common control panel board consisting of I No. suitable capacity MCCB as incomer and 2 Nos of suitable capacity MCCB as incomer and 2 Nos of suitable capacity MCCB as are interlocking with each other) providing suitable size Aluminium bus bar inter connect the above MCCBs and fitted with 3 Nos of indicator lamps, 1 No. volt meter with selector switch, 1 No. Ammeter with selector switch etc. Complete and provided with a common earth bus for the entire panel and inter connect with the MCCBs as per CEA regulations 2010 and code of practice. The panel shall be fitted on a common base frame on suitable foundation. (Specification may be modified if there is only one)&ttbr>pump set by changing 2 Nos of out going as one out going and the provision of interlocking may be avoided)&ttbr>Supply, laying, testing and commissioning of suitable size XLPE cables for the above pump set from panel board to starter and from starter to motor. considering e ne f g y	above 100 HP FC to be used.) starter the above motor voltage and understeed in the protection, sin preventer, over with motor protection with main con bypass contactor regulations 2010 practice. Alt; br&s 4. Panel board (operating two puone pump stime) & lt; br&s erection, tess commissioning type floor mofabricated dust aproof common coboard consistin suitable capacity incomer and 2 Nocapacity MCCB at (the two MC interlocking with providing suitable capacity incomer and 2 nocapacity mainterlocking with providing suitable capacity incomer and 2 nocapacity mainterlocking with providing suitable capacity incomer and 2 nocapacity mainterlocking with providing suitable capacity incomer and 2 nocapacity mainterlocking with providing suitable capacity incomer with select nocapacity mainterlocking with providing suitable with earth bus for the and inter connecated with earth bus for the and inter connecated with earth bus for the and inter connecated mainter connecated maint	MA starters a suitable for a with over der voltage igle phase load relay ection relay tactor and as per CEA and code of e t c . gt;
 1="" 3="" a="" amon="" and="" are="" as="" at="" bar="" base="" be="" but="" by="" ccbs="" cea="" code="" common="" control="" ct="" cubical="" each="" entire="" ere="" for="" foundation.="" going="" gt;supply,="" ig="" in="" inel="" ing="" inplete="" interve="" is="" ith="" locking="" may="" mccb="" mccbs="" mp="" ms="" no.="" nos="" of="" only="" or="" other)="" out="" panel="" per="" selector="" set="" sets="" shall="" size="" sof="" suitable="" switch,="" t;br="" table="" the="" ting="" tump="" unted="" vermin="" volt="" with="">5. I n gt;Supply, ing and of suitable les for the from panel and from considering</br>>			DEMENT	words



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	all materials and providing suitable earthing by using suitable size pipe/plate earthing GI/copper strip buried in ground and giving double earthing to motor, starter, panel board etc. as per IE standards. 7. Capacitor Supply, erection, testing and commissioning of heavy duty APP capacitor for the motor to get a power factor above 0.95. The capacitor shall c on firm to IS 2834 Supply of suitable size best quality heavy duty ISI marked CI double flanged sluice valve and Non return valve with suitable pressure rating. Fitting of valves shall include proper RCC support especially for Non return valves. In case of positive suction pump set sluice valve should be in suction as well as delivery sides for easy repair works. 9. Suction and delivery sides for easy repair works. 9. Suction and fitting of suitable size best quality GI/MS pipe of thickness not less than 8mm for a total length of 10 m. suitable for the above pump set and suitable size foot valve and connecting the suction pipe and valve with suitable flanges, nut and bolts IR sheet etc. complete and connecting the delivery side of the pump with the valves and suitable specials to connect with the pumping main. If the dia of suction pipe is above 80 mm CI pipes & specials shall be provided. Also two year Warrantee and Supply of ELCB/RCCB to be added at panel for safety.		TFORM BLIC W			
30.002	OD269260/2022-2023 - Earthing with G.I. earth plate 600 mm X 600 mm X 6 mm thick including accessories, and providing masonry enclosure with	2.000	set	7900.00	15800.00	Rupees Fifteen Thousand Eight Hundred Zero Only
30.003	OD269543/2022-2023 - Earthing conductor of	2.000	set	6200.00	12400.00	Rupees Twelve Thousand Four



Sl No		No. or Qty.	Unit	Accepted Rate	TOTAL	TOTAL
51110	Description of work	No. of Qiy.	Omt	Accepted Rate	AMOUNT	AMOUNT in words
	3.15mm (dia) copper conductor 10 SWG					Hundred Zero Only
30.004	OD269728/2022-2023 - Submitting application to KSEBLfor power connection and power extension	1.000	L.S	3000.00	3000.00	Rupees Three Thousand Zero Zero Only
30.005	OD273213/2022-2023 - Supply, erection and commissioning of 5KVA Solar PV installation unit for the working of Pump house and allied works such as solar meter, net meter, DC-MCB, AC-MCB, DC wire, AC transmission cable, surge protection device, DC to AC converter, battery unit, panel boards, switches, transportation, earthing, lightning protection system as per IS/IEC 62305, local conectivity cost, civil works, insurance, capital cost for online monitoring, comprehensive maintenance period for 2 years & amp; connected accessories etc. complete		set	440000.00	E	Rupees Four Lakh Forty Zero Thousand Zero Zero Only
31	Supply, Erection, Testing and Booster Station to GLSR at I					at Putnukkudi
31.001	OD268761/2022-2023 - Supply erection, testing and commissioning of CF pumpset having a discharge of 2 lps for a head of 123 m from Puthukudi Booster station to Puthukudi. Supply and erection of CF pump set with the following specification< br> 1. Pump< br> Supply, erection, testing and commissioning of KWA prequalified reputed make Centrifugal pump sets with Bronze/SS impeller, SS shaft and CI pump casing with suitable type base plate with coupling, coupling guard foundation bolts & Damp and motor above the base plate etc. complete including providing suitable concrete foundation including cost of cement sand and metal etc. complete< br> The duty condition is a s follows< br> Total head -		no	360000.00	720000.00	Rupees Seven Lakh Twenty Thousand Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	mtrs Size of pumping main pipe - 100 mm DI, Length-600 m Speed-Less than 1500 rpm. 2. Motor Supply, erection, testing and commissioning of KWA pre qualified reputed make horizontal solid shaft foot mounted TEFC squirrel cage induction motor suitable for the above pump working 3 phase 50 Hz AC supply, working voltage 415 V/3300V (select the suitable). The motor shall confirm to IE2/IE3 as per IS 12615-2018 including providing suitable concrete foundation including cost of cement sand and metal etc. complete For 3300v motors digital motor protection relay shall be included in starter as per present CEA regulations 2010. Flexible coupling shall be used for coupling of pumps and motors. 3. Starter Supply, erection, testing and commissioning of suitable rating (Fully Automatic starter with air break contact for less than 100 HP and for above 100 HP FCMA starters to be used.) starter suitable for the above motor with over voltage and under voltage protection, single phase preventer, over load relay with motor protection relay with scontactor and bypass contactor as per CEA regulations 2010 and code of practic complete. 4. Panel board (suitable for operating two pump sets but one pump set at a time) Supply, erection, testing and commissioning of cubical type floor mounted MS fabricated dust and vermin proof common control panel board consisting of 1 No. suitable capacity MCCB as out going (the two MCCBs are		ATFORM ADDIC W		SCHENT	words



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	interlocking with each other) providing suitable size Aluminium bus bar inter connect the above MCCBs and fitted with 3 Nos of indicator lamps, 1 No. volt meter with selector switch, 1 No. Ammeter with selector switch etc. Complete and provided with a common earth bus for the entire panel and inter connect with the MCCBs as per CEA regulations 2010 and code of practice. The panel shall be fitted on a common base frame on suitable foundation. (Specification may be modified if there is only one) pump set by changing 2 Nos of out going as one out going and the provision of interlocking may be avoided) S. C a b l i n g work Supply, laying, testing and commissioning of suitable size XLPE cables for the above pump set from panel board to starter and from starter to motor. considering e n e r g y conservation. 6. Earthing Supply of all materials and providing suitable earthing by using suitable size pipe/plate earthing GI/copper strip buried in ground and giving double earthing to motor, starter, panel board etc. as per IE standards. Supply, erection, testing and commissioning of heavy duty APP capacitor for the motor to get a power factor above 0.95. The capacitor shall c on firm to IS 2 8 3 4 & l t; br & g t; 8. Valves Supply of suitable size best quality heavy duty ISI marked CI double flanged sluice valve and Non return valve with suitable pressure rating. Fitting of valves shall include proper RCC support especially for Non return valves. In case of positive				E	
	suction pump set sluice valve					



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	should be in suction as well as delivery sides for easy repair works. Lt;br>9. Suction and delivery pipe connections Lt;br>Supply and fitting of suitable size best quality GI/MS pipe of thickness not less than 8mm for a total length of 10 m. suitable for the above pump set and suitable size foot valve and connecting the suction pipe and valve with suitable flanges, nut and bolts IR sheet etc. complete and connecting the delivery side of the pump with the valves and suitable specials to connect with the pumping main. Lt;br>If the dia of suction pipe is above 80 mm CI pipes & mp; specials shall be provided. Lt;br>. Also two year Warrantee and Supply of ELCB/RCCB to be added at panel for safety.					
31.002	OD269265/2022-2023 - Earthing with G.I. earth plate 600 mm X 600 mm X 6 mm thick including accessories, and providing masonry enclosure with	2.000	set	7900.00	15800.00	Rupees Fifteen Thousand Eight Hundred Zero Only
31.003	OD269544/2022-2023 - Earthing conductor of 3.15 mm (dia) copper conductor 10 SWG	2.000	set	6200.00	12400.00	Rupees Twelve Thousand Four Hundred Zero Only
31.004	OD269729/2022-2023 - Submitting application to KSEBLfor power connection and power extension	1.000	L.S	3000.00	3000.00	Rupees Three Thousand Zero Zero Only
31.005	OD273212/2022-2023 - Supply, erection and commissioning of 5KVA Solar PV installation unit for the working of Pump house and allied works such as solar meter, net meter, DC-MCB, AC-MCB, DC wire, AC transmission cable, surge protection device, DC to AC converter, battery unit, panel boards, switches, transportation, earthing, lightning protection system as per IS/IEC 62305, local conectivity cost, civil works, insurance, capital cost for on line emonitoring, comprehensive maintenance period for 2 years & amp; connected	1.000	set	440000.00	440000.00	Rupees Four Lakh Forty Zero Thousand Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	accessories etc. complete					
32	Supply, Erection, Testing and to GLSR at Karshanad Boost				sets from GLSR	at Kovilkadavu
32.001	Supply erection, testing and commissioning of CF pumpset having a discharge of 10 lps for a head of 130m from Kovilkadavu to Karshanad booster 1. Supply and erection of CF pump set with the following specification< br> 1. Pump< br> Supply, erection, testing and commissioning of KWA prequalified reputed make Centrifugal pump sets with Bronze/SS impeller, SS shaft and CI pump casing with suitable type base plate with coupling, coupling guard foundation bolts & Damp; nuts etc. complete suitable for coupling the pump and motor above the base plate etc. complete including providing suitable concrete foundation including cost of cement sand and metallet concrete foundation including cost of cement sand and metallet concrete foundation including cost of cement sand and metallet for pumping main pipe - 150 mm DI, Length - 2328 m< br> Speed-Less than 1500 rpm. 2. Motor< br> Speed-Less than 1500 rpm. 2. Motor< br> Speed-Less than 1500 rpm. 2. Motor< br> Supply, erection, testing and commissioning of KWA prequalified reputed make horizontal solid shaft foot mounted TEFC squirrel cage induction motor suitable for the above pump working 3 phase 50 Hz AC supply, working voltage 415 V/3300V (select the suitable). The motor shall confirm to IE2/IE3 as per IS 12615-2018 including providing suitable concrete foundation including cost of cement sand and metal etc. complete For 3300v motors digital motor protection relay shall be included in starter as per CEA regulations 2010. Flexible	SPECIAL SERVICE SERVIC	no no		2136000.00	Rupees Twenty One Lakh Thirty Six Thousand Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
st for all to the vortex of th	oupling shall be used for oupling of pumps and notors. < br> 3. tarter< br> Supply, rection, testing and ommissioning of suitable ating (Fully Automatic tarter with air break contact or less than 100 HP and for bove 100 HP FCMA starters be used.) starter suitable for ne above motor with over oltage and under voltage rotection, single phase reventer, over load relay with motor protection relay with motor protection relay with main contactor and ypass contactor as per IE EA regulations 2010 and ode of practice etc. omplete. < br> < br> &l. Panel board (suitable for perating two pump sets but ne pump set at a time) < br> Supply, rection, testing and ommissioning of cubical ype floor mounted MS abricated dust and vermin roof common control panel oard consisting of 1 No. uitable capacity MCCB as not going the two MCCBs are therlocking with each other) roviding suitable size duminium bus bar interconnect the above MCCBs and fitted with 3 Nos of ndicator lamps, 1 No. volt not the entire panel nd interconnect with the MCCBs as per CEA egulations 2010 and code of ratted on a common base rame on suitable foundation. Specification may be hanging 2 Nos of out going and the rovided with a common base rame on suitable foundation. Specification may be hanging 2 Nos of out going so one out going and the rovision of interlocking may be avoided) < br> Supply, a blight of the string and the rovision of interlocking may be avoided) < br> Supply, and blight of the string and the rovision of interlocking may be avoided) < br> Supply, and testing and the rovision of interlocking may be avoided) < br> Supply, and testing and the rovision of interlocking may be avoided) < br> Supply, and testing and the rovision of interlocking may be avoided) < br> Supply, and testing and the rovision of interlocking may be avoided) < br> Supply, and testing and the rovision of interlocking may be avoided).		CTF-OFINA VIDLIC W			



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	commissioning of suitable size XLPE cables for the above pump set from panel board to starter and from starter to motor. considering e n e r g y conservation. 6. Earthing Supply of all materials and providing suitable earthing by using suitable size pipe/plate earthing GI/copper strip buried in ground and giving double earthing to motor, starter, panel board etc. as per IE standards. 7. Capacitor Supply, erection, testing and commissioning of heavy duty APP capacitor for the motor to get a power factor above 0.95. The capacitor shall c on firm to IS 2 8 3 4 & lt; br>Supply of suitable size best quality heavy duty ISI marked CI double flanged sluice valve and Non return valve with suitable pressure rating. Fitting of valves shall include proper RCC support especially for Non return valves. In case of positive suction pump set sluice valve should be in suction as well as delivery sides for easy repair works. Supply and fitting of suitable size best quality GI/MS pipe of thickness not less than 8mm for a total length of 10 m. suitable for the above pump set and suitable size foot valve and connecting the suction pipe and valve with suitable flanges, nut and bolts IR sheet etc. complete and connecting the suction pipe and valve with suitable flanges, nut and bolts IR sheet etc. complete and connect with the pumping main. If the dia of suction pipe is above 80 mm CI pipes & specials shall be provided. Also two year Warrantee and Supply of ELCB/RCCB to be added at panel for safety.		THORM W		E SEMENT	



Sl No		No. or Qty.	Unit	Accepted Rate	TOTAL	TOTAL
51140	Description of work	No. of Qiy.	Omt	Accepted Rate	AMOUNT	AMOUNT in words
32.002	OD269269/2022-2023 - Earthing with G.I. earth plate 600 mm X 600 mm X 6 mm thick including accessories, and providing masonry enclosure with	2.000	set	7900.00	15800.00	Rupees Fifteen Thousand Eight Hundred Zero Only
32.003	OD269519/2022-2023 - Earthing conductor of 4.75mm (dia) copper conductor 6 SWG	2.000	set	7500.00	15000.00	Rupees Fifteen Thousand Zero Zero Only
32.004	OD269730/2022-2023 - Submitting application to KSEBLfor power connection and power extension	1.000	L.S	3000.00	3000.00	Rupees Three Thousand Zero Zero Only
33	Supply, Erection, Testing an Booster 1 to GLSR at Karsha					at Karshanad
33.001	OD268740/2022-2023 - Supply erection, testing and commissioning of CF pumpset having a discharge of 3 lps for a head of 122 m from Karshanad Booster 1 to Karshanad booster 2 Booster. Supply and erection of CF pump set with the following specification l. Pump Supply, erection, testing and commissioning of KWA prequalified reputed make Centrifugal pump sets with Bronze/SS impeller, SS shaft and CI pump casing with suitable type base plate with coupling, coupling guard foundation bolts & Damp and motor above the base plate etc. complete including providing suitable concrete foundation including cost of cement sand and metal etc. complete The duty condition in a safollows The duty condition in a safollows Total head 1 2 2 2 mtrs Size of pumping main pipe - 100 mm DI, Length-1185 m Speed-Less than 1500 rpm. 2. Motor Supply, erection, testing and commissioning of KWA prequalified reputed make horizontal solid shaft foot mounted TEFC squirrel cage induction motor suitable for	2.000	no	517000.00	1034000.00	Rupees Ten Lakh Thirty Four Thousand Zero Zero Only



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	the above pump working 3 phase 50 Hz AC supply, working voltage 415 V/3300V (select the suitable). The motor shall confirm to IE2/IE3 as per IS12615-2018 including providing suitable concrete foundation including cost of cement sand and metal etc. complete For 3300v motors digital motor protection relay shall be included in starter as per CEA regulations 2010. Flexible coupling shall be used for coupling of pumps and motors. & It; br & gt; 3. Starter&It br> Supply, erection, testing and commissioning of suitable rating (Fully Automatic starter with air break contact for less than 100 HP and for above 100 HP FCMA starters to be used.) starter suitable for the above motor with over voltage and under voltage protection, single phase preventer, over load relay with motor protection relay with motor protection relay with main contactor and bypass contactor as per CEA regulations 2010 and code of practice. & It; br> & It; br> 4. Panel board (suitable for operating two pump sets but one pump set at a time) & It; br> & It; br> 4. Panel board (suitable for operating two pump sets but one pump set at a time) & It; br> Supply, erection, testing and commissioning of cubical type floor mounted MS fabricated dust and vermin proof common control panel board consisting of 1 No. suitable capacity MCCB as out going (the two MCCBs are interlocking with each other) providing suitable size Aluminium bus bar inter connect the above MCCBs and fitted with 3 Nos of indicator lamps, 1 No. volt meter with selector switch, 1 No. Ammeter with selector switch etc. Complete and provided with a common earth bus for the entire panel and inter connect with the MCCBs as per CEA	C PLA			E DENIENT	words



regulations 2010 and code of practice. The panel shall be fitted on a common base frame on suitable foundation. (Specification may be	No. or Qty. Unit Accepted Rate TOTAL AMOUNT in words	Unit	No. or Qty.	Description of work	Sl No
one)&Itjnwgttpump set by changing 2 Nos of out going as one out going and the provision of interlocking may be avoided)&Itjn>5. C a b l n g work&Itjn>5. C a b l n g work&Itjn>6. Earling&Itjn>6. Earling&Itjn>6. Earling&Itjn>6. Earling&Itjn>6. Earling&Itjn>6. Earling&Itjn>6. Earling&Itjn>6. Earling&Itjn>6. Earling&Itjn>7. Capacitor&Itjn>5. Capacitor&Itjn>5. Capacitor&Itjn>5. Capacitor&Itjn>5. Capacitor&Itjn>5. Capacitor&Itjn>5. Capacitor shall c on firm to I S 2 3 4 & Itjn & gt; 8. Valves&Itjn>5. Valves&Itjn>	of be isse son. be captured by the captured by			practice. The panel shall be fitted on a common base frame on suitable foundation. (Specification may be modified if there is only one) pump set by changing 2 Nos of out going as one out going and the provision of interlocking may be avoided) 5. C a b l i n g work Supply, laying, testing and commissioning of suitable size XLPE cables for the above pump set from panel board to starter and from starter to motor. considering e n e r g y conservation. 6. Earthing Supply of all materials and providing suitable earthing by using suitable size pipe/plate earthing GI/copper strip buried in ground and giving double earthing to motor, starter, panel board etc. as per IE standards. 7. Capacitor Supply, erection, testing and commissioning of heavy duty APP capacitor for the motor to get a power factor above 0.95. The capacitor shall c on firm to IS 2 8 3 4 & lt; br>Supply of suitable size best quality heavy duty ISI marked CI double flanged sluice valve and Non return valve with suitable pressure rating. Fitting of valves shall include proper RCC support especially for Non return valves. In case of positive suction pump set sluice valve should be in suction as well as delivery sides for easy repair works. Supply and fitting of suitable size best quality GI/MS pipe of thickness not less than 8mm for a total length of 10 m. suitable for the above pump	



CLNo		No. on Otra	T1:4	Assembled Date	тоты	тоты
Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	suitable flanges, nut and bolts IR sheet etc. complete and connecting the delivery side of the pump with the valves and suitable specials to connect with the pumping main. If the dia of suction pipe is above 80 mm CI pipes & Decials shall be provided. .Also two year Warrantee and Supply of ELCB/RCCB to be added at panel for safety.					
33.002	OD269275/2022-2023 - Earthing with G.I. earth plate 600 mm X 600 mm X 6 mm thick including accessories, and providing masonry enclosure with	2.000	set	7900.00	15800.00	Rupees Fifteen Thousand Eight Hundred Zero Only
33.003	OD269545/2022-2023 - Earthing conductor of 3.15 mm (dia) copper conductor 10 SWG	2.000	set	6250.00	12500.00	Rupees Twelve Thousand Five Hundred Zero Only
33.004	OD269735/2022-2023 - Submitting application to KSEBLfor power connection and power extension	1.000	L.S	3000.00	3000.00	Rupees Three Thousand Zero Zero Only
34	Supply, Erection, Testing and Booster 2 to GLSR at Theert				sets from GLSR	at Karshanad
34.001	OD268732/2022-2023 - Supply erection, testing and commissioning of CF pumpset having a discharge of 3 lps for a head of 140 m from Karshanad Booster 2 to Theerthamala. Supply and erection of CF pump set with the following specification 1. Pump Supply, erection, testing and commissioning of KWA prequalified reputed make Centrifugal pump sets with Bronze/SS impeller, SS shaft and CI pump casing with suitable type base plate with coupling, coupling guard foundation bolts & Damp; nuts etc. complete suitable for coupling the pump and motor above the base plate etc. complete including providing suitable concrete foundation including cost of cement sand and metal etc. complete The duty condition is a s follows Discharge-		no	517000.00	1034000.00	Rupees Ten Lakh Thirty Four Thousand Zero Zero Only



Sl No Description of wor	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
complete. < ;4. Panel board (suitab operating two pump se	ot;Size - 100 - 874 s than 2 . pply, and A pre make foot l cage le for ing 3 pply, 415 table). rm to -2018 itable uding metal 300v totor ll be CEA exible d for and gt;3. pply, and itable matic ontact nd for carters ole for over oltage ohase relay	TFORM WILLIAM		DEMENT	words



<u> </u>	OTAL OUNT in ords
(the two MCCBs are interlocking with each other) providing suitable size Aluminium bus bar inter connect the above MCCBs and fitted with 3 Nos of indicator lamps, 1 No. volt meter with selector switch, 1 No. Ammeter with selector switch, 1 No. Ammeter with selector switch etc. Complete and provided with a common earth bus for the entire panel and inter connect with the MCCBs as per CEA regulations 2010 and code of practice. The panel shall be fitted on a common base frame on suitable foundation. (Specification may be modified if there is only one)&Itsbr>pump set by changing 2 Nos of out going as one out going and the provision of interlocking may be avoided)&Itbr>Supply, laying, testing and commissioning of suitable size XLPE cables for the above pump set from panel board to starter and from starter to motor, considering c n c c c c c c c c c c c c c c c c c	ords



Sl No	Description of work	No. or Qty.	Unit	Accepted Rate	TOTAL AMOUNT	TOTAL AMOUNT in words
	suction pump set sluice valve should be in suction as well as delivery sides for easy repair works. Lt;br>9. Suction and delivery pipe connections Lt;br>Supply and fitting of suitable size best quality GI/MS pipe of thickness not less than 8mm for a total length of 10 m. suitable for the above pump set and suitable size foot valve and connecting the suction pipe and valve with suitable flanges, nut and bolts IR sheet etc. complete and connecting the delivery side of the pump with the valves and suitable specials to connect with the pumping main. Lt;br>If the dia of suction pipe is above 80 mm CI pipes & mp; specials shall be provided. Lt;br>. Also two year Warrantee and Supply of ELCB/RCCB to be added at panel for safety.					
34.002	OD269277/2022-2023 - Earthing with G.I. earth plate 600 mm X 600 mm X 6 mm thick including accessories, and providing masonry enclosure with	2.000	set	8000.00	16000.00	Rupees Sixteen Thousand Zero Zero Only
34.003	OD269548/2022-2023 - Earthing conductor of 3.15 mm (dia) copper conductor 10 SWG	2.000	set	6100.00	12200.00	Rupees Twelve Thousand Two Hundred Zero Only
34.004	OD269737/2022-2023 - Submitting application to KSEBLfor power connection and power extension	1.000	L.S	3000.00	3000.00	Rupees Three Thousand Zero Zero Only

The above work awarded to the contractor A.DOMINIC,ABWPA8383R, at his quoted rate for individual items at a total accepted PAC 374357413(Thirty Seven Crore Forty Three Lakh Fifty Seven Thousand Four Hundred and Thirteen Only) as per the condition of the contract.

